

Response 5.1.1.1

Average percentage of students benefited by scholarships and freeships provided by the Government during last five years

Sr. No	PARTICULARS	Years	PAGE No
1	Introduction		
2	Post Matric Scholarship for Welfare of Backward Classes	2014-2018	1-27
3	Stipend Scheme for the Welfare of Grand Children of	2014-2018	28-30
	Freedom Fighters.		
4	Haryana State Meritorious Incentive Scheme	2014-2018	31-32
5	A Scheme Introduced by the Haryana Govt. for Merit	2014-2018	33-39
	Scholarship to Under Graduate Girl Students		
6	Earn While You Learn Scheme	2014-2018	40-52
7	Consolidated Stipend Scheme for the welfare of Scheduled	2014-2018	53-108
	Caste Students pursuing Higher Education in Govt. Colleges		
	of Haryana and Providing Books to SC Students of Govt.		
	Colleges (@ Rs. 2000 per student)		

7 C Principal

Ch. Binincipalovernment College for Women, Tosham



Ref. No.

Dated

Cerificate

Response 5.1.1.1

It is certified that information about average percentage of students benefited by scholarships and free ships provided by the Government during last Five Years is attached herewith.

It is further submitted that the information is compiled as provided by the teacher concerned and is true to best of knowledge.

Year	2014-15	2015-16	2016-17	2017-18	2018-19
No. of Students	568	514	530	484	466

y C

Principal Ch. Binincipal College for Women, Tosham

Ch. Bansi Lal Government College for Women, Tosham

Detail list of the students awarded scholarship under the Scheme

"Post Matric Scholarship for BC Category" 2014-15 to 2018-19

Sr.	Name of	Cale	enne ioi	BUIG	or the	year 2	2014-15			
No.	Student	Catoga ry	Sub Catogary	Class	Renewa	Annual	Falher Name in	Account_Number		
	÷.		(Sc/ST/BC		l/ Fresh	Income	English		Academic	Total
		/BC/mi	/minority)		Student				Year	Amour
		nority)			5					t of Schola
10	Urmila	BC-B	Gujjar	D.A.L.C	-					rship
14.5		00.0	oujjar	B.A.Ist	Fresh	50000	Subhash	65205603038		L 8
2	Monika	BC-B	Salni	B.A.Ist	French	1000	Chander	03103003038	2014-15	2100
3	Pooja	BC-B	Saini	B.A.Ist	Fresh	48000	ChanduRam	65203963435	2014.45	-
4	Monika	BC-A	Maniyar	B.A.Ist	Fresh Fresh	36000	Harisingh	65153206550	2014-15	2100
5	Rajesh kumari	BC-B	ahir	B.A.Ist	Fresh	48000	Ranbir Singh	1096001500105000	2014-15 2014-15	
		10.020.20			riesh	36000	Ombir singh	82941500000231	2014-15	
6	Babita rani	BC-B	ahir	B.A.Ist	Fresh				2014-15	2100
7	Sunita rani	BC-A	kumhar	B.A.Ist	Fresh	30000	Rajesh kumar	82941500000240	2014-15	-
8	Minakshi	BC-A	khatl	B.A.Ist	Fresh	45000	Suresh kumar	65204198020	2014-15	2100
9	Pareeti	BC-A	kumhar	B.A.Ist		85000	Ramavtar	65203799713	2014-15	
10	Suman	BC-A	chippi	B.A.Ist	Fresh	30000	Omparkesh	65201204902		
11	Sharda	BC-B	ahir	B.A.Ist	Fresh	48000	Ramchander	65205591429	2014-15 2014-15	
12	Monika	BC-A	khati	B.A.Ist	Fresh	25000	Puran singh	65204960591		-
			11-11 (H = 25	w.m.15(Fresh	50000	Rajender singh	65206357546	2014-15	
13	Bhateri	BC-A	Khati	B.A.Ist			5.54 1.775		2014-15	2100
14	Rekha	BC-A	chippi	B.A.Ist	Fresh	45000	Chottu Ram	65210114121	1000	-
15	Jyoti	BC-A	Kumhar		Fresh	40000	Rajbir	65210274673	2014-15	
16	Sunita rani	BC-A	kumhar	B.A.Ist	Fresh	40000	BansiLal	55149828663	2014-15	
17	Anju Rani	BC-A	kumhar	B.A.Ist	Fresh	36000	Partap Singh	65204159761	2014-15	
18	Kavita	BC-A	Khati	B.A.Ist	Fresh	72000	Sajjan Kumar	65201406997	2014-15	
19	Ritu	BC-A		B.A.Ist	Fresh	30000	Jangvir Singh	81471700035555	2014-15	
20	Babita	BC-A	khati	B.A.Ist	Fresh	70000	Sultan	81471700035808	2014-15	
21	Babita	BC-A	khati	B.A.Ist	Fresh	40000	Rukesh	81471700035817	2014-15	2100
22	Parmila		chippi	B.A.Ist	Fresh	36000	Ramkumar	65148988500	2014-15	
23	Pooja Devi	BC-A	kumhar	B.A.Ist	Fresh	75000	Chanderpal	65205534460	2014-15	2100
24	Jaishri	BC-A	chippi	B.A.Ist	Fresh	30000	Roshan Lal	65200141430	2014-15	2100
25	Rajshri	BC-A	khati	B.A.Ist	Fresh	40000	Suresh kumar	65205535088	2014-15	
26	Sharmila	BC-A	khati	B.A.Ist	Fresh	40000	Suresh kumar	65200444117	2014-15	2100
	Juannia	BC-A	kumhar	B.A.Ist	Fresh	80000	Mahender	65200424021	2014-15	
27	Monika	-				(1)=1855(#))	Singh	65203951599	2014-15	2100
	INIONIKa	BC-A	kumhar	B.A.Ist	Fresh	80000	Mahender			
70	D: 11						Singh	65203950404	2014-15	2100
28	Pinki	BC-A	khati	B.A.Ist	Fresh	80000	Jaiblr Singh	(Francesco)		
29	Mamta	BC-B	Saini	B.A.Ist	Fresh		Ransingh	65203806507	2014-15	
30	Kavita	BC-A	khati	B.A.Ist	Fresh		balbir singh	80210100109785	2014-15	
31	Priyanka	BC-A	khati	B.A.Ist	Fresh		Urmila Devi	65203803776	2014-15	
32	Pooja	BC-A	Khati	B.A.Ist			Satya Narayan	65156459543	2014-15	-
33	Sunita rani	BC-A	kumhar	B.A.Ist				65205542187	2014-15	
34	Sunila Devi	BC-A		B.A.Ist				65201088677	2014-15	2100
				5-4510-00707		40000	Shamsher Singh	65200990369	2014-15	2100
35	Pooja	BC-A	khati	B.A.Ist	Fresh	50000	Mansingh	CF202644		
36	Darshana	BC-A		B.A.Ist	1.05607		Rajender singh	65203953267	2014-15	2100
	-			- 2000 ACO		10000	molender singh	65204920569	2014-15	2100
37	Teenu Rani	BC-B	Gujjar	B.A.Ist	Fresh	50000	Madan Lal	65304333		
38	Jyoti Rani	BC-A		B.A.Ist			A REAL PROPERTY OF A REAL PROPERTY OF	65204229764	2014-15	2100
39		BC-A		B.A.Ist				65201311721	2014-15	
40				B.A.Ist				65204210367	2014-15	-
41		BC-A		B.A.Ist				65204196758 65203928457	2014-15	-
42		BC-A	and the second se	B.A.Ist				65203928457	2014-15 2014-15	-
43	Urmila	BC-A	Nai	B.A.Ist	Frest	40000	Balwan Singh	65209432704	2014-15	
44	ne n	BC-A		B.A.Ist			the second of the second second second	55149828890	2014-15	
45	and the second second second			B.A.Ist				65204209623	2014-15	
46		BC-A		B.A.Ist				65204196124	2014-15	-
47				B.A.Ist				65205800285	2014-15	-
	Lalita	BC-B		B.A.Ist				65204428920	2014-15	

		BC-B	Saini	B.A.Ist	Fres	h 900	00 Rajender	singh 6520202			1	
49	Sangeeta			0.4.1-1	Fres	h 360	00 Roshan	singh 652039336	69			
-	Sukhmati	BC-B	Saini	B.A.Ist	-		00 Maheno	652070-	~ ~ ~	14-15		NIN
50		BC-A	kumhar	B.A.Ist	, rics		Singh	fer 652037978	17 70	2	20 (2) 25	Manju Nisha P
51	Manju Ranl	1000000000				h 600			41 20	4.15	1 (96	Nisha.
_		BC-A	kumhar	B.A.Ist	Fres	1 000	najendel 3	ingh 652038044	- "	14-15	31	97 Norna
52	Sunita				-				19 20	111	25 /25	198
		BC-B	ahir	B.A.Ist	Fres	h 350	00 Rajpal	8294150000	- I''	14-15	Del	193
53	Pooja Kumari	80-0							0143 20	010		1:00
			Lohar	B.A.Ist	Fres	h 4000	00 Prem Kun	nar 65204475		014-15	2157	3 13 13 13 13 13 3 13 13 13 13 13
54	Renu Kumari	BC-A		B.A.Ist		h 6000	00 Dayanan	nar 652041354			- 415.1	(10
55	Kusum Rani	BC-A	kumhar	B.A.Ist	-	1 107-5 MG	00 Bhim Sai	d 652039696	52 20	014-15	18	1
56	Rekha Devi	BC-A	kumhar					032039377	66 20	014-15	2100	
57	Jyoti Rani	BC-A	kumhar	B.A.Ist	Fres			072041955	63 20	014-15	218	
58	Pooja Rani	BC-A	Maniyar	B,A.Ist		_		051616408	g c	014-15		
59	Sonam	BC-A	Nai	B.A.İst	Fresh			652090400	12	014-15		
60	Geeta Devi	BC-A	kumhar	B.A.Ist	Fresh	8000	0 Surender Si	ngh 652039556		014-15	1 2	
00	decito Serie					_	_		1.	014-15	2100	
61	Marnta	BC-A	Sunar	B.A.Ist	Fresh	8000			21 2		- C	
61	Pooja Rani	BC-A	Kumhar	B.A.Ist	Fresh	7200	0 Roshan La	6520835414		014-15	2100	- 1
62	Pooja Kam	BC-A	Kumhar	B.A.Ist	Fresh	4800	0 Balwan Sin	gh 6520496156		14-15	7100	
63		BC-A	Nal	B.A.Ist	Fresh	4000	and the second sec			14-15	2100	
64	Geeta	DC-M	1,454	1.0000000000000000000000000000000000000	1.000000000	a a concerna			20	14-15	2100	
Cr.	Nirmala Devi	BC-A	Teli	B.A.Ist	Fresh	40000	0 Leela	6520359319			1	
65	Nirmala Devi	DL-A	160	Dirtitist	11. States	1 1 959000	Mohamma	d	9 20	14-15	2100	
	Nirmal	BC-A	Ral Sikh	B.A.Ist	Fresh	48000			_		2.00	
66	ivirmai	DC-A	Natoinit	Dimitat	11030	10000	Seguraci Sing	6521144661.	2 20:	14-15	2100	1
67	Desis Desi	DC A	Nai	D A let	Frank	40000) Chandan					
67 68	Pooja Rani	BC-A	1411-511-	B.A.Ist	Fresh	40000	- p ii Caratana - Pasta	65204920092		14-15	2100	1
	Saroj	BC-A	Kumhar	B.A.Ist	Fresh	_				4-15	2100	1
69	Suman Rani	BC-A	Khati	B.A.Ist	Fresh	36000		65210112419	201	4-15	2100	1
70	Manju	BC-B	Gujjar	B.A.Ist	Fresh	45000		65157376426		4-15	2100	
71		BC-A	Swami	B.A.Ist	Fresh	36000	0	65210114799	201	4-15	2100	ł
73		BC-A	Nal	B.A.Ist	Fresh	50000	and the second s	65204964948	2014	4-15	2100	Í.
74		BC-A	khati	B.A.Ist	Fresh	30000	0	and the second s	2014	4-15	2100	
75	e e contra	BC-B BC-A	Saini Rai Sikh	B.A.Ist	Fresh	20000		65205603549	2014	4-15	2100	
76		BC-A	CLOSE ATTACK	B.A.Ist	Fresh	36000		65210004208	2014	-15	2100	Ê
77		BC-A	Ral Sikh	B.A.Ist	Fresh	60000	Contraction and the second	65210005723	2014	-15	2100	
78		BC-A	kumhar Saini	B.A.Ist	Fresh	36000		65215736873	2014	-15	2100	
			36111	B.A.Ist	Fresh	40000	Rampher Singl	3905371386	2014	-15	2100	
79	Sarita	BC-A	Khati	B.Com I								
80	Bimla	BC-B	Ahir	B.Com I	Fresh	40000	Ghanshyam	678600150000069	0 2014	-15	2100	
			and the second	DICOHII	Fresh	80000	Dharmvir Singh	55149828652	2014-	-15	2100	
81	Pritma	BC-A	logi	B.Com I	Frach	20000						
82	Pushpa	BC-B	Ahir		Fresh	36000	Rajbir Singh	65204536071	2014-	15	2100	
83	Poonam Rani	Lises cont		B.Com I	Fresh	35000	Rajpal Yadav	65204162344	2014-	15	2100	
		BC-A	Beragi	B.Com I	Fresh	40000	Rajkumar					
84	Kumari Mamta	BC-B	Gujjar	B.Com I	Fresh	95000		65204441191	2014-	15 2	2100	
_(F))		BC-A	Jogi	B.Com I	10 - 10 - 10 - 10 - 10 - 10 - 10 - 10 -		Rajkumar	33940153033	2014-1	15 7	2100	
85	Priyanka	DC-A		- Com	Fresh	40000	Bhim Singh	65207121836	2014-1	15 7	2100	
_iein	Priyanka Rekha			1	1000							
85 86	Rekha	BC-A	Khati	B.Com I	Fresh	48000	Omparkash		i por serve		100	
85 86 87	Rekha Pinki	BC-A BC-A		1			Omparkash	65200538833	2014-1	5 2	100	
85 86	Rekha	BC-A	Khati	B.Com I B.Com I	Fresh	48000	Mahabir		i por serve	_	100	
85 86 87	Rekha Pinki	BC-A BC-A	Khati Kumhar Jheemer	B.Com I B.Com I B.Com I	Fresh Fresh	48000 50000	and the state of the	65200538833	2014-1 2014-1	5 2		
85 86 87 88	Rekha Pinki Rekha Rani Monika	BC-A BC-A BC-A BC-B	Khati Kumhar Jheemer Ahir	B.Com I B.Com I B.Com I B.Com I	Fresh Fresh Fresh	48000	Mahabir Satpal Singh	65200538833 3199655324 1096001500091330	2014-1 2014-1 2014-1	5 2 5 2	100 100	
85 86 87 88 89 90	Rekha Pinki Rekha Rani Monika Santosh	BC-A BC-A BC-A BC-B BC-B	Khati Kumhar Jheemer Ahir Ahir	B.Com I B.Com I B.Com I	Fresh Fresh	48000 50000 65000	Mahabir Satpal Singh Ramkumar	65200538833 3199655324 1096001500091330 65204120937	2014-1 2014-1 2014-1 2014-1	5 2 5 2 5 2	100 100 100	
85 86 87 88 89 90 91	Rekha Pinkl Rekha Rani Monika Santosh Asmita Ranj	BC-A BC-A BC-A BC-B	Khati Kumhar Jheemer Ahir	B.Com I B.Com I B.Com I B.Com I	Fresh Fresh Fresh	48000 50000 65000 96000	Mahabir Satpal Singh Ramkumar Chanderhass	65200538833 3199655324 1096001500091330	2014-1 2014-1 2014-1	5 2 5 2 5 2	100 100	
85 86 87 88 89 90 91 92	Rekha Pinki Rekha Rani Monika Santosh Asmita Rani Asha Rani	BC-A BC-A BC-A BC-B BC-B	Khati Kumhar Jheemer Ahir Ahir	B.Com I B.Com I B.Com I B.Com I B.Com I	Fresh Fresh Fresh Fresh Fresh	48000 50000 65000 96000 50000	Mahabir Satpal Singh Ramkumar	65200538833 3199655324 1096001500091330 65204120937	2014-1 2014-1 2014-1 2014-1 2014-1	5 2 5 2 5 2 5 21 5 21	100 100 100	
85 86 87 88 89 90 91 92 93	Rekha Pinkl Rekha Rani Monika Santosh Asmita Rani Asha Rani Meena	BC-A BC-A BC-A BC-B BC-B BC-A	Khati Kumhar Jheemer Ahir Ahir Nal	B.Com I B.Com I B.Com I B.Com I B.Com I B.Com I B.A.II	Fresh Fresh Fresh Fresh Fresh Renewal	48000 50000 65000 96000 50000 100000	Mahabir Satpal Singh Ramkumar Chanderhass	65200538833 3199655324 1096001500091330 65204120937 65204159104 65208836650	2014-1 2014-1 2014-1 2014-1 2014-1 2014-1 2014-1	5 2 5 2 5 2 5 21 5 21 5 21	100 100 100 100	
85 86 87 88 89 90 91 92 93 94	Rekha Pinki Rekha Rani Monika Santosh Asmita Rani Asha Rani	BC-A BC-A BC-A BC-B BC-B BC-A BC-A	Khati Kumhar Jheemer Ahir Ahir Nai Swami Nai	B.Com I B.Com I B.Com I B.Com I B.Com I B.Com I B.A.II B.A.II	Fresh Fresh Fresh Fresh Fresh Renewal Renewal	48000 50000 65000 96000 50000 100000 100000	Mahabir Satpal Singh Ramkumar Chanderhass Sanjay Kumar	65200538833 3199655324 1096001500091330 65204120937 65204159104 65208836650 55149829258	2014-1 2014-1 2014-1 2014-1 2014-1 2014-1 2014-15	15 2 5 2 5 2 5 2 5 2 1 5 2 1 5 2 1 5 2 1 5 2 5 2 1	100 100 100 100 100 100	
85 86 87 88 89 90 91 92 93	Rekha Pinkl Rekha Rani Monika Santosh Asmita Rani Asha Rani Meena	BC-A BC-A BC-A BC-B BC-B BC-A BC-A BC-A	Khati Kumhar Jheemer Ahlr Ahlr Nal Swami	8.Com I 8.Com I 8.Com I 8.Com I 8.Com I 8.Com I 8.A.II 8.A.II 8.A.II	Fresh Fresh Fresh Fresh Fresh Renewal	48000 50000 65000 96000 50000 100000	Mahabir Satpal Singh Ramkumar Chanderhass Sanjay Kumar Satyaveer	65200538833 3199655324 1096001500091330 65204120937 65204159104 65208836650	2014-1 2014-1 2014-1 2014-1 2014-1 2014-1 2014-1	15 2 5 2 5 2 5 2 5 2 1 5 2 1 5 2 1 5 2 5 2 5 2 5 2 5 2 5 2 5 2 5 2 5 2 5 2	100 100 100 100 20 20	

96	Manju	BC-A	Sunar	B.A.II	Renewal	24000	Rambilash	65174815445	2014-15	252	0
97	Nisha Ranl	BC-B	ahir		Renewal	40000	Deen Dyal	65174814361	2014-15	252	
98	Navin Rani	Bc-A	Lohar		Renewal	45000	Shamsher Singh		2014-15	252	
99	Manju	BC-A	Nal		Renewal	40000	Ravinder Singh	65174721146	2014-15	25	<u></u>
00	Soma Devi	BC-B	Ahir	8.A.II	Renewal	65000	Ishwar Singh	65210003805	2014-15	25	
01	Nitu	BC-A	Kumhar	B.A.II	Renewal	60000	Jagdish	55149829666	2014-15	25	20
102	Manju Rani	BC-A	Kumhar	B.A.II	Renewal	48000	Madan Lal	65174207287	2014-15	25	20
103	Jyoti	BC-B	Saini	B.A.II	Renewal	36000	Harisingh	65153206414	2014-15	-	520
104	Sunita	BC-A	chippi	B.A.II	Renewa	Concerning and the second s	Ramesh Kuma		2014-1	5 2	520
105	Pooja	BC-A	chippi	B.A.II	Renewa				2014-1	5 2	520
80 A.Sea	Sudesh Verma	BC-A	Kumhar	B.A.II	Renewa	Contractor Contractor		65176030225	2014-1	5 2	520
107	Usha	BC-B	Saini	B.A.II	Renewa			65174814407	2014-1	5 2	2520
108	JaiWanti	BC-A	Kumhar	B.A.II	Renewa		and the second sec	65174777315	2014-1		2520
109	Komal	BC-B	Gujjar	B.A.II	Renewa		NAVET CRAMES OF	TRACTOR STATE	2014-		2520
110	Manesh	BC-B	Kumhar	B.A.II	Renewa	the second second		65176025487	2014-		2520
1000	1 1703-01 111-0211	100220302	1_309645039647	5-A (0710 IA	0.0000000000000000000000000000000000000	n i le zantez	en anna an	65176427993			2520
111	Anita	BC-A	Kumhar	B.A.II	Renewa	an ibananga		65199920845		-	2520
112	Jyoti	BC-A	Nai	B.A.II	Renew	AL DOCTOR	-rectaria and a second second				2520
113	Renu	BC-A	Beragi	B.A.II	Renew	COL CREASE	Ser in the second of the second				
114	Sarla	BC-A	Nai	B.A.II	Renew		Contraction of the second s	55149823993			252
115	Babita	BC-A	Kumhar	B.A.II	Renew	1					252
116	Monika	BC-B	Saini	B.A.II	Renew	and the second se	Care of the second s	and a second contraction		-	252
117	Kelawati	BC-B	Saini	B.A.11	Renew	al 240	00 Mahabir Sir	ngh 6517556256	9 2014	-15	252
118	Poonam Devi	BC-A	Nal	B.A.II	Renew	ral 200	00 Krishan Kur	nar 6517498907	9 2014	-15	252
119	Rinku Bala	BC-A	Khati	B.A.II	Renev	/al 250	00 Ombir	6517498603	4 2014	-15	252
120	Sharmila	BC-A	Khati	B.A.II	Renev	val 950	00 Prithvi Sin	gh 6506793982	4 2014	-15	252
121	Joginder	BC-A	kumhar	B.A.11	Renev	val 300	00 Lilu ram	6517493530	7 2014	1-15	252
122	Yoginder	BC-A	kumhar	B.A.II	Renev	val 300	00 Lilu ram	6517548972	4 2014	-15	252
123	Krishna Devi	BC-A	Sunar	B.A.11	10000000	1.1		oni 5514982455	6 2014	1-15	252
124	Reena Devi	BC-A	Sunar	B.A.II	0.000000000						252
	102630042 20050	C. C	1 0000000	2052620	20674253	17962	Contra Co	terrorum in the second structure of		0.330	252
125	Komal	BC-B	ahir	B.A.II	1	The Property of Construction	Contraction of the second seco	Get The second second	A. 1022-04	1.53mil.	1000
126		BC-B	ahir	B.A.II	1000 (1997)	NEO 15. 123-24	CADACOMOLATING CONTRACTOR	TANK CHERNELSON STREET			252
127		BC-A	1	B.A.I				the second	201 - Distance - A	- 11. 4	252
128	Pinki Devi	BC-B	ahir	B.A.I	Rene					-21-11-11-1	252
129	Karmvati	BC-A	khati	B.A.I	I Rene			ngh 5514982709	Contraction of the second	sectores.	252
130) Sharmila	BC-A	khati	B.A.I	I Rene	wal 40	000 Balwan Si	ngh 6517488842	5 2014	4-15	25
131	Rekha	BC-A	Khati	B.A.I	I Rene	wal 30	000 Jagvir Sin	gh 6517602986	6 2014	4-15	25
132	2 Suman	BC-A	kumhar	B.A.I	I Rene	wal 36	000 Subhas	h 5514982482	8 201	4-15	25
133	the second	Bc-B	Saini	B.A.I		11 5-25-	000 Chabeel I	Das 6517640108	8 201	4-15	25
134		BC-A	· · · · · · · · · · · · · · · · · · ·	B.A.	I Rene	wal 36	000 Ramniw	as 6517548774	9 201	4-15	25
13	and the second se	BC-A	erandalardugi zogu	B.A.I	(1) <u>1998</u> 23772	1200 2200	000 Rames	h 6517477500	201	4-15	25
-		BC-4		-		COMPLETING AND	000 Chater Si			4-15	25
13	-	BC-4		B.A.	10 (19-8) W		000 Satya Pari	•		4-15	25
13				B.A.	an	(1) 2 A - 1	000 Satbir sin	AND CO. REPORT OF STREET	28/1 A.X	4-15	25
13		1000				and the second second	000 Sunder S	Meson New Sydden (1997) -	1000	4-15	25
13	the second state of the second s			B.A.			CARLEN IN STREET, STRE		1040	4-15	25
14	0 Laxmi	BC-/		B.A.	13.1		000 Dharm		Sec. 1 (1995) 199	11111	1.535.54
14	1 Pooja Rani	BC-	A kumha				000 Ompark	and the second s		4-15	25
14	2 Pinki Rani	BC-	B Gujjar	B.A.			000 Bhajan S	the second second second		4-15	25
14	3 Meenu	BC-	B Saini	B.A.	II Ren	ewal 45	000 Baljee			4-15	25
14		BC-	B ahir	B.A.	II Ren	ewal 40	0000 Dharam			4-15	25
	15 Sharmila	BC-	and the second second	B.A	.II Ren	ewal 30	0000 Chander	Pal 551498248		4-15	25
-			A CONTRACTOR	1	and a second second	ewal 60	0000 Rajesh ki	umar 551498292	14 201	4-15	25
1.1.1		BC-	2010-01	B.A	eshi jansara		5000 Sanjay K	umar 651756070	02 201	4-15	25
-	47 Sarla			100.041	CAREAL TO DEPEND		0000 Sajjan S	0.0 - 1.0 - 0		4-15	25
_	48 Roshani	BC		121040		South and the second	5000 Dayani			4-15	25
	49 Manju Rar	i BC-	A kumha	T D.A	a neo		energy way with	11.1.M.	87 201		25

								_	Gajan Sli	ngh	551498246		10	1	
						. 6	lenewa	40000		nar	651749909		2014.1	ñ	
				Khall		100	enewa	1 48000		ingh	551498241	03			
ĉ	in Su	shila	BC-A	Lohar		A.	enewa	40000	Kulwant S	m	551498246	24		20.00	1
		an Rani	RC-A	Khatl	0.		enewal	40000	Bhale Na		1700010907		- VIA .	1. 11.20	20
10		enu	BC-A	Khatl	10000				Rajkuma		551498292	_	~~14.1	1000	t
-	33	mika	BC-A	kumhar	0.		enewal	120000	Mahenu		651747209		2014.1	- 108	1
		kesh	BC-A		B./		enewal	100000	VIJay Sint	Bh	6517477570		2014-1	132	
-		dam	BC-A	Maniyar	0.1		enewal	36000	Parmanai		the second second second	- C	2014-1	c 500	
		Rani	BC-A	Chimpa	B.A	III Re	newal	36000	Jaibhagwi	ап	6517458832		2014-1	1.00	
			BC-A	Nayak	B.A	II Re	newal	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Mahende		6517488787	3	2014-1	255	
			BC-A	Khati	B.A	II Re	newal	48000	Suresh Ver	ma	6517489090	9	2014-1	210	
-			BC-B	Ahir	B.Co		newal	48000	Satyavee		5514982926	9	2014-1	150	
16	17.1 1.1 1.1 1.1 IV		BC-A	chippi	B.Co		114-11-1	100000	Dharmpa		6517458377	2	2014-1	2570	1
16	CALCULATE STREET		BC-A	Swaml	B.Cor	00.00	newal	48000			6517488888	8	2014		
16			BC-A	kumhar			newal	50000	Dulichand		5514982479	3	2014-1	2520	
16	- Dependence		BC-B	Saini	B.Con	Ma721	newal	36000	Ramehar	and the second			2014-1		
16	_		BC-A	kumhar	B.Con			48000	Ranbir Sing		5517640127	-	2014-15	1 200	1
16				Maniyar	B.Con		IC WOI	48000	Satbir sing		5517421171	17 - E	2014-15	1 3500	1
16		_	BC-A	Khatl	B.Con		ic ma	50000	Roshan La		517348627		2014-15	2520	1
16		1	BC-B	Ahir	B.Com		CAAP	36000	Mahender		5149829826	5	2014-15	-320	
168			TRUE TO A	umhar	B.Com				Shish Ram		5149829815		2014-15	10320	
169	Sector IICU	-	ben		B.Com	1011 AL 0010		35000	Maan Singh		5173676512		2014-15	-320	
170	_	JUIN		umhar	B.Com	II Ren	510 EO	10000	DOMESTIC: AN ADDRESS OF THE OWNER	-	5055108871		2014-15	-300	14 - L
171			BC-A		B.Com	II Ren	ewal 6	5000	Dilbag Singh	_	5151291720			1 5 3 7 (1	
172			1			d Ren	ewal 4	0000	Narender	_			014-15	1 4370	1
173	Monika R	10105			B.A. Ille			0000	Hawa Singh	1 10 27	5153084846		014-15	2520	
174					3.A. Ilir		wal 4	5000	Rambir	6	5151292815		014-15	2520	1
175	Geeta Ra	-			A. IIIr			8000	Ramphal	6	151635037	2	014-15	2520	
176	Kamles	51. J.			B.A. IIIri			0000	Ranjeet	55	149824238	2	014-15	2520	
177	Savant			-11		1	-		harmbir Sing	h 65	151292123	_	014-15		1
178	Pooja De	VI B			A. Iliro			0000	Rohtash		150774398	_	014-15	2520	
179	Laxmi Ba	ai B			A. Iliro	1			Sunder Singh	10.5550	152058942			2520	
180	Rinku	B	C-A k	AMERICA 1128	,A. Illro		1 222		0.000	1 00.025	toparter au contrattor est	-	014-15	2520	
181	Pooja	B	-В А	an entre provide	A. IIIrd			000	Bilu	-	149828142		014-15	2520	
182	Babli	BC	C-B A	hir B.	A. IIIrd	Renev	val 24	000	Ramniwas	-	151539819	20	14-15	2520	1
183	Suman Rai	ni BC	-A Kur	nhar B.	A. Illrd	Renev	val 100	1000 S	atish Kumar	65	151914236	20	14-15	2520	1
184	Sandeep	BC	-B Gu	ijjar B.	A. IIIrd	Renev	val 360	000 N	/lagan Singh	65:	150332860	20	14-15	2520	1
85	Renu	BC	-B Ch	ippi B.	A. IIIrd	Renew	al 600	000 0	Omparkash	65	50229615	20	14-15	2520	6
86	Anita	BC	A N	ai B.A	A. Ilird	Renew	al 500	000	Suresh	651	50198471	_	14-15	2520	
87	Manju Bala	BC	B chi	ppi B.A	A. IIIrd	Renew	al 360	000 Kr	lshan Kumar		50459208	_	14-15	-	
88	Geeta	BC				Renew			SurajBhan		76859311	_		2520	
89	Poonam	BC-	anti,antryra			Renew			alip Singh			-	14-15	2520	
90	Poonam	BC-			_	Renew					51293535	_	14-15	2520	li.
1	Poonam	BC-	in Inton			· · · · ·	1000		Jangbir		47373681	201	14-15	2520	
2	Sarita	BC-I	and the second			Renewa		2011	mchander	551	47372804	201	4-15	2520	
3	Seema	BC-				Renewa	20 - 1 G - 191P	_	shan Kumar	651	52758127	-	4-15	2520	
4	Guddi	BC-E				Renewa		00 F	op singh	_	47373625		4-15		
10 January	onam Devi	-	annie			Renewa	4800	0 D	alip Singh		7372780	-	_	2520	
	onam Rani		marin	-		Renewa	4000	_	nparkash					2520	
_	Preeti	Network Contraction			State of the second sec	lenewa	4000		nshi Ram		0458272	201	4-15	2520	
	ma Kumari	BC-A			_	enewal	1.	1911			0325762	201	4-15	2520	
		BC-A	ingitinit.			enewal	14/13=33	1.14	aj Kumar	6515	0325966	201		2520	
	Pooja	BC-A	Maniy			enewal			npal Singh		1805556	-		1000 C	
0.000	oonam	BC-A	Nai	B.A. (and the second se			esh kumar		1293818	-		2520	
	Nisha	BC-A	Kumha	Br B.A. I	-	enewal		20.00	amphal	6517	6263636	2014		2520	
_	lavina	BC-A	Khati			enewal			mkishan		6352539	2014	4-15	2520	
	ərmila	BC-B	Ahir	9.01		enewal	48000		a Narayan		0898019	2014	-15	520	
_	ha Devi	BC-A	Khati	B.A. I		enewal	96000		ndert	6515	1292316	2014		520	
Kan	ta Devi	BC-A		1 PERMINA 1	Ird Re	newal	48000		nderhass	6515(898155	2014		520	
-		M	Nai	B.A. II	Ird Re		48000		nkishan	65153	209528	2014	Sec. 104		
									inSingh					520	

206	Renu yadav	BC-B	Ahir	B.A. Illrd	Renewal	75000				
207	Shanti Yadav	BC-B	Ahlr	B.A. Illrd	Renewal		Arjun Dass	65154859269	2014-15	2520
208	Hasina Bano	BC-A	Lohar	B.A. Ilird		42000	Sukhdevi	65175040881	2014-15	2520
209	Suman Kumari	BC-A	Nal	B.A. IIIrd	Renewal	30000	Shaukt Ali	65149607241	2014-15	2520
210	Kavita	BC-B	Ahir	B.A. Illrd	Renewal	60000	Sajjan Kumar	65163460946	2014-15	2520
211	Parmjit Kaur	BC-A	Rai Sikh	B.A. Ilird	Renewal	48000	Sajjan Singh	65154412937	2014-15	2520
212	Sukbir Kaur	BC-A	Rai Sikh	B.A. Illrd	Renewal	48000	Joginder Singh	65165365675	2014-15	2520
213	Poonam	BC-B	Gujjar		Renewal	48000	Joginder Singh	65215627355	2014-15	2520
214	Geeta Rani	BC-B	Gujjar	B.A. IIIrd	Renewal	45000	Sethpal	55149824249	2014-15	2520
215	Shobha	BC-A	Nai	B.A. IIIrd	Renewal	40000	Krishan Kumar	55149824181	2014-15	2520
216	Shakuntala	BC-A		B.A. IIIrd	Renewal	36000	Sanjay Kumar	65150513450	2014-15	2520
- 1607-1592	Meena Kumari	BC-A	Kumhar	B.A. IIIrd	Renewal	45000	Durga Ram	65149684476	2014-15	2520
217	1	0.42623/07	Kumhar	B.A. Illrd	Renewal	45000	Ajit Singh	65153010103	2014-15	2520
	Shobna	BC-A	Lohar	B.A. Illrd	Renewal	24000	Umed Singh	65149942586	2014-15	2520
219	Reena	BC-A	Lohar	B.A. IIIrd	Renewal	50000	Vinod Kumar	65163768665	2014-15	252
220	Neetu	BC-B	Saini	B.A. IIIrd	Renewal	40000	Madan Lal	65175606440	2014-15	252
221	Manjeet	BC-A	Khati	B.A. IIIrd	Renewal	80000	Rajender Kumar	65150619377	2014-15	252
222	Puja	BC-A	Khati	B.com III	Renewal	36000	Mukesh	65151731194	2014-15	252
223	Nilam Rani	BC-A	kumhar	B.com III	Renewal	100000	Ramesh	65154253769	2014-15	252
224	Monika	BC-A	kumhar	B.com III	Renewal	100000	Om parkesh	65172118741	2014-15	252
225	Deeksha	BC-A	kumhar	B.com III	Renewal	40000	Ramesh kumar	65153972230	2014-15	252
226	Pooja	Bc-B	Ahir	B.com III	Renewal	35000	Rajpal	65150781000	2014-15	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1
227	Kavita rani	Bc-A	kumhar	B.com III	Renewal	30000	Balwan Singh	65172326557	2014-15	
228	Salina	Bc-A	kumhar	B.com III	Renewal	35000	Ramphal	65154775638	2014-15	1
229	Soniya rani	BC-A	kumhar	B.com III	-	84000	Kitab singh	65154624179	2014-15	_
230	Sonam	BC-B	Saini	B.com III	000000000	40000	Raju ram	55149825016	2014-15	50%1t
231	Pooja	BC-B	Saini	B.com III	11 11 11 12 12 12 12 12 12 12 12 12 12 1	45000	Omparkesh	65152481404	2014-15	
232		BC-B	Ahir	B.com II	2.2	75000	Gaje Singh	65174988485	2014-15	
233	E E CERTING AND DESCRIPTION	BC-A	Nai	B.com II	The second second	MUSOROUNICL.	Ram kumar	55149829509	2014-15	

Atabet	of Institution - Ch. Ba	insilal Govi College	ard Roll PMS for BC		Principal Mob: 890150451 Nodal Officer : 9416080619		\sim
Emai	Address: chibansilalgo	wtosham@gmail.c	om		BC office clerk: 941609056		f_{i}
Pant	No: RTKC02398E	E	DO Code: 0923		be office creating the		
	10.772				i	•	1
For F	resh Cases			Total Amount	Total Amount	Total	-
Sr. Na.	Particulars	No. of Students X	Student Share	of student Share	of Management Share	Amount of Claim	2
		maintenance Allowance	Fee paid by Student(if any)	l.		1+11	
1	Boys (Day Scholar)	6					
2	Boys (Hostrier))				
3	Girls (Day Scholar)	103X2100	<u> </u>	216300		216300	
4	Girls (Hosttler)						
	Total (a)			216300		216300	1
or R	enewal Cases		78.	11	· · · · · ·	(
Sr. No.	Particulars	No. of Students X maintenance	Student Share	Total Amount of student Share	Total Amount of Management Share	Total Amount of Claim	41 F 7 52
-		Allowance	Fee paid by Student(If any)			1+11	2
1	Boys (Day Scholar)					100	(5)
2	Boys (Hostrier)	0:a	1	and the second second			
3	Girls (Day Scholar)	124X2520	1	312480		312480	$/ \sim$
4	Girls (Hosttler)		1	1		542400	×7/
	Total (a)			312480		312480	1
irand	Total (a+b)		/				1
	Boys	1-7	a		Harris Harris	1.000	
- 8	Girls	1 227		528780		528780	
1	Total Amount of	E	· · · ·			20	÷
	Scholarship	528780		528780	1	528780	S.

ę

arform For Scholarship Scheme for BC for the year 2015-16

1	-	1:-	Ch.	Ba	nsila	I Go
r	,b	an	isila	lgcı	wtos	har
1.	39	8E				
12	3					

ss Ist	Hather Name in English Maru Ram		Aadhaar_Number		ate of Addmission	IRATA	enanc e Nu	Total Mainten ance Allowan ce	Refunda	Total Amount of Scholarshi P
lst	Sube Singh	6786001500007690	94718181069	2015-16	07-06-2015	210	10	2100	-	Le contraction de la contracti
lst	Vinod	65241054378	334809852684	2015-16	07-06-2015	210	10	2100	800	2100
lst	Rajender	65181074437	899877122904	2015-16	07-06-2015	210	10	2100	800	2100
lst		565181534689	8028867517752	2015-16	07-07-2015	210	10	2100	800	2100
lst	Surender Singh	65180906149	219111944508	2015-16	07-07-2015	210	10	2100	800	2100
.ist	Ransing	65177634012	869143969533	2015-16	07-07-2015	210	10	2100	800	2100
11.00	Roshan Lal	65240759174	658243516130	2015-16	07-07-2015	210	10	2100	800	2100
.lst	Mukesh Yadav	65240758091	597990585699	2015-16	07-07-2015	210	10	2100	800	2100
.lst	Krishan Kumar	65236755916	217311375989	2015-16	07-07-2015	210	10	2100	800	2100
.lst	Ramchander	65236755836	583172046080	2015-16	07-07-2015	210	10	2100	800	2100
.lst	Amarchand	80091700076949	361156796485	2015-16	07-07-2015	210	10	2100	800	2100
.ist	jaibir	65241080965	356883893843	2015-16	07-07-2015	210	10	2100	800	2100
.Ist	Surender Singh	55755149707	289681790127	2015-16	07-08-2015	210	10	2100	800	2100
\.lst	Bharender	55155149718	684289076931	2015-16	07-08-2015	210	10	2100	800	2100
\.lst	Bharender	6505000100045688	935863992865	2015-16	07-08-201	5 210	10	2100	800	2100
A.Ist	Surender	650530100064160	840578148434	2015-16	07-07-201	5 210	0 10	2100	800	2100
۱.lst	suresh	65241209028	823212229470	2015-16	07-07-201	5 210	0 10	2100	800	2100
A.Ist	Haripal Singh	65158814042	262798011142	2015-16	5 07-07-201	5 21	0 1	0 2100	800	2100
A.Ist	Madanlai	55155149559	932793959143	2015-10	5 07-07-201	.5 21	PESUL UP A P	service and the service services		2100
A.Ist	Rajender	65235001888	509170427676	2015-1	6 07-07-20	15 21		0 210		2100
A.Ist	Jagdish	652403976144	542926718672	2015-1	6 07-07-20	15 21		0 210		2100
A.Ist	V Krishan	80051900008250	85651292173	2015-1	6 07-07-20	15 2	10	0 210	0 800	2100

	A.	the second second second	982855129951	2015-16	07-07-2015	210	10	2100	800	2100	G	2 1
100	(Sumersingh	65240514112	398394170597	2015-16	07-07-2015	210	10	2100	800	2100	(6	
	Subhash Chan	der 65240303586	341901011966	2015-16	07-07-2015	210	10	2100	800	2100		
1	Balraj Singh	80171700102272	615920424064	2015-16	07-07-2015	210	10	2100	800	2100		- W
1	Kitab Singh	65240514327	240825697174	2015-16	07-08-2015	210	10	2100	800	2100		1
6 .7	Ramesh	55155149774	763519824109	2015-16	07-07-2015	210	10	2100	800	2100		
st	Bajrang	55155149571	757295816930	2015-16	07-08-2015	210	10	2100	800	2100		
List	Surender	65241181534	925982985451	2015-16	07-08-2015	210	10	2100	800	2100		34u
A.Ist	Murari lal	65240397418	848466469051	2015-16	07-08-2015	210	10	2100	800	2100		
A.IST	Rajender	65240998486	512301058189	2015-16	07-02-2015	210	10	2100	800	2100	1	1
A.Ist	Rajender	65241055713	340283427835	2015-16	07-08-2015	210	-	2100	800	2100	1	
A.Ist	Bajrang	65241209244	492629341368	2015-16	07-08-2015	210	10		800	2100	1	1.
A.Ist	Ramniwas	65114628138	378600873716	2015-16	07-07-2015	210	10	2100		2100		
A.Ist	Ramchander	55246078699	973331410870	2015-16	07-08-2015	210	10	Z100	800		4	
A.Ist	Ramkishan	4758108001310		2015-16	07-08-2015	210	10	2100	800	2100	4	
A.Ist	Hawa Singh	65242949197	577569695237	2015-16	07-08-2015	210	10	2100	800	2100	4	
A.IST	Awatar Singh	65241187332	557667539477	2015-16	07-08-2015	210	10	2100	800	2100		1
A.Ist	Narsingh	65241492459	761085703537	_	07-08-2015	210	10	2100	800	2100	1	
A.Ist	Sher SINGH	65240758614	624473220914	2015-16	07-08-2015	210	10	2100	800	2100		
	Gutiya Ram	65240998248	678340325699	2015-16		210	10	2100	800	2100		1
A.Ist	Nandkumar	65234784586	708062646048	2015-16	07-08-2015	210	10	2100	800	2100	r.	
A.Ist	Subhash kumar	65240998146	878273024818	2015-16	07-08-2015	210	10	2100	800	2100		
A.Ist		55155149504	502085605014	2015-16	07-08-2015		_	2100	800	2100		
Ist	Krishan	65240758455	379098560346	2015-16	07-08-2015	210	10		_	2100		
.lst	Hanuman		442815806076	2015-16	07-08-2015	210	10	2100	800	2100		
.lst	Bhal Singh	65157307258	952298628967	2015-16	07-08-2015	210	10	2100	800	10 22 22 10 10 20 20 20 20 20 20 20 20 20 20 20 20 20		- k -
.lst	Pratap	65157307189	971944257085	2015-16	07-08-2015	210	10	2100	800	2100		1
lst	Pratap Singh	65202110477	804170757019	2015-16	07-08-2015	210	10	2100	800	2100		k
lst	Narender	65240397532		2015-16	22-07-2015	210	10	2100	800	2100		
Ist	Mangtu Ram	6786001500001870	773258157157	2015-16	22-07-2015	210	10	2100	800	2100		
Ist	Rajesh Kumar	65241351756 /	629703298155	Contraction of the second second	22-07-2015	210	10	2100	800	2100		
	Balwan Singh	55155149810	673115923769	2015-16	07-07-2015	210	10	2100	800	2100		
lst	Satbir Singh	55155149832	323937568803	2015-16		210	10	2100	800	2100		- U"
st	CONTRACTOR AND	65240397496	559739826435	2015-16	23-07-2015		10	2100	800	2100		
lst	Satyavir	65243564536	341057736925	2015-16	23-07-2015	210	10	2100	800	2100		
lst	Radheshyam		750983017278	2015-16	22-07-2015	210		2100	800	2100		
st	Satyawan	55155149821		2015-16	22-07-2015	210	10	2100	800	2100		
st	Ramchander	55155149809	399428072654	2015-16	23-07-2015	210	10	1-	800	2100		1
st	Santlal	65241186054		2015-16	22-07-2015	210	10	2100	800	2100		li -
lst⊰g_	Rajender	65240997889	734772249542	2015-16	07-07-2015	210	10	2100	000			1
Ist	Narsingh	65175439749	740332470627	2013-10	120.2							1
131	The statistics of					1.000						
						-					-	
	and the second	and a statement of										
												-
											-	<u>1</u>
											1	

	Jaiparkash	65225994538	676045306714		23-07-2015	210 1				100
	Madan Singh	65177432550	588222163677		23-07-2015	210 1		10		2100
1	Sankarlal	65240397430	651817447811 273959487122	2015-16	22-07-2015			2100	800	2100
1 -	Dharmbir Singh	55155149242	967996254924	2015-16	13-07-2015		13.ZA 11	2100	008	2100
	Dayanand	65240303020	932793959143	2015-16	08-06-2015	210	10	2100	800	2100
	Ishwar Singh	55155149559	248580881916	2015-16	07-06-2015	210	10	2100	800	2100
100	Balwan Singh	65240993534		2015-16	07-06-2015	210	10	2100	000	2100
um 1st	Ransingh	65177634352	268498212304	2015-16	07-07-2015	210	10	2100	800	2100
Com 1st	Chand Karn	55155149729	957678003557	2015-16	07-07-2015	210	10	2100	800	1.001.535
.Com Ist	Sube Singh	6505000100049356	867202152542	2015-16	07-07-2015	210	10	2100	800	2100
Com Ist	Bhannu Singh	55155149694	581841391273	2010 1011 2 1 1 1 1 1 1 1	07-06-2015	210	10	2100	800	2100
.Com Ist		65247125709	396084830080	2015-16	07-08-2015	210	10	2100	800	2100
Com 1st	Rajesh Kumar	65176415263	835820260365	2015-16		210	10	2100	800	2100
Com Ist	Kripal Singh	55155150224	396129839769	2015-16	07-08-2015	210	10	2100	800	2100
Com Ist	Khayali Ram		359904285118	2015-16	20-07-2015		10	2100	800	2100
Com Ist	Rajesh Kumar	65240195795	832997469901	2015-16	07-08 2015	210	_	2100		2100
Com Ist	Rajender Parshad	65234960653	886736243782	2015-16	22-07-2015	210	10			2100
Com Ist	Pawan Kumar	65241055600	000/30243782	2015-16	22-07-2015	210	10	2100		
	Billu Ram	65235074483		2015-16	25-07-2015	210	10	2100		2100
Com Ist	Lilu Ram	55149829699	444060382643		07-08-2015	210	10	2100	800	2100
Com Ist		65148987845	542727335097	2015-16	07-07-2015	210	10	2100	800	2100
Com Ist	Jagdish Kumar	55155149638	979382509623	2015-16		210	10	2100	800	2100
c 1st (Med.)	Bhale Singh		735538639144	2015-16	07-07-2015		10	2100	800	2100
1st (Med.)	Kuldeep Singh	3149170880	711504719374	2015-16	30-06-2015	210	10			2100
1st (Med.)	Joginder Singh	65152216491	745130023316	2015-16	22-07-2015	210		1.5 million (1.7 million (1.6		2100
tet (Mod)	Preetam Singh	65170759741		2015-16	22-07-2015	210	10			
rst (wea.)	Harinal Singh	81470100054440	570398768401	2015-16		210	10			
: 1st (Med.)	Haripal Singh	65174814622	387701965231	and the second se	and the second sec		10	210		
1st (Med.)	RatiRam	65240994606	653311175149	2015-16	the second second second law and law		12.02	210	0 800	
: 1st (Med.)	Prithvi Singh		723453539154	2015-16	27-07-2015				0 800	
1st (Med)	Rai Singh	55155149876	786554811513	2015-16		1			1000	2100
1st (Med.)	Sube Singh	20275006770 /		2015-16	07-07-2015	210			0.00	2100
	Mukesh Kumar	65240994129	251586902853	2015-10	100 000 00011	5 210			0	1200 2400
		65240759049	569229506613		00 00 001	and the second se) 1	0 210	0	
: 1st (N.M)	Virender Singh		667898274969	2015-1) 1	0 210	0	
1st (N.M)	Joginder singh	65174814532	561203072227	2015-1	6 30-06-201			0 210	0 800	2100
1st (N.M)	Nafe Singh	65241084212	220567864014	2015-1	6 07-07-201				0 800	121.00
	Rajesh	65240759505	220507804014	2015-1	6 10-07-201				0 800	23.00
: 1st (N.M)		65240506927	320980941729	2015-1		5 21			0 80	0400
c 1st (N.M)	Dharmvir	65240514054	737882865000	and the second			-		80	2100
c 1st (N.M)	Balwan Singh		800239071062	2015-1			0 1	0 210	10	
c 1st (N.M)	Umed Singh	55155149593	620205685944	2015-1	6 10-07-201					
c 1st (N.M)	Suresh Kum	65241081482	0202030203							

1	INGION .		416410822497	2015-16 2	3-07-2015	210	10	2100	800	2100
15	Ramesh Kumar 6	The second se	514209520360	2015-16 0	9-07-2015			2100	800	2100
(1.1)	Rannier sengre		321105440438	2015-16	26-07-2015	The second second		2100		2100
.4.M)			935263176722	2015-16	29-07-2015		-	2100	800	2100
.(N.M)		55155150235	489149928796	2015-16	29-07-2015			2100	800	2100
_/d		81471700035817	406442556150	2015-16	10-07-2015		12	2520	800	2520
Znd		65200444117	897486472096	2015-16	14-07-2015	_	12	2520	800	2520
2nd		65209040013	935680716381		10-07-2015	210	12	2520	800	2520
2nd		65203799713	927300647784	2015-16	10-07-2015	210	12	2520	800	2520
Znd		65204960591	2168 6053 1410	2015-16	10-07-2015	210	12	-	800	2520
2nd	Suresh kumar	65200424021	947702139110	2015-16	14-07-2015	210	12	2520	800	
2nd	BansiLal	55149828663	769448616139	2015-16	10-07-2015	210	12	2520	800	2520
2nd	Jangbir	65210114799	268408086257	2015-16	14-07-2015	210	12	2520	800	2520
2nd	Rajesh kumar	65156459543	317581028446	2015-16	11-07-2015	210		2520	800	2520
2nd	Rajender singh	65204920569	305313829811	2015-16	11-07-2015	210	12	2520	800	2520
2nd	Ransingh	80210100109785	389670474356	2015-16	14-07-2015	210	12	2520	800	2520
2nd	DilbagSingh	65203963435	411638546087	2015-16	14-07-2015		12	2520	800	2520
12nd	Roshan lal	65205535088	826752114937	2015-16	14-07-2015	210	12	2520	800	2520
2nd	Ramchander	65205591429	5072 8510 2426	2015-16	14-07-2015	210	12	2520	800	2520
2nd	Rajender singh	65206357546	4189 5199 0907	2015-16	15-07-2015	210	12	2520	800	2520
a2nd	Chottu Ram	65210114121	292532212163	2015-16		210	12	2520	800	2520
a2nd	Ravinder Singh	65210114121	292532212163	2015-16	14-07-2015	210	12	2520	800	2520
a2nd	Dayanand	65203969652	281144704268	2015-16	14-07-2015	210	12	2520	800	2520
a2nd	Rohtash Singh	1053001500066080	961066313480	2015-16	14-07-2015 15-07-2015	210	12	2520	800	2520
a2nd	Suresh kumar	65204198020	8467 1513 9981	2015-16	14-07-2015	210	12	2520	800	2520
a2nd	Surender Singh	65203955673	331943250596	2015-16		210	12	2520	800	2520
.a2nd	Gajanand	65205603549	335513081091	2015-16	14-07-2015	210	12	2520	800	2520
.a2nd	Ransingh	65201088677	462856649281			210	12	2520	800	2520
.a2nd	Mahiram	65204195563 (2015-16			12	2520	800	2520
.a2nd	Shamsher Singh		277193045905	2015-16	 All the second se		12	2520	800	2520
.a2nd	Jogiram	65205603549	335513081091	2015-1			12	2520	800	2520
a2nd	Balwan Singh		Carlester de la contracter de la contrac				12	2520	800	2520
Constant Mars		65203928457	563747635204	2015-1			12	2520	800	2520
.a2nd	balbir singh	65203806507	295133059968	2015-1					800	2520
.a2nd	Jaibir Singh	65203806507	343961091081	2015-1					800	2520
aznd		nad 65203593199	450029414526							
.a2nd	Vinod Kumar	65204196758	701525658804		 Constant shares 	war in the second			800	2520 2520
a2nd	Joginder Singh		983045094104		100 100 100 100 100 100 100 100 100 100				800	2520
.a2nd	Roshan Lal	65207975617	243596026051	2015	16 14-07-201	5 210	12	2520	1800	12520

	and the second se	541430441898							
COLUMN TWO IS NOT	65201406997	936833913787	2015-16		1210	-			
11-11-11-11-11-11-11-11-11-11-11-11-11-	65204135445 65204196124	960022758300	2015-16	15-07-2015	210	12	2520	1000	
All and a second	ingh 8147170003580	846450454950	2015-16	15-07-2015	210	12	2520	800	2520
amkum.	ar 65205534460	260498997909	2015-16	15-07-2015	210 210	12	2520	800	2520
Harisingh	65153206550	592113268705	2015-16	16-07-2015		12	2520	800	2520
Ombir sing	h 82941500000231	475531478076	2015-16	14-07-2015	210	12	2520	800	2520
Rajpal	82941500000143	4083 0664 1700	2015-16	07-07-2015	the second se	12	2520	800	2520
Rajesh kum	182941500000	612284194432	2015-16	16-07-2015	210	12	2520	800	2520
Satya Naray	an 6520554240	2752 6198 6463	2015-16	16-07-2015	210	12	2520	800	2520
Balwan Sing		265609875120	2015-16	16-07-2015	210	12	2520	800	2520
Attar Singh		821468772670	2015-16	16-07-2015	210	12	2520	800	2520
Mansingh	65204994021	732321224	2015-16	21-07-2015	210	12	2520	800	2520
Rajender sing	65203953267	732321321568	2015-16	17 07-2015	210	12	2520	800	2520
Mahand sing		336148802158	2015-16	17-07-2015	210	12	2520	800	2520
Mahender Sir	gh 65203950404	978963316341	2015-16	17-07-2015	210	12	2520	800	2520
Balwan Singh	65202024	277038070171	2015-16	17-07-2015	210	12		800	2520
Bachhan Singh	65210004208	794699422505	2015-16	14-07-2015	210	12	2520	800	2520
Amar Singh		932058471072	2015-16	21-07-2015	210	12	2520	800	2520
Subhash Chang	65210005723	844925129408	2015-16	15-07-2015	210		2520	800	2520
Balwan Singh		992587649720	2015-16	17-07-2015	210	12	2520	800	2520
Jaiwan Singh	65204961562	352387649720	2015-16	20-07-2015		12	2520	800	2520
Mahender Sing	h 65203797841	260840917955	2015-16	20-07-2015	210	12	2520	800	
lajender singh	65203970820	618764617806	2015-16	14-07-2015	210	12	2520	800	2520
Aahender Singl	65203370838	990218718793	2015-16	14-07-2015	210	12	2520	800	2520
Imparkash		608514082710	2015-16	23-07-2015	210	12	2520	800	2520
	65200538833	427451061639		05-08 2015	210	12	2520		2520
handerhass	65204159104	808099567353	2015-16	11-07-2015	210	12	2520	800	2520
ajbir Singh	65204536071		2015-16	13-07-2015	210	12	-	800	2520
injay Kumar		Applicable	2015-16	13-07-2015	210		2520	800	2520
	65208836650	709143648798	2015-16	11-07-2015	-	12	2520	800	2520
harmvir Singh	55149828652	382776108603	2015-16		210	12	2520	800	2520
irisingh	65153206414			14-07-2015	210	12	2520	800	2520
mesh Kumar	55149829350	317215079410	2015-16	10-07-2015	210	12	2520	800	
and the second second second second		249041839261	2015-16	10-07-2015	210	12	2520	10.00	2520
mesh Kumar	65174097646	316242734769	2015-16	10-07-2015	210	_	1	800	2520
ran Singh	65090565494	507149467041	2015-16	1		12	2520	800	2520
nbir	65174986034		President and the state of the state of the	10-07-2015	210	12	2520	800	2520
		400032068178	2015-16	15-07-2015	210	12	2520	800	2520
	65173895670	602188435406	2015-16	11-07-2015	210	12	2520	800	2520
oir Singh	65174875607	710528189617	2015-16	11-07-2015	210	12	2520	800	2520
	65176427993	348838516315	2015-16	10-07-2015	210	_	2520	800	2520
1 200 07 21 1		and statistical and the statistical statistical statistics	C STER-COLORADO			12			
gan Singh	65173486667	866302873626 .	2015-16	15-07-2015	210	12	2520	800	2520

								- free	1870	
1	Chater Singh	55149823926	7818 1871 187							
	Ramesh	65174775001	7818 1831 4861	2015-16	15-07-2015					/
1	Ram kishan	65174677865	579522640036	2015-16	15-07-2015	210	12	2520	800	2520
2 -	Ravinder Singh	65174721146	827774688977	2015-16	15-07-2015	210		2520	800	2520
11 there	Omparkash	55149829677	733592491721	2015-16	15-07-2015	210	-	2520	800	2520
<i>.</i> rd	Rajesh kumar	55149829214	387212018614	2015-16	15-07-2015	210	12	2520	800	2520
3rd	Harnarayan	65174777315	662619325005	2015-16	13-07-2015	210		2520	800	2520
aA3rd	Wadan Lal	65174207287	470611806159	2015-16	13-07-2015	210	12	2520	800	2520
.A3rd	onale kam	55149824624	254286091786	2015-16	15-07-2015	210	12	2520	800	2520
A3rd	Janonagwan	65174588329	471364793301	2015-16	15-07-2015	210	12	2520	800	2520
.A3rd	0.	65174775704	303928109793		13-07-2015	210	12	2520	800	2520
.A3rd	Sajjan Singh	65174775704	893159935988	2015-16	13-07-2015	210	12		800	2520
.A3rd	Anil Kumar	65174891108	Applicable	2015-16	13-07-2015	210	12	2520	800	
.A3rd	Jagdish	65174990992	996386272064	2015-16	13-07-2015	210	12	2520	800	2520
.A3rd	Ishwar Singh	55149823993	359201859346	2015-16	13-07-2015	210	12	2520	800	2520
A3rd	Chand Singh	65210003805	608290976919	2015-16	13-07-2015	210	12	2520	800	2520
A3rd	Chanderpal	55149824817	5646704 000	2015-16	10-07-2015	210		2520	800	2520
A3rd	Satbir singh	65175408369	564678185710	2015-16	10-07-2015	210	12	2520	800	2520
A3rd	Balkishan	65176469514	772746387079	2015-16	15-07-2015	210	12	2520	800	2520
-	Sanjay Kumar	65175607002	456475452340	2015-16	15-07-2015	210	12	2520	800	2520
A3rd	Balbir singh	65176030225	850460735612	2015-16	15-07-2015	210	12	2520	800	2520
A3rd	Birsingh	65176025487	931132998605	2015-16		210	12	2520	800	2520
A3rd	Ravinder Singh	65174721146	479963867656	2015-16		210	12	2520	800	2520
A3rd	Mahender		733592491721	2015-16		1010 B	12	2520	800	2520
C.A3rd	Ramniwas	55149829225	603245878944	2015-16	AND ADDRESS OF A DECK	210	12	2520	800	2520
C.A3rd		65175487749		2015-16	120 00 COTT	210	12	2520	800	2520
.A3rd	Vijay Singh	65174720947	351084604290	2015-16		210	12	2520	800	2520
	Jagdish Chander		245827482914	2015-16	1	210	12	2520	800	2520
A3rd	Umed Singh	65206459526	630396460401	2015-16		210	12	2520	800	2520
A3rd	Rambilash	65174815445	440406472805	2015-10		210	12	2520	800	2520
A3rd	Manphool	65174777122	532604215527	2015-1		210	12	2520	800	2520
.A3rd	Bhajan Singh	55149829780	895927374393		NOLD	210	12	2520	800	2520
.A3rd	Mahabir Singh	65175562569	854678239288	2015-1		210	12	2520 -	800	2520
-A3rd	Krishan Kumar	65174989079		2015-1	Contraction of the second	210	12	2520	800	2520
A3rd	Dharambir	55149824908	509666360652	2015-1	Construction of the second	210	12	2520	800	2520
.A3rd	Chabeel Das		582037378236	2015-1	20	210	12	2520	800	2520
.A3rd		65176401088	361544735979	2015-1				2520	800	2520
	Balwan Singh	55149827091	819142619076	2015-1	ALL CARGE CONTRACTOR			2520	800	2520
.A3rd	Balwan Singh	65174888425	564678185710	2015-1					800	2520
.A3rd	Baljeet	65174815387	826961518143	2015-	COLUMN STREET STREET		Contrary.	1.1.1.211100	800	2520
.A3rd	Dayanand	55155147802	497804710161	2015-	16 14-07-2015	210	12	2520	800	2520

-

Submash Solin SJ143324336 624711060469 2015-16 14-07-2015 210 12 2520 800 254 Ramesh Soni 55149824545 592717883133 2015-16 14-07-2015 210 12 2520 800 254 Jagvir 65176029866 536458067478 2015-16 14-07-2015 210 12 2520 800 255 Shamsher Singh 65174813888 377832986252 2015-16 15-07-2015 210 12 2520 800 255 rd Satya Parkash 55149825221 3998 4959 5752 2015-16 15-07-2015 210 12 2520 800 255 rd Satya Parkash 55149825221 3998 4959 5752 2015-16 15-07-2015 210 12 2520 800 255 rd Satya Parkash 65174818888 439934971913 2015-16 13-07-2015 210 12 2520 800 25 rd Satya Parkash 651748171715 402863373315		Subhash Soni	65174935307 55149824556	202963520697	2015-16	14-07-2015	1220				
Jagvir 65176029866 592717883133 2015-16 14-07-2015 210 12 2520 800 257 Shamsher Singh 65174813888 377832986252 2015-16 15-07-2015 210 12 2520 800 257 Joen Dyal 65174813888 377832986252 2015-16 15-07-2015 210 12 2520 800 257 Jrd Satya Parkash 55149825221 39984959 2015-16 15-07-2015 210 12 2520 800 257 Jrd Satya Parkash 55149825221 39984959 2015-16 15-07-2015 210 12 2520 800 257 Jrd Satya Parkash 55149825221 39984959 2015-16 15-07-2015 210 12 2520 800 257 form 3rd Dulichand 65174211715 402863373315 2015-16 13-07-2015 210 12 2520 800 257 Com 3rd Suresh Verma 65174801271 8578848										800	2520
Shamsher Singh 65174813888 536458067478 2015-16 15-07-2015 210 12 2520 800 255 J Deen Dyal 65174813888 377832986252 2015-16 15-07-2015 210 12 2520 800 255 J Deen Dyal 65174814361 708252595543 2015-16 15-07-2015 210 12 2520 800 255 Jrd Satya Parkash 55149825221 3998 4959 5752 2015-16 15-07-2015 210 12 2520 800 255 Jrd Satya Parkash 55149825221 3998 4959 5752 2015-16 15-07-2015 210 12 2520 800 255 Jrd Satbir singh 65174211715 402863373315 2015-16 13-07-2015 210 12 2520 800 255 Com 3rd Suresh Verma 65174890909 314732881127 2015-16 13-07-2015 210 12 2520 800 25 2500 800 2	1				and the second s	and the second se		-		800	2520
J Deen Dyal 65174814361 777832986252 2015-16 15-07-2015 210 12 2520 800 22 ird Satya Parkash 55149825221 3998 4959 5752 2015-16 15-07-2015 210 12 2520 800 25 ird Satya Parkash 55149825221 3998 4959 5752 2015-16 15-07-2015 210 12 2520 800 25 ird Satya Parkash 65174888888 439934971913 2015-16 15-07-2015 210 12 2520 800 25 com 3rd Satbir singh 65174211715 402863373315 2015-16 13-07-2015 210 12 2520 800 25 Com 3rd Suresh Verma 65174890909 314732881127 2015-16 13-07-2015 210 12 2520 800 2 Com 3rd Ramehar 55149824793 851392770190 2015-16 13-07-2015 210 12 2520 800 2 Com 3rd		and the second se	Construction of the second		2015-16		-	-		800	2520
J.rdSatya Parkash551498252213998 4959 57522015-1615-07-201521012252080022pom 3rdDulichand65174888884399349719132015-1615-07-201521012252080022com 3rdSatbir singh651742117154028633733152015-1610-07-201521012252080022Com 3rdSuresh Verma651748909093147328811272015-1613-07-201521012252080022Com 3rdRambir Singh651764012718578848853062015-1613-07-201521012252080022Com 3rdRamehar551498247938513927701902015-1613-07-201521012252080022Com 3rdRoshan Lal651734862719101162682092015-1613-07-20152101225208002Com 3rdMaan Singh651736765128404769257522015-1613-07-20152101225208002Com 3rdDharmpal651745837723907721941412015-1613-07-2015210122520800					2015-16			- Contractor	- Contraction of the local division of the l	1	2520 2520
Jac Difyse Singh S1149825221 3998 4959 5752 2015 16 15 07-2015 210 12 2520 800 22 pom 3rd Dulichand 65174888888 439934971913 2015-16 10-07-2015 210 12 2520 800 22 Com 3rd Satbir singh 65174211715 402863373315 2015-16 13-07-2015 210 12 2520 800 22 Com 3rd Suresh Verma 65174890909 314732881127 2015-16 13-07-2015 210 12 2520 800 22 Com 3rd Rambir Singh 65176401271 857884885306 2015-16 13-07-2015 210 12 2520 800 22 Com 3rd Ramehar 55149824793 851392770190 2015-16 13-07-2015 210 12 2520 800 2 Com 3rd Roshan Lal 65173676512 840476925752 2015-16 13-07-2015 210 12 2520 800 2 Com 3rd	Vit	the second se			2015-16		and the second second	-			12520
Com 3rdSatbir singh651742117154028633733152015-1610-07-20152101225208002Com 3rdSuresh Verma651748909093147328811272015-1613-07-20152101225208002Com 3rdRanbir Singh651764012718578848853062015-1613-07-20152101225208002Com 3rdRamehar551498247938513927701902015-1613-07-20152101225208002Com 3rdRoshan Lal651734862719101162682092015-1613-07-20152101225208002Com 3rdMaan Singh651736765128404769257522015-1613-07-20152101225208002Com 3rdDharmpal651745837723907721941412015-1614-07-2015210122520800		A DATE OF A			2015-16		and the second second second				2520
Com 3rdSuresh Verma651748909093147328811272015-1613-07-20152101225208002Com 3rdRanbir Singh651764012718578848853062015-1613-07-20152101225208002Com 3rdRamehar551498247938513927701902015-1613-07-20152101225208002Com 3rdRoshan Lal651734862719101162682092015-1613-07-20152101225208002Com 3rdMaan Singh651736765128404769257522015-1613-07-2015210122520800Com 3rdDharmpal651745837723907721941412015-1614-07-2015210122520800					2015-16	10-07-2015	210		and the second second	-	2520
Lom 3rdSafesh Verma651748503093147328811272015-1613-07-20152101225208002Com 3rdRamehar551498247938513927701902015-1613-07-20152101225208002Com 3rdRoshan Lal651734862719101162682092015-1613-07-20152101225208002Com 3rdMaan Singh651736765128404769257522015-1613-07-2015210122520800Com 3rdDharmpal651745837723907721941412015-1614-07-2015210122520800			the second se		2015-16	13-07-2015	210	12		100000	2520
Com 3rd Ramehar 55149824793 851392770190 2015-16 13-07-2015 210 12 2520 800 2 Com 3rd Ramehar 55149824793 851392770190 2015-16 13-07-2015 210 12 2520 800 2 Com 3rd Roshan Lal 65173486271 910116268209 2015-16 13-07-2015 210 12 2520 800 Com 3rd Maan Singh 65173676512 840476925752 2015-16 13-07-2015 210 12 2520 800 Com 3rd Dharmpal 65174583772 390772194141 2015-16 14-07-2015 210 12 2520 800	and the second s		And the second second second second second second		2015-16	13-07-2015	210	12			2520
Com 3rd Ramenar 55149824793 851392770190 2015-16 13-07-2015 210 12 2520 800 2 Com 3rd Roshan Lal 65173486271 910116268209 2015-16 13-07-2015 210 12 2520 800 2 Com 3rd Maan Singh 65173676512 840476925752 2015-16 13-07-2015 210 12 2520 800 Com 3rd Dharmpal 65174583772 390772194141 2015-16 14-07-2015 210 12 2520 800				857884885306	2015-16	13-07-2015	210	12			2520
Com 3rd Roshan Lal 65173486271 910116268209 2015-16 13-07-2015 210 12 2520 800 Com 3rd Maan Singh 65173676512 840476925752 2015-16 13-07-2015 210 12 2520 800 Com 3rd Dharmpal 65174583772 390772194141 2015-16 14-07-2015 210 12 2520 800				851392770190	2015-16	13-07-2015	210	12	and the second se	1,000,00,00,0	2520
Com 3rd Maan Singh 65173676512 840476925752 2015-16 13-07-2015 210 12 2520 800 Com 3rd Dharmpal 65174583772 390772194141 2015-16 14-07-2015 210 12 2520 800	Com 3rd	Roshan Lal	65173486271	910116268209	2015-16	13-07-2015	210	112	2520		2520
Com 3rd Dharmpal 65174583772 390772194141 2015-16 14-07-2015 210 12 2520 800	Com 3rd	Maan Singh	65173676512	840476925752	2015-16	13-07-2015	210	12	The second second	-	2520
	Com 3rd	Dharmpal	65174583772	390772194141	2015-16	14-07-2015	210	12			252
		a									52

1. 			7.		4	3 0	2	1		Sr. No.	For Ren		4		2 8	1 Bo		Sr. No	For Fresh Cases	Name
- WWW	Total amount of Schol-coup	Girls	Grand Total (a+b)	Tatal (a)	Girls (Hosttler)	Girls (Day Scholar)	Boys (Hostrier)	Boys (Day Scholar)		Particulars	For Renewal Cases	Total (a)	Girls (Hosttler)	Girls (Day Scholar)	Boys (Hostrler)	Boys (Day Scholar)		Particulars	ilalgcwi ile No.:-	Name of Institution.
411 T				92		92			Mainen	No. of Students	المر	103	69	103			Maintena	No. of Students	50. Bansilai Dsham@grr 89015045	
- they	The hand			•		97x2520=231840/~	•	•	Mainencance Allowance	Stude	4-			99x2100=207900/ 4x3350=13400/-			Maintenarice Allowance	Students Share	cur. bansılal GCW Tosham tosham@gmail.com 8901504585	ame of Institution. C. D. Statistical V OF AWard-Roll PIVIS for
	5	Aleloc-	A.	- H-	0/20041-0-144260		7 19		Fee paid by Students (if any)	Students Share	e mail	- 24-10-	- ALU	200 661 = MI 2 x C P		ine paid by students (it ally)	Fee noid by Studente (if any)	ts Share	Nodal Officer Mobile No.:- Office Clerk:- 8059358101	-Roll PMS for/SCI
Sonto 897-0-1 V Principal Court College for Woman Toshym	1021554	453170/-	1. 90	231840/-		// 231840/-	•			Total amount of Student Share		221300/2/1	\	-1005425		-		Total amount of Student Share	:- 9416080615 L	BC/students for
or Woman	-44740			0		1200	A 256-0			Total Amount of Management Share		12-900 1-1					Share	Total Amount of Munagement		ts for the year
	-4531210/ UN	-453140/=	-	231840/-		231840/-				Total Amount of Claim	-	,22:H300/	- 1495	/1006725			I+	Total Amount of Claim		ear 20-10-1/

.

i,

	Pan No: RTK DDO Code:- (ss: chbansilalgcw C02398E	a Panal			for BC for		100			
	bbb code:- (0923									1
Sr. No.	Name of Student	Registration ID	Class	Father Name In English	I IFSC_CODE_of _Branch	Account_Number	Mainte riance Rate Per Month	Mainte nance _flum ber_Ct _Mont _hs	Total Maintena nce Allowanc e	•	Total Amount of Scholarship
1	Divya	PMSOBCF3425325	B.A. Ist	Lakhmichand	TAIL DALES AND					200	2100
2	Rinku rani	PMSOBCF4212591	B.A. Ist		ANDB0002966	296610100007532	210	10	2100	800	2100
_3	Bano devi	PMSOBCF7141399	B.A. Ist	Bhupender singh Rateal	STBP0000819	55155152493	210	10	2100	800	2100
4	Gayatri	PMSOBCF1947803	B.A. Ist	Rajpal Pawan	ST8P0000819 ST8P0000819	55155144867 55155152062	210	10	2100	800	2100
5	Geeta rani	PMSOBCF7452552	B.A. Ist	Dhoop singh	STBP0000819	55155152062	210	10	2100	800	2100
6	Ritika	PMSOBCF9095264	B.A. Ist	Dhoop singh	STBP0000819	55155151319	210	10	2100	200	2100
7	Pooja Yadav	PM50BCF5428497	BA Ist	Chotu Ram	STBP0000819	55155152562	210	10	2100	800	2100
8	Suman	PMSOBCF1434382	B.A. ist	Satbir singh	STBP0000819	55155146784	210	10	2100	800	2100
9	Poonam	PMSOBCF4702057	B.A. Ist	Devi lal	STBP0000739	55155580610	210		2100	800	2100
10	Priyanka	PMSOBCF5271143	8.A. Ist	Jai Parkash	STBP0000819	65212276986	210	_		800	2100
11	Bhateri	PMSOBCF0549160	B.A. Ist	Sultan	ST8P0000819	55155145544	210				2100
12	Anju	PMSOBCF2176549	B.A. Ist	Suresh kumar	STBP0000819	55155152437	210		1.		2100
13	Rekha	PMSOBCF0595533	B.A. Ist	Krishan kumar	STBP0000819	55155152618	210		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	and the second second	2100
14	Seema	PMSOBCF1682843	B.A. Ist	Suresh	STBP0000819	55155152540	210	_			2100
15	Sunita	PMSOBCF4403907	B.A. Ist	Dharampal	STBP0000819	65260830349	210			0 800	2100
16	Pooja kumari	PMSOBCF5662936	B.A. Ist	Bansilal	ST6P0000819	55155152255	21	_			210
7	Pinki	PMSOBCF7872180	B.A. Ist	Satbir singh	ST8P0000819	55149829554	21				0 210
8	Aarti	PM5OBCF3281710	B.A. Ist	Banshilal	STBP0000819	55155145077	21	-	0 210		0 210
9	Usha devi	PMSOBCF6572020	B.A. Ist	Gulab singh	ST8P0000819	55155152482	21	-	0 21		210
0	Jyoti	PMSOBCF0443650	B.A. Ist	Mahender singh	STBP0000819	55155146116	21	0	10 21		21
1	Surajmukht	PMSOBCF3708898	B.A. Ist	Sube singh	STBP0000819	55155145384	2	1			20 21
2	Suman rani	PMSOBCF2081601	B.A. Ist	Satyawan	STBP0000819	55155145293	2	10			00 21
3	Poonam	PM50BCF6646047	D.A. Ist	Tarachand	STBP0000819	55155145362					00 21

1 28		PMSORCID118211	U.A. [6]	Suresh yaday	ST00000819 ST00000819	65140903975						(14)
20	Suman rant	THE REAL PROPERTY AND A DESCRIPTION OF A	0.75 157	Mahender singb	ST0P0000819	55155140005			7100	803	2160	
30	Poola			Balwan singh	518P0000819	55155152696			2100	203	7100	1
31	Poonam rani	T WISUBLEGEORE	11.14.151	Santlal	ST8P0000819	5515514530c		and the second second	2100	803	2209	-
32	Soniya	100000 100 200	- ISI	Sathle	STBP0000819	22130152539	10		2100	800	2100	-
	Jogita	CIVISORCEADE	1-103-151	Bajbir stogle	578P0000819	23133152578	1/2	10	2100	008	2100	
33	Pooja rani	INISUBCE TRADE	Prich ISL	Ishwar singh	SUIM0002486		10	10	2100	800	2100	
34	Geeta rani	TWISUBCEBRCEALS		Sher singh	STBP0000819	201001200377	210	10	2100	800	2100	
35	Dipti	FRUSODCE9015000	141 111	Rom Rishon	ST0P0000819	20100151400	210	10	2100	800	210	
36	Jyoti Yadav	PINISOBCE7314330	B.A. Ist	Ram kishan	STBP0000819	55155146569	210	-10	2100	003	210	
37	Savina	PIMSOBCE733E143	B.A. Ist	Radheshyam	CBIN0280410	\$\$155146570	210	10	21/00	800	210	
38		PMSOBCF0655314		Naresh Kumar	ST8P0000819	3400883148	210	10	2100	800	210	
39	Monu	PMSOBCF1452376	B.A. Ist	Satbir singh		55155151472	210	10	2100	800	21	
10	Nicha	PMSOBCI 0973064	B.A. Ist	Jaipal	STBP0000819	55155152551	210	10	2100	003	21	
	Poonam Jangra	PMS00610973064	B.A. Ist	Satbir singh	STBP0000819	55155145758	210	10	2100	300		00
11	Parmila Devi	PMSOBCF3022306	B.A. Ist		SBIN0000647	32237470550	210	10	2100	800	_	00
2	Ompati	PMSOBCF4629434	B.A. Ist	Baljeet singh	SBIN0016566	36025903906	210			800		100
3	Shankuntla	PMS08CF3134710	B.A. Ist	Prem kumar	STEP0000819	55155145486	210	10	2100	_		100
4	Bhateri	PMSOBCF9870972	B.A. ist	Poonam chand	STBP0000819	55155145420	210	10	2100	800		100
5		PMSOBCF2889772		Prem singh	STBP0000819	55155151625	210	10	2100			
6	Lalita	PMSOBCF3904504	B.A. Ist	Chhabit das	5TBP0000819	55155145601	210	10	2100		_	2100
7	Kavita	PMSOBCF3520653	B_A_1st	Lilu ram	5T8P0000819	55155145805	_	10	2100			2100
-	Sushila	PMSOBCF3829515	B.A. Ist	Rajesh Kumar	STBP0000819	55155145373	210	10	2100			2100
8	Poonam	PMSOBCF3829515	B.A. Ist	Ramnivas	STBP0000819		210	10	1 210	3 80	0	2100
3	Pushpa	PMSOBCF6730070	B.A. Ist	Roshanial	and the second sec	55155152017	210	4150	210	0 80	00	2100
	Nisha	PMSOBCF4037494	B.A. Ist	Ramchander	ST8P0000819	65207370394	210	10	210	0 8	00	2100
		PMSOBCF5473693	B.A. Ist		STBP0000819	55155146467	210	10		_	00	2100
_	Pooja	PMSO8CF2407428	B.A. Ist	Mədan	5TBP0000819	55155145974	210	10		_	00	2100
	Vandana sharma	PMSOBCF1315118		Vazîr singh	STBP0000819	55155145781	210	_			00 1	2100
	Poonam	PMSOBCF3775878	B.A. Ist	Satyanaryan	ST8P0000819	55149818962	210				1 00	2100
89	Kiran	Ph4Concr3//58/8	B.A. Ist	Hawa singh	STBP0000819	55155145497	21					
		PMSOBCF3487718	B.A. Ist	Soni Ram	STBP0000819		-		0 21		1 003	2100
-	Pushpa rani	PMSOBCF0530621	B.A. Ist	Govind		55155144710	21	15. I I I	0 21	00	800 1	2100
+	Shashi	PMSOBCF8124425	B.Sc Ist (N M.)		ST8P0000819	65255274478	21	0	0 23	00	800	2100
	Indu bala	PMSOBCF0044853		Pawan kumar	CNR80004758	4758101000795	21	0	10 2	100	800	2100
	Monika	Phason creation and	B.Sc Ist (N.N. '	Pawan kumar	STBP0000819	55155145714	2	10		100	800	2100
•		PMSOBCF9119586	B.Sc Ist (N.M.)	Ramnivas	SBIN0016566	36025360794	-				S00 1	2100
	-164	PMSOBCF2016841	B.Sc Ist (N.M.)	Pamphal ?	PUNB0650500	650500010005513				100		
	Privanka	PMSOBCF7288208	B.Sc Ist (N.M.)	And a state of the	and the second second second		-			100	800	210
	Privatia Nisha Soniya kum	PMSOBCF0577898	D Salar (N.IVI.)	Satbir such	STBP0000819	65200349052	2	10	10	2100	800	210
	1 Aun	PMCODCF10377098	B.Sc Ist (N.M.)	Ajit singh	STBP0000819	65145139309	2	10	10	2100	800	210
59	Compiled_	PMSOBCF1677624	B.Sc Ist (N.M.)	Dwarka prasad	CRIN0280410	3373481879	1 5	210		2100	600	210
6	XYXX						-		10		000	

	T Deepak ku	marl PMSOBCF73840									(ie)
R	sa [Bhater	PMSOBC/73840	the second se	Bajosh chauhan	ST8P0000819	(1)01111			1022		e la
1	65 Bitu	PMSOBCI 18021		Rainal	518P0000819				2160	5/000	2100
E	66 Atuskan	PMISOBCE23-112		1 Demond all	518P0000819				7100	800	2100
	57 Peonam	PMSOBCT62899	The second se) Durgesh	ST8P0000819		210		2100	800	2100
6	s Suman	PMSOBCF96621		Dalwan clouds	S1BP0000819	55155146149	210		2100	800	2100
6		PMSOBCF02145		Bir singh	STBPD000819		210	10	2100	800	2100
71		PMSOBCF58788			PUNR0650500	6505000100037263	210	10	2100	800	2100
51		PMSORCTOICSS			STBP0000819	65202234732	210	10	2100	200	2100
72	treate suite	ri PMSOBCF214058	and the second sec		STBP0000819	55155146751	210	10	2100	008	2100
73	Urmila	PMSOBCF023167		Joginder singh	ST8P0000819	65144576077	210	10	2100	800	2100
74	Monika	PMSOBCF510977			STBP0000819	55155145464	210	10	2100	800	2100
75	Neelam	PMSOBCFS48023			ST8P0000319	55155145260	210	10	2100	800	2100
76	Pallavi	PMSOBCFS61984	Contraction of the second s		ST8P0000819	55155145204	210	10	2100	800	2100
77	Pooia	PMSOBCF007657		Mahavir prasad	ST8P0000819	55155145215	210	10	2100	800	2100
78	Neelu	PMSOBCF007657		Netram	STBP0000819	65206414381	210	10	2100	800	2100
79	Anju	PMSOBCF169810		Balbir	ST8P0000819	55155146762	210	10	2100	200	2100
SO	Anu	PMSOBCF238299		Balraj	PUNB0019700	0197000102407690	210	10	2100	300	2100
51	Santosh	PMSOBCF813553		Dharmbir	ST8P0000819	55155146489	210	10	2100	800	2100
2	Seema verma	PMSOBCF374946		Giriver	ST8P0000819	55155151433	210	10	2100	800	2100
33		PMSOBCF472696		Ramavatar	ST8P0000819	55155145113	210	10	2100	008	2100
	Seema	PMSOBCF1507190		Lilaram	STEP0000819	65200998347	210	10	2100	008	2100
4	Jyoti	PMSOBCF8996256		Suresh kumar	STBP0000819	55155145431	210	10	2100	800	2100
5	Devki	PMSOBCF7282756	B.Com Ist	Radheshyam	ST8P0000819	55155151921	210	10	2100	800	2100
6	Rekha	PMSOBCF3940855	B.Com Ist	Phul kumar	PUNB0105300	1053001500071595		10	2100	800	2100
7	Manju Rani	PMSOBCF1607961	B.Com Ist	Saljan Kumar	STBP0000819	55155151910	210	10	2100	800	2100
3	Sushila	PMSOBCF0709335	B.Com Ist	Ramkishan	58IN0016566	34126554829	210	10	2100		2100
1	Meena Devi	PMSOBCF3442465	B.Com Ist	O 2521115 State Failty 2005	United and the state of the state		210	-			2100
1	Nisha kumari	PMSOBCF9762442		Krishan kumar	STBP0000819	5515151885	-		2100		
+	Statist of the state		B.Com Ist	Roshanlal	STBP0000819	55155145918	210				1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
+	Manisha	PMSOBCF5508287	B.Com Ist	Ramphal singh	STBP0000819	65209742284	210	-	2100		
1	Priti	PMSOBCF6245175,	B.Com Ist	Subhash chander	PUNB0109600	1096001500114734	4 210	10	210	0 800	
	Neha	PMSOBCF1801852	B.Com Ist	Paldeep singh	STBP0000819	55155146456	210) 10	210	0 50	2100
1	Manisha	PMSOBCF1229849	B.Com Ist	Omparkash	STBP0000819	65203401283	210) 10	210	0 80	0 2100
	Reena	PMSOBCF4138454	B.Com Ist	Satbir singh	ST8P0000819	65216540926	210		S. 200		0 2100
	Lalita	PMSOBCF5048989	M.sc1st(Geo.)	Satbir singh	ST8P0000819	65126336322	210		0 210		
-	Babita	PMSOBCF1544972	M.sc1st(Geo.)	Jaibir Singh	STBP0000819	65174875607	21	21. 11.12	0 210		
	Pinki	PMSOBCF5011147	M.sc1st(Geo.)	Suresh kumar	ST8P0000819	65134490862	21				00 2100
	Mamta	PMS08CF3011147 PMS0BCF3335669	M.sc1st(Geo.)	Rughbir	STBP0000819	65134490862	21				00 210
	Nisha	PMSOBCF7646278		Maru Ram	PUNB0678600						
	12-14 TEND 27	THURSDAY AND ADDRESS A	B.A.2nd	Publication and a state	Solution and the second strength	678600150000769		100	1992		Contraction (Contraction)
_	Renu	PMSOBCF2566940	B.A.2nd	Sube Singh	STBP0000819	65241054378	21	0	12 25	520 8	300 252

1	orT Sweta Jange		B.A.2nd	Vinod	STBP0000135	65181074437	AND THE	-	2520	200	2520
11		PM500CF7100886	D.A.2nd	Rajender	STBP0000135	565181534689			2520	800	2520
10		PMSOBCF2950553	B.A.2nd	Boshan Lal	ST8P0000819	65240759174		12	2520	800	2520
10		PMSOUCF5259172	B.A.2nd	Krishan Kumar	ST8P0000819	65236755916	210	12	2520	800	2520
107		PMSORCF4956620	B A.2nd	Bamchander	STBP0000819	65236755836	210	12	2520	800	2520
108	e e a title	PMSOBCF7869712	B.A.2nd	Amarchand	PUNBOHGB001	80091700076949	210	12	2520	800	2520
109		PMSOBCF6446148	B.A.2nd	Bharender	STBP0000819	\$5155149718	210	12	2520	800	2520
110		PMSOBCF4410135	B.A.2nd	Bharender	PUN80650500	6505000100045688	210	12	2520	800	2520
111	Kavita Rani	PMSOBCF2583892	B.A.2nd	suresh	ST8P0000819	65241209028	210	12	2520	800	2520
112	Manju Bata	PMSOBCF0455230	B.A.2nd	Haripal Singh	ST8P0000819	65158814042	210	12	2520	800	2520
113	Seema	PMS08CF0729009	B.A.2nd	Jagdish	STBP0000819	652403976144	210	12	2520	800	2520
114	Diksha Verma	PMSOBCF1463848	B.A.2nd	Sumersingh	STBP0000819	65240514112	210	12	2520	800	2520
115	Savita	PMSOBCF5120393	B.A.2nd	Subhash Chander	STBP0000819	65240303586	210	12	2520	800	2520
116	Ritu	PM50BCF5760393	B.A.2nd	Balraj Singh	PUNBOHGB001	80171700102272	210	12	2520		2520
117	Tinu	PMSOBCF8266985	B.A.2nd	Bajrang	ST8P0000819	55155149571	210	12	2520	800	2520
118	Priyanka	PMSODCF5255260	B.A.2nd	Surender	ST8P0000819	65241181534	210	12	2520	800	2520
119	and the second se	PMSOBCF8575949	B.A.2nd	Murari lal	STBP0000819	65240397418	210	12	2520		2520
120	Bhawana Priyanka	PMSOBCF5101641	B.A.2nd	Rajender	STBP0000819	65240998486	210	12	2520	800	2520
121		PMSOBCF5847910	B.A.2nd	Rajender	STBP0000819	65241055713	210	12	2520	800	2520
122	Neeraj Yadav	PMSO8CF6829997	B.A.2nd	Bajrang	STBP0000819	65241209244	210	12	2520	800	2520
	Saroj Kumari	PMSO8CF9179836	B.A.2nd	Ramniwas	5TBP0000819	65114628138	210	12	2520	800	2520
123	Babli	PMSOBCFS503592	B.A.2nd	Bamkishan	ST8P0000819	65259678295	210	12	2520	800	
124	Poonam Kumari	PMSOBCF3465001	B.A.2nd	Hawa Singh	STBP0000819	65242949197	210	12	2520	800	2520
25	Poonam	PMSOBCF4264360	B.A.2nd	Awatar Singh	STBP0000819	65241187332	210	12	2520	800	2520
26	Meena	PMSOBCF7271002	B.A.2nd	Narsingh	STBP0000819	65241492459	210	12	2520	800	2520
27	Reena	PMSOBCF1946687	B.A.2nd	Sher SINGH	ST8P0000819	65240758614	210	12			2520
28	Rekha	PMSOBCF9158831	B.A.2nd	Gutiya Ram	STBP0000819	65240998248	210	12			2520
29	Jyoti	PMSOBCF7764919	B.A.2nd	Nandkumar	STBP0000819	65234784586	210	-	77-1-100		2520
30	Babita	PMSOBCF1442359	B.A.2nd	Subhash kumar	ST8P0000819	65240998146				in and a second	
11	Nisha Kumari	PMSOBCF1303051	B.A.2nd				210				
2	Sangeeta	PMSOBCF4646141	B.A.2nd	Krishan	STBP0000819	55155149504	210				
3	Usha	PMSOBCF7540693		Hanuman	ST8P0000819	65240758455	210	12	252	0 800	
4	Kavita Rani	PMSOBCF0442553	B.A.2nd	Bhal Singh	STBP0000819	65157307258	210) 13	2 252	0 80	0 2520
5	Pinki		B.A.2nd	Pratap	STBP0000819	65157307189	210	1	2 252	0 80	0 2520
5		PMSOBCF9865665	8_A.2nd	Mangtu Ram	PUNB0678600	67860015000018	70 21	0 1	2 252	0 80	0 2520
	Sonia Rani	PMSOBCFS844281	B.A.2nd	Rajesh Kumar	STBP0000819	65241351756	21	-	Z 1		
-	Pinki	PMSOBCF6520483	B.A 2nd	Balwan Singh	STBP0000819	55155149810	21	-			2520
16	Priyanka ,	PMSOBCF6296732	B.A.2nd	Satyavir	STBP0000819	65240397496	-	-		- 111	55
1	Pinki Rani	PMSOBCF9873742	B.A.2nd	Radheshyam	CONTRACTOR OF A	The second second second second	21		2 25		00 2520
	Neha Rani	PMSOBCF9342073-	B.A.2nd	Satyawan	STBP0000819	65243564536	23	0	12 25	20 8	00 2520
100			MARTINE IN M	satyawan	STBP0000819	55155149821	2:	0	12 25	20 8	00 252

	Peronam Sant	PMSOBCE5328710	B.A.2nd								(
	Nokesh Kuman	PMSCHCL0705988	0.A.2nd	Santial	STRP0000819	65241186054	the second second			800	520
1 644	Menika	PM5OBC17394930	B.A.2nd	Narsingh	STRP0000819	65175439749		12	7520		1520
144	Pooja Verma	PMSORCI0250676	1.A.2nd	Jaiparkash	5THP0000819	652255534538		12	2520	800	2520
146	kaushalya	PMSOBCT 1398657	B.A.2nd	Sankarlal	STBP0000819	65740397430	24.0	12	2520	800	2520
140	Savita	PMSORCI 2495250	D.A.2nd	Dayanond	STUP0000819	65240303020	210	12	2520	18/0/0	7520
148	Poonam	PM508CF6067934	B.A.2nd	Roshan Lal	STRP0000819	55155150213	210	12	2520	6V19	2520
149	Poonam Rani	PMSOBCF2813172	B.A.2nd	Gaje singh	STBP0000819	65260830327	210	12	2570	003	2520
150	Anita	PMSOBCF4809118	B.A.2nd	Surender Singh	5180000819	55155149707	210	12	1520	008	1520
	Usha	PMSOBCF9378238	B.Sc 2nd (Med.)	Ishwar Singh	STEP0000319	55155149559	710	12	2529	800	2520
151	Seema		B.Sc 2nd (Med.)	Preetam Singh	STBP0000819	65170759741	210	12	2520	800	2520
152	Reena	PMSOBCF7548327	B.Sc 2nd (Med.)	Haripal Single	PUNBOHGB001	81470100054440	210	12	7520	800	2520
153	Jyoti	The second se		Rai Singh	STBP0000319	55155149876	210	17	2520	200	2570
154	Priyanka	PMSOBCF5660777	B.Sc 2nd (Med.)	Sube Singh	5BIN0016566	20775095770	210	12	2570	800	2520
155	Mamta Bani	PMSOBCF5892198	B.Sc 2nd (N.M)	Mukesh Kumar	578P0000819	65240514054	210	12	2520	1 800	2520
156	Rekha Devi		B.Sc 2nd (N.M)	Balwan Singh	STBP0000819	65241081482	210	12	2520	800	2520
157	Sweety	PMSOBCF6546936	B.Sc 2nd (N.M)	Suresh Kumar	STBP0000819	65240334447	210	12	2520	500	2520
158	Jyoti Yaday		B.Sc 2nd (N.M)	Ramber Jangra	ST6P0000819	55155150235	210	12	2520	800	2520
159	22411-11	PMSOBCF6269770	B.Sc 2nd (N.M)	Sajjan Kumar	STBP0000819	55155149694	210	12	2520	800	2520
160	Heena	PMSOBCF2034744	8.Com 2nd	Bhanu Ram	STBP0000219	81471700035817	210	112	2520	800	2520
	Ritu	PMSOBCF7253877	B.A.IIIrd	Sultan	PUNBOHGB001	65209040013	210	12	-	800	2520
161	Sonam	PMSOBCF6121198	B.A.IIIrd	Ashok Kumar	STBP0000819	65203049012	210	12	_	003	2520
162	Minakshi	PMSOBCF0010288	B.A.IIIrd	Ramavtar	STBP0000819	65204960591	210	12		008 0	2520
163	Sharda	PMSOBCF6591715	B.A.IIIrd	Puran singh	ST8P0000819	65204920569	210	12	_	003 0	2520
164	Darshna	PMSOBCF4320668	B.A.IIIrd	Rajender singh	STRP0000219	80210100109785	_	1 12		0 500	
165	Mamta	PMSOBCF8571630	B.A.IIIrd	Ransingh	PUNBOHGB001		210				2520
166	Monika	PMSOBCF9492845	B.A.Illed	DilbagSingh	STBP0000819	65203963435	210				2520
167	Pooja devi	PMSOBCF7342484	B.A.IIIrd	Roshan lal	ST8P0000819	65205535088	210	_		0.03 / 01	252
		PMSOBCF0153421	B.A.IIIrd	Ramchander	ST8P0000819	65205591429	210	_			252
168	Suman		B.A.IIIrd	Ravinder Singh	STBP0000819	65210114121	-	-		10.00	252
169	Varsha	PMSOBCF1758052		Suresh kumar	STBP0000819	65204198020	210	_	-		257
170	Sunita rani	PMSOBCF8850431	B.A.IIIrd	Surender Singh	5T8P0000819	65203955673	210	_	-	20 800	25
171	Geeta Devi	PMSOBCF0234880	B.A.Ilird	the second se	STBP0000819	65205603549	210	_			25
172	Seema	PMSOBCF7447850	B.A.IIIrd	Gajanand	STBP0000819	65201088677	210			20 300	25
	Sunita rani	PMSOBCF8357084	B.A.IIIrd	Ransingh	STBP0000819	65204195563	210	_	_	12.4	
173		PMSOBCF2001943	B.A.IIIrd	Mahiram	ST8P0000819	65200990369	21	-		14.4	
174	100 - 110 - 110 - 110 - 110 - 110 - 110 - 110 - 110 - 110 - 110 - 110 - 110 - 110 - 110 - 110 - 110 - 110 - 110	PMSOBCF6645542	B.A.IIIrd	Shamsher Singh		65203928457	21			920	
175	Sunila Devi	PW500CF1462000	B.A.IIIrd	Balwan Singh	STBP0000819	65203593199				320	¥ 1 3
176	Bashanti	PMSOBCF1462980	B.A.IIIrd	Leela Mohammad	STBP0000819	65204196758		0		520 80	10
177	Nirmala Devi	PMSOBCF9109494	B.A.IIIrd	Vinod Kumar	STBP0000819	65207975617		10	12 1	520 8	00
	Maniu Badi	PMSOBCF0953910		Roshan Lal	STBP0000819	65207975617					
79	Sukhmati	PMSOBCF6560668	· B.A.IIIrd	Dearrant and							

100 Mar	Re/rant	PMSOBCE2157408	1								
1.183	Anju Ront	PMSOBCF9493472		Rohtash Singh	STRP0000819	65204210367	Z10	-	2522	809	1520
182	Gulbane	PM50BCF4474662		Sajjan Kumar	STBP0000819	65201406537	7.10	12	2570	8/5/2	1520
183	Kavita	PMSOBC/ 3293448	and the second second	Santlaf	ST8P0000819	65204196124	210	12	2570	1900	2520
184	Babita	PMSOBCF9828341	100 100 100 100	Jangvir Singh	PUMBBHG8001	81471700035808	210	12	2520	860	2520
185	Urmila	PMSOBCF6870128	B.A.IIIrd	Ramkumar	ST8P0000819	65205534460	210	12	7520	800	2520
186	Mamta		B.A.IIIrd	Balwant Singh	STBP0000819	65209437704	210	1.7	2520	300	2520
1871		PMSOBCF0148906	B.A.IIIrd	AttacSingh	57BP0000819	65204904521	210	12	2920	800	2520
	Sunil Kumari	PMSOBCF9891905	B.A.IIIrd	Balwan Singh	STBP0000819	6\$203931390	210	12	12020	350	2520
88	Pooja	PMSOBCF2042529	B.A.IIIrd	Balwan Singh	STBP0000819	65204961562	210	12	2520	100	2520
89	Manju Rani	PMSOBCF2044425	B.A.IIIrd	Mahender Singh	STBP0000819	65203797841	210	12	2520	000	2520
90	Pritma	PM50BCF1229287	B.Com Ilird	Raibir Singh	STBP0000819	65204536071	210	12	25.20		2520
91	Sarita	PMSOBCF6630206	B.Com Illrd	Ghanshyam	ST8P0000819	65210114563	210	1. 12	1 2520	1 104.4	

	man Consideration Trincipal Mebile Ito : Fresh Cases	5596405724			Diffice Clerks-2059350100	lienros -		4 5 - 5	
51. No	Particolars	No. of Students		Student	s Share	Total emplained Student Wate	of Montheaters	Tinta) of	ine Lie
i	Boys (Day Scholar)	Ataliat	enance Allowanco	<u>- 11</u>	Tee paid by Studenic (ir sny)				11
2	Boys (Hostrier)	1 3124-0	and the second s	-			- 19 A	1	-
3	Girls (Day Scholar)	. 63	- 65x2100-13050	1-1-200		-136500/		1-0	1650
4	Girls (Hosttler)					1. 7.5		+-	Heb
2.3	Total (a)	-4575	5 1297	So	Bint State	_136500/-	1	12	1
For	Renewal Cases	1		이 나라 같은				1. A.	1
SI.	Particulars	No. of Students		Student	s Shaor	Fotal amount o Student Shard	Total Amount of Managemen Single		4147 - 01
			Mainencaune Mlowanie		Fee paid by Students (if any)_	1	· ···································	154-	1
1	Boys (Day Scholar)	C and	·	there is a				-	+
2.1	Boys (Finstriec)	the states	1		a fill and the second second	604802-			71
73]	Girls (Day Scholar)	22 2.2	Partheustellar			- BOILERS	Contra to the	-	101
-dr	e e fa fa para da seguina da segui		5796- 3	127°	1 - 1 - 1	mant		47.1	-
1.1	- Toral (b)	1 - 7 2.30			1 <u> </u>			215	T
ij.,		\sim			- 4- 4- 187°	5 19			í.
- 6	Grand Total (a+b)		5-1-1-1-		1 - tof a latering			- 1	ſĽ.
1	80¥5	145	11 00 -	4	1 19-5-	~196980/=		-	1
1-	Girls			-57				1	
100 2005	tul amount of	建しる	-1879 1879	1	1	196980/		9 at	1
Sch	olarship	1	A 2		-Additor	Sunit. 5	36.3.18		T
101	ature of Nodal Officer	£ -	Ord et -		Olo Director Higher Educal Ponchkula	anAppropriate	incipal	20	
1.500	ature of Nodal Other				Pauchkula	Ch. Bansi	Lal G.J.W.	3 Y	26

and the

Scanned with CamScanner Scanned with CamScanner

Ch. Bansi Lal Govt. Co nsilalgcwtoshan	For Scholars		ne for B	C for the Yea					(20)
98E		DDO P	an No. AA	AGC0601C					
h :- SBI, Toshar		Inchase		100001C					
- SBIN0050819		enarge (ontact N	0.9466086788					
0:- 651720675;			DO Code		1				
Applicant Name	Class	Roll No.	Date of Birth	Father's Name	Account Number	Aadhaar Number	Date of Admission	Total amount of schol arship	Applicatio Status
AJANTA DEVI	B.A I	1353620040	1008 10 21	KARAN SINGH	(202000000000000000000000000000000000000		2100	Verified
MONIKA	B.A I	1353620030		MAHENDER SINGH	36996201470 65244867541	A CONTRACTOR OF A CONTRACT	2017-07-18	2100	Verified
KANTA	B.A 1	1353620168		KEHAR SINGH	1996104000011320		2017-07-18	2100	Verified
ALOOA	B.A I	1353620071	2000-03-02	and the second	3214523325	703657312777	2017-07-18	2100	Verifie
SUNITA	B.A I	1353620117		PAWAN KUMAR	295610100018705	309560556551	2017-07-18	2100	Verifie
TARUN	B.A I	1353620102	2000-03-01	RAJBIR SINGH	296610100018671	922877295943	2017-07-18	2100	Verifie
SUNITA	B.A.I	1353620185	1999-01-11	OM PARKASH	65247432823	254601685502	2017-07-18	2100	Verifie
RINKU	B.A I	1353620074	1999-08-13	SUBHASH	36957562035	478957675025	2017-07-18	2100	Verifie
KIRAN	B.A I	1353620253	1999-09-19		80171900028657	630693353580	2017-07-18	2100	Verifie
SAVITA	B.A I	1353620263		VINOD KUMAR	80170100115080	252933033234 585732172587	2017-07-18	2100	Verifie Verifie
AARTI	B.A I	1353620025	1999-07-09	RAMESH	55155150553 296610100018963	880975321870	2017-07-18	2100	Verifie
SUMITRA DEVI	B.A I	1353620257		BALWAN SINGH	6505000100037270	911401302103	2017-07-18	2100	Verifie
POOJA	B.A I	1353620195		MUKESH SONI	65206414381	577874099879	2017-07-23	1890	Verifi
POOJA	B.A 1	1353620290		SUBHASH CHANDER		907887348724		2100	Verifi
POOJA	B.A.I	1353620116			9311000100002010	423641002588	2017-07-18		Verifi
	B.A 1	1353620123		RUGHBIR SINGH	4758101003213	657470599377			Verifi
. JYOTI	B.A I	1353620127		VINOD SINGH	65207178690	261099138789	2017-07-18		Verifi
PRIYANKA SONU	B.A I	1353620055 1353620148	1	4 DHARAM SINGH	9311000100005160	661407666891	2017-07-18	2100	Verifi

Scanned with CamScanner Scanned with CamScanner

JHA	B,A I		and the second se		And Designed	-			9
MILA KUMAR	B.A.I	1353620124	001-05-19 VUENDER		A COLORADOR	-		Verified	
SONIKA	B.A.I	1353620139	001-05-19 VUENDER			7,18	2100	Verified Verified	1
ITOYL	8.A.I		998-12-25 KRISHAN KUMAR 998-03-05 DESUBAL	1096001500116230 3	38551763178 20	017-07-18	2100	Verified	1
SEEMA	B.A.I	1353620320 1	998-03-05 DESHRAJ		178016368061 2	017-18	2100		-
MAMTA		135365	PARTICIPAL STATUTE	the second s			2100	ritied	-
MENKA	8.A 1	1353620047	2000-04-15 SAJIAN SINGH				2100	ratified	-
LAXMI DEVI	B.A I	1300-					2100	varified	
SUNITA	8.A (135307	1995-02-10 MAHABIB CHUGH	20159153967			100	Ustilieu	
	B.A 1		1220-07-10 (SANT) AI		the second division in the local division of		2100	Marifies	
MINAKSHI RANI	B.A I	10000	2000-01-31 LEELU RAM	80201700071080	and the second se	2017-07-23 2017-07-18 2017-07-18	2100	Verifie	-
RITU	B.A.I		2000-09-17 SURESH KUMAR	36950042056	771090025237			Verifie	
ANITA	B.A I	The second s	1999-02-13 SURENDER	35146622223	206586168732			Verifie	and l
SITA	B.A. 1	1353620079	1999-09-09 SURESH KUMAR	80210100089184	985036934242	2017-07-1			eu
ALOOA	B.A I	1353620229	1998-01-12 RANIEET SINGH	81471700035136	214847394499	1 2017-01-4			ad
PRIYANKA		1353620310	1997-07-26 MANGE BAM	80091700089518	442265031671 873815723036	1 3017-07-1	3	yeni Veri	Ford
	B.A I	1353620078	1999-01-25 TELU RAM	4758108001571	482571739209	1 2017-07-	10		fied
LALITA	B.A 1	1353620255	1998-08-19 OMPARKASH	34124964167	234960976520	5017-07-	13		ified
POONAM	B.A 1	1353620267	2000-02-02 SATPAL	36961175358 80791500000352		1017-07	10	- I Ver	nfied
POOJA	B.A 1	1353620145	1999-08-01 SUKHBIR	19961040000521		n 1 3017-07		20	rified
JYOTI	B.A.I	1353620133	2000-02-05 RANBIR	55155145758	35328347724		23 25	20 Ve	rified
MONU	B.A II	943410022	1998-02-15 JAIPAL		B415413838		5.09 l	120	erified
OMPATI	B.A II	943410092	1998-07-07 POONAM CHAND	55155145511	3583605657		5.25 1 -	520	erified
SUMAN	B.A II	943410073	1997-11-29 OM PARKASH	55155152067	594789676		16-15 1 4	340	rified
	B.A II	943410039	1998-08-01 PAWAN	5515514486			16-21 4	320	/erified
GAYATRI	B.A II	943410179		5515514580		2010	06-20	1520	Verified
BANO DEVI	B.A II	943410005	1998-09-10 LILU RAM 1998-12-28 RAMESH KUMAR	5515514592	CALCORDS.		06-27	1320	Verified
LALITA	B.A II	943410221	1998-02-12 SH BHUPENDER	SING 5515515249		5930 2015	-06-19	2340	Verified
NEELAM		943410243	1998-02-12 SH BHC 1998-04-10 SURENDER			10870 2013	100.00	2520	Verified
RINKU RANI	B.A II	1200	1998-04-10 SORE TEL 1996-12-10 RAM KISHAN	652596782		03537 1 201	5-06-05	2520	Verified
TINU	B.A III	1166	1996-12-10 INAM SINGH	657414924	P103234	00627 1 203	5-06-05	2520	Verified
	B.A III	1129	1997-10-25 MAR 51NGH	65175409		229470 20	15-06-16	2520	Verified
BABLI	B.A III	1128	1997-10-14 1000 SURESH	65241209	502085	605014 20	15-06-12	2520	Verified
MEENA	B.A III	1010	1996-09-30 SURESH	55155149	120.	2661564	117-07-18	2100	Verified
MUKESH KUMA	B,A III	1214	1990-02-11 KRISHAN 1994-09-11 KRISHAN 05 1999-02-26 DALBIR SINGH	3536732	3101	2226263 2	017 07-18	2100	Verifier
ANITA	BAIII	13538200	05 1999-02-20 UNCONT	3695720	10.765	1989771	017-07-18	2100	verme
NISHA KUMAR	B.Com-I	13538200	05 1999-02-20 DAME 29 2000-05-20 SHRI NIWASH	H 17581010	005255 1.105				
PUSHPA	B.Com-I	13538200		and a strength of the					
PUSHA BAN	II B.Com-I	13556200							
MANISHA RAN	8.000								
POONAM				1					
			and the second se	0.000					
~			and the second se						
N							1.1		
		57°				1.00	100		

VEENA RANI	B.Com-1	353820043	198-06-15	MAAN SINGH			-			T	Verifie	d
	B.Com-I				678600150001	10101 4	443-1-1-1	107	18 7	100	Marill	3.1.
NAMITA	B.Com-I	353820020	1999-01-27	SUREMONAR	650505010004	5950 6	546314057613	2017-07	1.18	2100	Maril	60
NANITA	B.Com-1	353820020 1353820011	1999-06-03	MUKESH KUMAR SURENDER SINGH BALRAJ	8021190003	5873	355608936643	2017.0	1.2.	2100	Verif	lea l
SUSHILA	B.Com-II				8148190000	0273	830030711277	3517.0	1-1-	7100	Ven	fied
PUSHPA *		943610024	2000-12-30	SOMBIR SINGH	36983200	324	189065293129	1 2017-5	1/ 11-	2100	1 100	ified
ITOYL					8147190001		878833606543	1 3017.1	01-1-	2520	Ve	nfied
MAYA		943610066	+= 20-00-10	IDEVITAL.	34126554		565153765477	1. 10.25	06-21	2520	110	rified
PRIYANKA		1456420037	7338-10-16	SURFSH VITAAO	6505000100 \$515514		584150726170	1 3016	06-13	2520	V V	eritied
SANGEETA		1466420043	1 4001-03-1	JISARIFET	0197000107		and the second state of the local state in	11 2017	1-07-23	210		erified rerified
	moc.(inigal(al)-	1466420001		8 JASVIR	2044642	Contraction of the second	6203225743	101 101	7-07-13			Verified
SARITA	B.SC.(Medical)+	1466420019		S BUENDER	80051900	018254	9120086604	10 201	7-07-18		10	Verified
KAVITA	B.Sc.(Medical)-I	1466420047	the statement of the st	2 RAVINDER	652419	28984	4744655847	51 20	17-07-18 17-07-23		00	Verified
POONAM DEVI	B.Sc.(Medical)-I	1466420032	and the second se	15 SATYWAN	371390		755686114	705 20	17-07-18		00	Verified
ITOYL	B.Sc.(Medical)-I	146642000		29 TARACHAND	8036010		331966808	411 1 20	17-07-0	8	100	Verified
MONU	B.Sc. (Non-Medical)-I	145612005		10 NARESH KUMAR 25 BALWAN		474297	78166404	2 1 200	017-07-1	8 .	100	Verified
KAMINI	B.Sc. (Non-Medical)-I	145612003		-03 MANGAL SINGH		429568	29225525	3073 1 7	017-07-	13 -	2100	Verified
SAPNA	B.Sc. (Non-Medical)-I	146612001	about the second se	-07 ROHTASH		220169	3532252		2017-07-2017-07-		2100	Verified
SEEMA RANI	B.Sc. (Non-Medical)-I	146612005	_	-10 SH AJIT SINGH		000308			2017-07	-23	2100	Verified Verified
SONIA	B.Sc. (Non-Medical)-I	-	65 1999-03	3-12 BALIEET SINGH		187674	1 7857332		2017-07	-18	2100	Verified
ITOYL	B.Sc. (Non-Medical)-1		01 2000-1	1-30 RAM CHANDER	109600	1700016	the second s		2017-0	7-18	2100	Verified
	B.Sc. (Non-Medical)-I	14661200	43 2000-0	1-01 DHARAMPAL		3673067 3400410	the second design of the secon	334095	2017-0	7-13	2100	Verified
URMILA	B.Sc. (Non-Medical)-	14661200	41 1999-1	2-17 JAIBIR		1551467		7957260	2016-0		2520	Verified
RAKHI	B.Sc. (Non-Medical)-	10586100	1998-0	6-06 SURAT SINGH		1551457	714 73504	5171745	2016-0		2520	the street
PREETI DEVI	B.Sc. (Non-Medical)-	1 1020010	A CONTRACTOR OF TAXABLE AND A	09-01 PAWAN KUM 07-05 ROSHAN LAL		155145	260 2099	10909835	2016	06-05	2520	10.00
INDU BALA	B.Sc. (Non-Medical)- B.Sc. (Non-Medical)-	1 1054010		06-27 PAWAN KUN	AR 47	5810100		90617083		-06-12	2520	and the second se
MONIKA	B.Sc. (Non-Medical) B.Sc. (Non-Medical)		10005	01-19 DURGESH	1	5155146	2344	5670731		5-06-24	252	0 Verifier
SHASHI	- (Man-Medical)	-11 444	10033	-06-15 RAMHER JA	NGRA	524099	4447 321	10544043	La La sate			
MUSKAN	B.Sc. (Non-Medical) B.Sc. (Non-Medical)	-111 3620	1997									
SWEETY	B.Sc. (Non-110											
ــــــــــــــــــــــــــــــــــــــ												
×	0											

Scanned with CamScanner Scanned with CamScanner

							(23)	
							\cup	
~								
a		Excel Performa for	Summary	N A A A A A A A A A A A A A A A A A A A	C students for the year 2018			
	ħ	lame of Institution:- Ch.	Bernite	or Award Roll PMS for B	C students for the year 2018	-19		
1000 miles	Ē	mail: chbaosilalrowtesh	Bern (C)	WTashani	DDD Code :- 0023			1978 I
uppetin 121	- it	rincipal Mobile No. 9	996405724	tam	Findal Officer Mobile No 54666 Office Clurk - 8052358101	16G7 61		Company and the last
and started in the		Fresh Cases			1 1011102 LININ- 6052358101		and the second sec	Eleter and
t algorithe d'Recht and	FUL	riesh cases		The point receipt	the state of the second state	Contract Bully	Total Amount	Inter Amount
A State of the second	Sr	Particulaests She	No. of	THE LAS, BURN SILE JUST AT 1	Total ranus preparation	it that amount of	of Manageria	
- investments	Nö	1 - Control of the second second	Students	Studes Studes Stude	ntvohare 2	Student Share	Share	i+11
1.2 1			16aint	enance Allowance	Fee paid by Students (if any)			
	1	Boys (Day Scholar)						140700/-
	2	Boys (Hostrier)			Carlo and a state	140700/-		-
	3	Girls (Day Scholar)	67	67x2100=140700/+		-	-	1-0700/-
	4	Girls (Hosttler)			1	140700/-		
The state of the s		Total (a)	67		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			
And a second	For	Renewal Cases	and the second				Barris and State	setal Altre
and the first first	60	1. Ford (9)[]	0.375	W. 8.2. 8 1	in Bellin and Server Serve	Total amount of	et Managemunt Share	of Claim
2 S	Sr.		No.of	Stud	ents Share	Student Share	2000	
3.0 1 2 3	No.	Particulars	Students	Mainencance Allowance	Fee paid by Students (If any)	1	100	10
		Boys (Day Scholar)	1000	Internet and a second s				1260207+
	1	Boys (Hostrier)		14		1260007-		12:02:07
	2	Girls I Day Scholar)	50	50x2520×126600/-	100 Table 100			110000/-
	4	Girls (Hosttier)		1		126000/-	0	110000
	-	Total (b)	50					
	_				di sa kata		1	1.
		Grand Total (a+b)		10.5	Variable Service	76n100-	10.00	266700/-
	i	Boys	- 10-	(117.) E.	N		the second se	200140/-
	- 21	Girls		COMAY STOR	Contraction of the second s	266703/+	1	250700/
	- 51	Total amount of		266700/- L		Su.	with the	
177 A R	- 64	Scholarship				Signature offer	Baysi Lat 0.0	
	2.1	Signatule of Nodal Offic	C CTC+	0/Clerk	And the state of the state of	Ch.	Baysi Lal Q.C	W

Scanned with CamScanner Scanned with CamScanner

BC SCHOLARSHIP STUDENT DETAIL for the Session 2018-19 FRESH STUDEN Class No. of Students B.A. Ist 54 B.Com Ist 01 B.Sc Ist Non – Medical 06 B.Sc Ist Medical 06 Total No. of Fresh Students:- 67 THE REAL RENEWAL STUDENTS:-B.A. Ind VCENT 24 B.A. Illrd-09 B.Com Illrd 01 B.Sc Non - Medical IInd 03 B.Sc Non "Medical Illrd 05 B.Sc - Medical Ind 07 official Total No. of Renewal Students :- 50 ter záklak Kelki G. Total of BC Scholarship Students = 67 (Fresh)+ 50 (Renewal) = 117 Students -0.043 Vodal Officer 19 - Hechier Bans G.C.1 Jshick in dici loc 17 BIL dictiers, 1 7Ci che 12 C 4

Scanned with CamScanner Scanned with CamScanner

Ch. Bansi Lal Government College for Women, Tosham

Detail list of the students awarded scholarship under the Scheme

"Freedom Fighter" 2014-15 to 2018-19

Ð Scholarship of Freedom fighter n.K session 2014-15 Father's Na Class Roll no. Amount Name sr.no. 1 Kiran Bala Ramphal B.A. final 14000 1113 2 Renu Kuma Ramphal B.A. final 1118 14000 .

Session 2015-16

Nill

Freedom Fighter Scholarship Session 2016-17 Father's name Class Amount Name Dalbir Singh B.A.1st 14,000 Rachna Session 2017-2018 Father's name class Amount name Dalbir Singh B.A. 2nd Rachna 14,000 Session 2018-2019 Name Father's name Class Amount Rachna **Dalbir Singh B.A.final** 12,000 Asha **Dalbir Singh** B.A.1st 12,000 Priyanka Rajbir B.A.1st 12,000

x

Ch. Bansi Lal Government College for Women, Tosham

Detail list of the students awarded scholarship under the Scheme

"Fresh Award of Haryana State Merit Scholarship" 2014-15 to 2018-19

Filza	h award of Haryana S	Y)	ship Scheme Ses	csion 201 5/72-20 15	
	nill /	Session 2015-2	016	· 、 /	
	Name	Class	Roll no.	amount	
Sr.no	1 Suman	B.A.1st year	194		Y.
		Session 2016-2	017	U	/
		nill			
		049 644 (1923		~	
	Session 2017-20	018			
Sr.no.	Name	Class	Roll no	Amount	
•	1 Manisha	B.A.1st	1353620058	3600	
	2 Nisha	B.A.1st	1353620150	3600	
	3 Kavita	B.A.1st	1353620167	3600	
	4 Priyanka	B.A.1st	1353620147	3600	
	5 Punita	B.A.1st	1353620063	3600	
	6 Rupesh Kumari	B.A.1st	1353620288	3600	
	7 Lalita	B.A.1st	1353620034	3600	
	8 Urmila	B.A.1st	1335620330	3600	
	9 Yogita	B.A.1st	1353620032	3600	
	and the second				

2094620283

2094620002

2094820002

2094820007

2094620016

2094820033

2094820020

2094820017

2094620273

2094620073

2094620225

2094820012

Roll no.

3600

3600

3600

3600

3600

3600

3600

3600

3600

3600

3600

3600

3600

Amount

Sr.no.

10 Kavita

Name

1 Sneh Lata

2 Monika

3 Tanya

6 Reena

8 Usha

11 Seema

12 Shweta

7 Nitiksha

9 Bhawana

10 Vandna Sharma

4 Poonam

5 Pooja Rani

Session 2018-2019

B.com 1st

Father's Name

Wazir Singh

Jagat Singh

Ram Kumar

Sunil Kumar

Om Parkash

Prushotam

Satyabir

Nakshtar singh

Joginder Sharma

Rakesh

Jagatpal

Vinod

Scanned with CamScanner

î

Ch. Bansi Lal Government College for Women, Tosham

Detail list of the students awarded scholarship under the Scheme

"Merit Scholarship" 2014-15 to 2018-19

<u>`</u> .	6		Lis Constan	2014 2015	0	0
1 1 1	Merit Schold Name 1 Rekha 2 Deepika 3 Priyanka 4 Jyoti Rani 5 Pinki 6 Parmila 7 Pooja Rani 8 Soma Devi 9 Pooja Goyal 10 Vandana 11 Ankita Grag 2 Jai Lalita 3 Neelam Rani 4 Pushpa	Father's Name Father's Name Shyam Sunder Rambilash Jagbir Basant Kumar Gobind Ram Jaibir Om parkash Ishwar Singh Jagdish Prasad Bhishm Dev Jai Bhagwan garg Bhanu Prakash Ramesh Kumar Tirlok Chand	te girls Session Class B.A 2nd B.com 2nd B.A 2nd B.A 2nd B.A 2nd B.Com 2nd B.A 2nd B.A 2nd B.Com final B.com final B.com final B.com final B.com final	2014-2015 Roll No. 763 2047 515 694 636 2143 690 522 2249 2209 2236 2239 2220	3000 3000 3000 3000 3000 3000 3000 300	
	195	thick chang	B.com final	2212	3000	

2014-15-0.1C

ŧ

				Ð)	2015-16
Sr.No.	Of Govt. Of Harya Name 1 Monika Devi 2 Sarita 3 Kiran 4 Alka 5 Kamlesh 6 Sonali 7 Pinku 8 Pooja 9 Rekha 10 Deepika 11 Priyanka 12 Jyoti Rani 13 Parmila 14 Pinki	ina For Merit Schola Father's Name Kapoor Singh Ghan Shyam Vijay Kumar Shumed Nain Suresh Kumar Jagdish Chander Bhale Singh Shyam Sunder Rambilash Jagbir Basant Kumar Jaibir Gobind Ram	arship To Ur Class B.A 2nd B.com 2nd B.A 2nd B.A 2nd B.A 2nd B.A 2nd B.A 2nd B.A 2nd B.A Final B.A Final B.A Final B.A Final B.A Final B.A Final	526 2124 611 2113 660 2106 653 2123 1227 2213 1103 1192	3000 3000 3000 3000 3000 3000 3000 300	nts Session 2015-201€
	15 Pooja Rani	Om Parkash	B.A Final	1065	5000	

ą

ŧ

	Roshan Lal Raj Kumar JaiPal Jai parkash Surender Rajbir Singh Deep Chand Krishan Kumar Ram Avatar Ishwar Singh Susil Tayal Vimal Kumar Rajender Kajender Hari Singh Kamaljeet Singh	B.sc 1st (n.m) B.A 1st B.sc 1st (n.m) B.sc 1st (n.m) B.sc 1st (n.m) B.com 1st B.A 1st B.sc 1st (m) B.A 1st B.com 1st B.com 1st B.com 1st B.com 1st B.A 1st B.com 1st B.A 1st	943410148 1018610005 1058610023 943610039 943410163 1058910028 1058910059 943410016 2002 2001 2022 28 2013 197	3000 3000 3000 3000 3000 3000 3000 300
16 Jyoti 17 Diksha V	Kamaljeet Singh	3.A 1st		
18 Vanshika (19 Renu Bala S 20 Jvoti	ant Lal B.	A 1st .com 1st A 1st sc 1st	91 2059 280 3134	3000 3000 3000 3000

. Come have	G	2016	-17	20	16-17
Merit Scholorship To Uno Sr.No. Name 1 Sakshi Tayal 2 Pooja 3 Parul Mehta 4 Kayal 5 Monika 6 Jyoti 7 Diksha Verma 8 Vanshika 9 Renu Bala 10 Jyoti	ler Graduate Girls Students So Father's Name Sushil Tayal Vimal Kumar Rajender Kumar Hari Singh Kamaljeet Singh Subhash Chander Verma Umesh kumar Sant Lal Sube Singh	ession (2016-20 Class B.Com1st B.Com1st B.A.1st B.A.1st B.A.1st B.A.1st B.A.1st B.A.1st B.A.1st B.A.1st B.Com1st B.A.1st B.A.1st B.A.1st	017) Roll no. 2002 2001 2022 28 2013 197 91 2059 280 3134	Amount 3000 3000 3000	1

S

Scanned with CamScanner

	. 2		25
5 Merit Scholarship Sr.No. Name 1 Monika 2 Pooja 3 Aarti 4 Anju 5 Sony 6 Antim ma 7 Babita 8 Nisha 9 Sumit 10 Sudesh 11 Nisha 12 Puspha 13 Manisha 14 Kavita 15 Sunaina 16 Kavita 17 Sanju 18 Punita	Rather's Wa Roshan Lal Raj Kumar Jai Pal Jai Parkash Surender avila Rajbir Singh Deep Chand Krishan Kuma Ram Avtar Ishwar Singh Rajbir Surajbhan Ramniwas Dalip Singh Sunil Kumar Surender Sumer Singh	B.Sc 2nd (n.m) B.A 2nd B.A 2nd B.Sc 2nd (n.m) B.Sc 2nd (n.m) B.Com 2nd B.A 2nd r B.Sc 2nd (m) B.Sc 2nd (m) B.A 2nd B.A 2nd B.Sc 2nd (n.m) B.A 2nd B.Sc 2nd (n.m) B.A 2nd B.Sc 2nd (n.m) B.Sc 2nd (n.m) B.Com 2nd B.Sc 2nd	Roll No. 10586100 9434100 9434100 9434101 105861002 94361002 94361002 105891002 105891002 105891005 943410010 1353620150 1466130020 1353620167 1466120009 1353820006 1466120009
18 Punita 19 Pooja 20 Ravina	Shiv Lal Shiv Lal Surender Suresh Kumar	B.Sc 2nd B.A 2nd B.Sc 2nd (n.m) B.Sc 2nd (n.m)	1353820006 1466120023 1353620063 1466120028 1466120030

i

·		Ċ		2018-19
ana State N	terit Scholarship to un	dergraduate gir	le -+ 1	2017-19
pushpa ravina pooja sunaina sanju Monika	ferit Scholarship to un father name Suraj Bhan Suresh Kumar Surender Singh Sunial Kumar Sumer Singh Roshan Lal	B.sc.2nd B.sc.2nd B.sc.2nd B.sc.2nd B.sc.2nd B.sc.final	ls students 2018- 2 rollno Am 1466120020 1466120030 1466120028 1466120029 1466120023 1058610031	ount 3000 3000 3000 3000 3000
/ _{Ķavita sakshi Tayal pooja Parul Metha Kajal Diksha Vanshika Jyoti}	Surender Sushil Tayal Vimal Kumar Rajender Kumar Rajender Subhash Chander Umesh Kumar Sube Kumar	B.com 2nd B.com final B.com final B.com final B.com final B.com final B.com final B.com final	1353820006 2522 2508 2524 1074 1061 2507 3503	3000 3000 3000 3000 3000 3000 3000 300
Monika Manisha Nisha Kavita	Hari Singh Ramniwas Rajbir Dalip Kumar	B.com final B.A.2nd B.A.2nd B.A.2nd	2527 1353620058 1353620150 1353620167	3000 3000 3000 3000 3000
Punita Pooja	Shivlal Rajkumar	B.A.2nd B.A.final	1353620063 943410003	3000 3000

ï

Ch. Bansi Lal Government College for Women, Tosham

Detail list of the students awarded scholarship under the Scheme

"Earn While You Learn" 2014-15 to 2018-19 From

Principal Ch. BansiLal G.C.W.Tosham Bhiwani, Haryana

To

Director General Higher Education Department, Haryana, Panchkula.

Memo No. GCWT/2015/1562

Dated : 27/8/15

Subject: -

Utilization Certificate for S.N.E. 2202 - 03 - 105 - 92 - 51 - P- N-V Scheme for Earn Ushile 901 100100 (87) Scheme for Earn while you Jean

UTILIZATION CERTIFICATE

Year 2014-2015

1. Name of the grant: - Earn While You Learn 2. Letter No. and Date: - 5/5 - 2014 NPE (2) Dated - 20/6/14

3. Received Amount:- 1,00,000/-

4. Amount spent:-

5. Balance:-

NIL

1,00,000/-

Ch. BansiLal GC, Water Tostalliwa de

4		S. 199			B-22/11/14
A.	Date of Print: 21/11/2014 7:49:1		Tr. Bill I	No. 02060923-2014-15-0063	R- 001 1
		FORM S.T.R. 30 (See Rule S.T.R. 4.51,4.52,4.5	Exempte		ile
		CONTINGENCY B	ILL SBY	Edior N.A. Earn We You L	early.
	100	(For use in Tresaury Off	ice)	JIY 10-2	
	Bill No. 132		Vouch	er No. ;	
97 E	Bill Date 21/11/2014		Vouch	er Dale :	
	Establishment of Edu				
	Treasury Code 02		Treasury Name	Bhiwani	
	Go	23 Principal CH Bansilal vt Women College Tosham iwani	Demand No.		
	Major Head 🛛 🗾 🖉 22	02 General Education	Object Code 🧹	87 Honorarium	
	Sub Major 703 Ec	University and Higher	Sub-Object Code	72 Honorarium	4
		5 Faculty Development ogramme	AC/DC	Detailed Bill	
	D th st	2 Human Resource eveopment of the Teacher and le Taught and the supporting aff in the Govt. Colleges and ead Quarter.	Voted/Charged	Voled	
	Detail Head	1 NA	Plan/Non Plan	Plan	
	Particulars h	onorarium under earn while learr	n students		
•	To Whom Paid		- 10 10 P	500	
		sified by T.O. ` 90000	Payment Moo		-
	Total 90000	B.T.Deduction 0.00	Net Amount	90000	
	Rupee Ninety The				
	BOOK TRANSFER	RECOVERIES or Head Sub Major Minor Hea	ad Sub Head Detail	Head DDO Code Amount	
	Treasury				2 2
		7 E.		a -72	
	ABSTRACT OF BI Sr Name of (No Particular		let Amount DDO BT Amount	Sanction Sanction Re No Date	emarks
		AS	Per Annexure		
	Less Advance Drav	wa vida T/V	Less Advance	Drawn Bill No.	
	No.		Amo	unt Spent :	
	Dated	Advance Amount :	Date		~~ 1
	Excess Deposited Net Amount Payble			. Su	eliti
	Net Amount Payor	3113. 00000		2- Princip Govt. Colica <i>p</i> f	1/11/14
			X .	Lingan	Misinfiel.
					~ Y Y .

なるというないであるというでは、

Ľ.

Date of Print: 21/11/2014 7:49:18 AM

ti -0, 12, 2, 2, 2, 11, 10, 11

1. 14 5.1

さんないことの

Tr. Bill No. 02060923-2014-15-0063



* <u>APP</u>	
Appropriate for (year) 2014 to 2015	100000
Expenditure upto Previous Bill	2
Deduction Expenditure (including this bill)	
Balance Available	
	order and duly accounted for in relevant stock was forwarded to (Signature of D.D.O) 21/11/14 Seal with Code Pitheip.J
Dated : Token tio,	90000
C.F.X TA	
Ast	L Ligason, Officer Toshan
(Treasury Clerk)(Sign. in token of check) T (As	2 1
(incom) control of a second provide the	A state of the sta
	17 A 18 A 19 A 19
34	14
	* ×
54 M	
	5
(FOR USE IN	A.G. OFFICE)
Admitted for :	A.G. OFFICE)
Admitted for ` :	Y. S
Admitted for :	Y. S
Admitted for ` :	Y. S
Admitted for ` :	Y. 5
Admitted for ` :	
Admitted for ` :	Account Officer

Tr. Bill No.	02060923-2014-15-0063
--------------	-----------------------

ĥ

A STATE THE REAL PROPERTY AND A STATE OF	200 - 33 (ØR(🖷
Annexure	
- THE DATE OF THE DEPARTMENT OF THE ALL PROPERTY IN THE PROPERTY OF THE PROPER	I TAN TANK STATISTICS
THE REPART OF THE PARTY OF THE REPART OF THE REPART OF THE PARTY OF TH	I III III IIII IIIIIIIIIIIIIIIIIIIIIII
A DUNATION OF THE OWNER OWNER OF THE OWNER	
Cinexure	

Name of Claimant/ Particular of Sub Vouch	UCP	Annexure				
	er	Net Amount	DDO BT	Sanction	Samel	
			Amount	No	Date	Remarks
- 3 JYOYI POST MATRIC SCHOLARSH	71-01167	3000		5.1		
4 KANIKA	IPB 700HG8	3000	π			
5 SONIKA.	LIDEX	3000				
5 BIOWRA	HDOHBN	3000				
7 SAPNA	LICDI IBO	3000				
	39410V	3000		¥		24
- B NEHA BANSAL	11800BP	3000	24			2000
- 9 PUSHPA TOP 10-	HADHBQ	3000			- 6-	10 - 10 - 10 - 10 - 10 - 10
- 10 VANDANA TOP10-	9QUIIGN	3000				
- 11 MONIKA-	9LCH IGJ	3000		5 ±		
12 ASHA.	THOMAR	3000	142.001	ı-	-1	
-13 RITU-	HUTUBS	3000				
14 TAMANNA.	HGONET	3000				1000
JIS MANJU.	LIFOHBU	3000				
- 16 JYOTI-	100103	3000				-
-17 REKHA MERIT SCHOLARSHIP BAI	LICOLID4	3000				
18 CHANCHAL AGGARWAL-	6K0119K	3000				
19 ALKA-	HBONDS	3000	· (*			
20 POOJA DEVI POST MATRIC	HA01-D6	3000				- 1
STICHTSHIPBA 11-	7,101,031	3000			-	
21 POONAM-	LILICH (1)3	2000				
- 22 ANULIDEVI- ANJALI	LIDINO7	3000				
- 24 BALA.	BDGrBD	3000				= = ±
	101101108	3000				
25 POOJAGOEL TOPTO-	9M0H6/	3000				
- 26 ANKITAGARG TOP10-	SKONGIC	3000				- a - 1
27 MONIKA KUMARI	BGOIISI	3000				
28 SARLA POST MATRIC SCHOLARSHIP B	7.0/161	3000				
29 SAVI MEHTA	1000	3000				· · · · ·
JU KAVITA.	FIG0(109	3000				
	HEDLUDZ,	2000				
	Grand	90000				

Bill clerk. (Sn. ASHWANI)

Inch Incharge . (Dr. J.S. DUMAN)

Sult-21111/14 forneipal

	Y			AL.		
Received	1		ER 1	R.	Issue Date :23	/02/201E
eontainin					Valid Till:05/0	702/2015 3/2015
Date:	1 1		016	e.	This pay order folded	should not be
Pay Ordei	81 S 80		S/RTGS/NEF	rež ř	loided	
			ins 1 pages)	1		
	1			Ma unii Hiitxiin	THE THE CONTENT OF A	IN REAL FOR THE
V Toshar		and a second second second		う 刻 山田田		
	Rs. 10000/-(Ten Thousands Or	nly)	THE SA	10		
Payment no Credit the a invoice,duly	ot to be made without proper ider mount in accounts of persons the signed by T.O. and endorsed by	ntification of the	authorized mess SS/NEFT as per 1	enger. following Invo		s.10001/-) 60923150260
SN Token No. o IScheme	Payee's Name (Code)	Account No.	IFSC/MICR	ECS/NEFT/RT Amount(Rs.)	GS RTR Amt.	Bank
1-0206022015000746 2202-03-105-92-51	JYOYI POST MATRIC SCHOLARSHIP B A1ST 700HG8	65153206414	STBP0000819	and the second second second second	0	STBP000081 TOSHAM
2 0206022015000746 2202-03-105-92-51	SUNITA 7P0HG7	55149829350	STBP0000819	3300.00	0	STBP000081
3 0206022015000746 2202-03-105-92-51	MAMTA BDOHSU	65090565494	STBP0000819	3300.00	0	TOSHAM STBP000081
Southers and the second se Southers and second s Southers and second s	ં તુવર કે જે છે.		Bill Total Amount:	10000.00		TOSHAM
		and the second sec	al EPS Amount :		0	
	30 3 <i>1</i>				Je	10 12
	а х ж 19 д	** 7#	- 1 : 전	SE 11		
		- 	17			
	22	5			ř.	42.5
		°⊾ ∋ ≥ +		o 1.2		
		64 - 2		9 ()		
and the		¥£		2		
	•			ŧ		
Contraction of the second s	34 	ф Э	· · · · · · · · · · · · · · · · · · ·	9	э т	
		9. j.e.		с		1411 1
		25		į e		
lote:Invoice has been ma	de available online and needs to be	verified by DDO I	pefore submitting the	nis payorder in b	ank for paym	ent.
	^:	ndorsement	from DDO	10 - 11 - 14 - 14 - 14 - 14 - 14 - 14 -		
The heads are send at		1.1.00				E.A
Please pay amount of R Please issue RTRs of R	mount details of persons mentions. 10000/-(Ten Thousands Only s.0/-(Only) in name of the person whose specimen signature duly	 as per the de ons as per list at 	tails in pay order		asury Office	ATosham
				36 0	Such	5
	Sec. Ch	Or and		allow and a	24/2/1	5
	and the second se		C Sig	ature & Starfi Gove. Colla	PODO Prir	cipal CH
i name an	4 1	- automo genera			sham	- Condin
1-2		tear it from	here			
	Α	cknowledgeme	ent for DDO			
 A state of the sta	Rs. 10000/-(Ten Thousands Only		. "". Ы. Я. ". ". Я		a	
containing 1 no. of page Date:	es from Asstt. Treasury Officer To	sham				
Pay Order No. 0206006	016 against Invoice No. 020609	2315026015	1 ⁸ 2	Signatur	e & Stamp o	fBank
	5		· 121	Signatur	e or orgonih c	Dalik

P

Scanned with CamScanner

1.5

2120	115 3:26:24 PM	Tr. Bill No. 02060022 2014 45 9199
1	i the second	Tr. Bill No. 02060923-2014-15-0100
	FORM S.T.R. 30 (See Rule S.T.R. 4.51,4.52,	Exempted for N.A.
	CONTINGENCY	BILL
	(For use in Tresaury O	office)
Bill No. 194		
Bill Date 21/02/2	015	Voucher No. :
Establishment o	f Education(Higher)	Voucher Date :
Treasury Code	02	Treasury Name Bhiwani
D.D.O Code	0923 Principal CH Bansilal Govt Women College Tosham Bhiwani	Demand No. 09
Major Head	2202 General Education	Object Code 87 Honorarjum
Sub Major	03 University and Higher Education	Sub-Object Code 72 Honorarium
Minor Head	105 Faculty Development Programme	AC/DC Detailed Bill
Sub Head	92 Human Resource Deveopment of the Teacher and the Taught and the supporting staff in the Govt. Colleges and Head Quarter.	Voted/Charged Voted
Detail Head	51 NA	Plan/Non Plan
Particulars	Honorarium Paid under Govt. Gran	
To Whom Paid	Gcw Tosahm	
Amount to be Cla	assified by T.O. ' 10000	Payment Mode EPS
Total 10000	B.T.Deduction 0.00	Net Amount 10000
Rupee Ten Thou	isand Only	
BOOK TRANSFE	R RECOVERIES	
142 * H Here # 12 12 12	ajor Head Sub Major Minor Head	Sub Head Detail Head DDO Code

Treasury	major rieau	Sub Major	Winor Head	Sub Head	Detail Head	DDO Code Amount	
	2 J.	-					
							0

ABSTRACT OF BILL

Sr No	Name of Claimant/ Particular of Sub Voucher	UCP	Net Amount	DDO BT Amount	Sanction	Sanction	Remarks
1	MAMTA-	BDOHSU	3300	1	No	Date	5
2	JYOYI POST MATRIC SCHOLARSHIP B A1ST-	No. Contraction of the second	3400		0		N 5.50 K +
3	SUNITA-	7P0HG7	3300	anten i sie	0	24	: 12: - ++
		Grand Total			0		

Suli 23/2/15 Principal Ch. Bansı Lul G.C.W Tosham (1919).C

Ì.,

2/2015 3:26:24 PM

Tr. Bill No. 02060923-2014-15-0100

ss Advance Drawn vide T/V-10.

Appropriate for (year) 2014

Balance Available

Expenditure upto Previous Bill

Dated Advance Amount :

Deduction Expenditure (including this bill)

to 2015

Amount Spent : Date

Less Advance Drawn Bill No.

APPROPRIATION

	100000	
4		1
i		

Principal Ch. Bansi Lal G.C. Tosham Yibug

 \hat{I} 1 1.

Excess Deposited wide Scroll No. Net Amount Payble Rs. 10000

21/02/2018 3:26:24 PM Tr. BIII No. 02000923-2014-15-0100 CERTIFICATES Certified that the expenditure charged in this bill is sanctioned by the competent authority in accordance with the rule as amended from time to time. 2. Cetified that the stocks have been received in good order and duly accounted for in relevant stock 3. Certified that the detailed bill for the month of _____ was forwarded to with all necessary voucher on ____ Ь 4. Received contents. Es Tre Counter Signature of Competent Authority (Signature of D.D.O) D.L (as por rulos) Sul Seal with Code Principal To be given by D.D.O in case of countersigned contingencies. Ch. Bansi Ma Tosham Tosham 1 1 Su (FOR USE IN TREASURY OFFICE) Pay ' Mir Rupees. Dated : 19820 10 EPS 1 10000 Su 4sti. irganie, Efficer Toshart (Asstt.Superintedent Treasury) (Treasury Clerk)(Sign. in token of check) Treasury Officer Dot Par To Amo Tota Rup (FOR USE IN A.G. OFFICE) BOC Admitted for :: Trea Objected for ' :_____ Reasons of Objections :___ Trea Account Officer ABS Sr No 1 2 3

Scanned with CamScanner

Dun 20	,15-)	f Annexure	Т. Ві	1 No. 02060	923-20 · , :)	· cs;	
Name of Claimant/	UCP	, Net Amount	DDO BT Amount	Sanction No	Sanction		
Particular of Sub Voucher Particular of Sub Voucher	1. BJDH91	4500			Date	- and the set	
	HOOHBT	4500			_	/	
2 MITU 2 /YOYI POST MATRIC SCHOLARSHIP B	70011G8	4500					
LinktSt-	7P0HG7	4500		1	/		
s. SLWITA	BDDHSU	3500		\cup	<u> </u>	1	
5 MANTA	KP0HF4	4500					
6 STVATUCHI AGGARWAL	KOOHES	4500		(,	J.12)	
- REENA 8 CHANCHAL AGGARWAL-	HBOHDS	4500		(6)	/	
Contraction of the second	KNOHFG	4500					
P MADHU 10 SARLA POST MATRIC SCHOLARSHIP B AIST	7L0HGT	4500					
11 SONIKA	KMOHF7	4500					
17 ALKA-	HADHD6	4500					
17 0ALA	ннонра	4500					
14 MONIKA KUMARI-	BGOHSI	4500					1
15 BHAWANA-	KLOHFB	3500					
	Grand Total						

	0
	2016-17 Tr. BIII No. 02060923-2016 1 1035
	90 6-11 Tr. Bill No. 02060923-2016 1 1035
1	
A	Annexure
A set of the set of th	DDC DT Constion Prest
Name of Claimant	
Particulation	MLOHAK 3400
1 ANURADHA-	MKOHAL 3400
NUKTI-	MJ0HAM
A SINIDHI AGARWAL-	FM0BHY 3400
4 POOJA-	MROHAN 3300
5 RINKU-	MQ0HAO 3400
6 HEENA NAGPAL-	мронар 2200
7 PRIYANKA-	GLOHBY 2200
8 RENU- 9 SONIA POST MATRIC-	RLOHST
9 SONIA POST	LEONIN
10 PRIYANKA- 11 MONIKA DEVI-	10000
12 AMAN KUMARI-	M001740
12 AMAN KOW	MNUTAB ()
13 PINKI RANI	GROHDH
14 DIMPLE-	GCOHUS
15 JAISHRI BC-	MMUHAS
18 SUBUCHI-	4GOEDP
17-BHATERI-	MKOHAU
18 PARULMENTA	KLOHAA
19 SAVINA-POSTMATRIC	MJOHAV
20 ¹ RENU:	Grand
	Total
이 이 이 유요하는 바람 왜 소문 영화했다.	
	AN FOIL
	Principal
18 40 19 19 19 19 19 19 19 19 19 19 19 19 19	Gout Louege Ju
	Principfit Govt. College ju Tosham
100 - 100 -	Ψ
140 - 121	
	e, ≗e a al. al. a

Scanned with CamScanner

	15			EARN WHILE YOU		Department in which working		
- 16	In In	lame	class	Roll no. Cor 3650	9991037209	Physics lab		
10	191-	atesh	B.sc final year	3609	9467074599	Physics.lab	- 10 C	
1.00		avita	Bisc final year	2501	9996062135	Vimal (office)	- Electron	
18	-	iuruchi	B.Com Final Year	2501	9728173184	Vimal (office)		
100		Vancy	B.Com Final Year		9416058836	Fee Counter	1213	
		Parul Mehta	B.Com Final Year	2524	9728621561	Libarary		
		Raj kumari	B.com 2ND year	943610030	981308857	Commarce dept.	34.5	
F 1	2	Ekta	B.Com Final Year	2548	981282118			
-			B.Com Final Year	2508	981202975	D		
-		Pooja	B.Com Final Year	2507	925557590	Computer Jab	1. 1.	
		Vanshika	B.A. 2ND Year	943410182		4.11		
	10	Shakshi	B.sc final year	3508	999250917		and the second sec	
	1.4	Usha	B.Com Final Year	2532	989198632	Computer Jab	1	
	12	Meera	B.com 2ND year	943610001	90343821		1	
	13	Anuradha	B.A Final Year	1182	87087912	16 11 112.		
	14	NiKita	B.A 2ND year	1028	94665973	Vienal (+ Elite)	×180	
	15	Yogita	B.A Final Year	1188	98125964	11		
	16	Sonia		1041	74046146	Minut Collins		
	17	Pinki	B.A Final Year	1026	9992658			
	18	Anju	B A Final Year	7521	0.0012000	Computer lab	1	
	19	Nishu	B.Com Final Yea	ir			150	
64 8	1. Sml	. Reena	Member:→ L (Convene z Singh	mm (re	1a)		-Phincib Test	
	a el	6.20	ingh Nder Kuma	100 m			10.21	For a c
	S 500	Hoa S	ingr	and the				

1 W TO a La COLA MERCAN
the stand
Brenii Br
50445410255 443612262 146612-001 146000000000000000000000000000000000
$\begin{array}{c} P_{11Ne} & Type of work \\ P_{12} & P_{22}
18 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
Hype & work with Mapping 4 5 B's scheherscher Nichtweg 4 5 Chemischer Geld 100 14 ettice NAP HUN ettice NAP HUN ettice Scheher Opf HON Sc Scheher Opf HON Library Opt HANG Library
g work wighting wight schwark wighting wight schwark wighting wight schwark wighting wighting wight dept OEd HOL 2.8 ship a opt OEd HOL 2
Aurume Nighting He schward with Apple Nighting Apt Old Hoz 28 mishi a Apt Old Hoz 28 mishi a Apt Old Hoz 28 schward and Ballos 47 schward Apt Old Hoz 28 schward Apt Old Hoz 29 schward Apt Old Hoz 29 schward Apt Old Hoz 29 schward Apt Old Hoz 29 schward HHA865 41 schward Apt Hoz 29 schward Apt Hoz 29 schward HHA865 41 schward Apt Hoz 29 schward Apt Hoz 20 schward Apt Hoz 20 schw
BOATT THE STATISTICS
1
Amenut C. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1
The second states and
the set of
- 55155146413 - 55155146613 - 309165550000433 - 3107242032453 - 3107242032453 - 3107242032453 - 3107242032453 - 310925145362 - 32916555145362 - 32916555145362 - 32916555145362 - 32916555145362 - 32916555145362 - 32916555145362 - 3291655514563 - 3291655514562 - 32916555145551453 - 3291655514555145362 - 32916555145551554 - 3291655514555145362 - 32916555155145362 - 329165551551555155515551555155515514555 - 32916555155155551555155515555155551555555 - 32916555155551555515555155555555555555555
115155 115155
LEINE STERES STER
Annorfy AcALS IFSC - SSISSTINGERIS STREEMENT - SOURCE STREEMENT - SOURCE STREEMENT - SOURCE STREEMENT - SUBSTINES -
165546 165546 165546 19556 1956 1957 194039 194000 1940000000000000000000000000000
LEVEL DE WERE
Scanned with CamSca

Scanned with CamScanner

acknewledgement for DSD (bay old, r.o., 96, 1096600/-(Sixteen Laku, Ninoty Stz.) (https://doi.org/ UT nal of oagets from Assitt Tratisony Cillear Topation Stamp of Bank 42, 02060)3318: against Invoice №a, 02060023, 4975017 aunonea maconger. Juliaer na. 100000 11-1 Credit the amount in accounts of persons through ECS/RTGS/NEFT as per following invoice, duly signed by T.O. and endorsed by DDO. ----- NI- 000000 ECS/NEFT/RTGS RTR Amount (Rs.) Payee's Name Account No. IFSC/MICR Sr.No Token No. Amount(Rs:) /Scheme (Code) 1696000 As per details in invoice duly verified online by DDO in 0206072014000895 2202-03-789-94-51 respect of 212 no. of payees. Total Amount: 1696000 0 Total EPS Amount: 1696000/-Note:Invoice has been made available online and needs to be verified by DDO before submitting this payorder in bank for payment. Endorsement from DDO Signature & Stamp Asstt Treasury Officer Tosham Please pay amount of Rs. 1696000/-(Sixteen Lakhs Ninety Six Thousands Only.) as per the details of invoice no.0206092314073617 vertied online and sent to bank. 117)014 Please issue RTRs of Rs.0/-(Only.)in name of the persons as per list attached and hand whose specimen signature duly attested are given below. over to Date: Signature & Stamp DDO : Principal CH Bansilal Govt Women College Tosham Bhiwani Marin lear it from here Acknowledgement for DDO Received pay order of Rs. 1696000/-(Sixteen Lakhs Ninety Six Thousands: Only.) containing 1 no. of pages from Asstt.Treasury Officer Tosham Date: Pay Order No. 0206003618 against Invoice No. 0206092314073617 Signature & Stamp of Bank

. COMULTINI			55 AL
1	FORM S.T.R. 30	Exempt	ed for N.A
1.	(See Rule S.T.R. 4.51,4.52,4.5	5.	0.85
	CONTINGENCY B	ILL	31107111
600	(For use in Tresaury Off		2311
Bill No. (5		Vouch	ner No.
Bill Date 23/07/20	14	··· Vouch	ner Date : •
Establishment of	Education(Higher)	3	
Treasury Code	02	Treasury Name	Bhiwani
D.D.O Code	0923 Principal CH Bansilal Govt Women College Tosham Bhiwani	Demand No.	09
Major Head	2202 General Education	Object Code	74 Special Component Plan for SC
Sub Major	03 University and Higher Education	Sub-Object Code	60 Special Comp.Plan for SC.
Minor Head	789 Special Component Plan for Scheduled Castes	AC/DC	Detailed Bill
Sub Head	94 Stipends to all Scheduled Caste Students in Govt. Colleges	Voted/Charged	Voted
Detail Head	51 NA	Plan/Non Plan	Plan
Particulars	Regarding Postmatric Scholarship I Installment @ Rs. 8000	for SC Students anit.	for session 201344 2nd
To Whom Paid	Gcw Tosham		9. K
Amount to be C	lassified by T.O. 1696000	Payment Mode	EPS
Total 1696000	B.T.Deduction 0.00	Net Amount	1696000
Rupee Sixteen	Lakh Ninety Six Thousand Only		
	ER RECOVERIES	i Provinsi 19 19 - Anna Anna Anna Anna Anna Anna Anna An	(2) (1) 7 (9 ² 1)
Treasury/Sub M Treasury	Major Head Sub Major Minor Head	Sub Head Detail H	lead DDO Code Amount
51 () () () () () () () () () (*	
	<u>E</u>		*** ^{**}
ABSTRACT OF	BILL		
	of Claimant/ UCP Net ular of Sub Voucher	Amount DDO BT Amount	Sanction Sanction Remarks No Date
	AS Pe	r Annexure	
Less Advance [No	Drawn vide T/V	Less Advance Dra	awn Bill No
Dated	Advance Amount :	, Amouni	Spent: Sulfit
	ted wide Scroll No	Date	· Principals
Net Amount Pa	Ayble Rs. 1696000 flockel for Sc/R. Schelar	e spilling (Jun (sobread)
	Scholars	Eling?	

AP	PROPRIATION
propriate for (year) 2014 to 2015	1696000
penditure upto Previous Bill	2
eduction Expenditure (including this bill)	· · ·
Ilance Available	· · ·
CE.	RTIFICATES
Certified that the expenditure charged in this bill is	sanctioned by the competent authority in accordance
with the rule as amended from time to time. Cetified that the stocks have been received in good	
register. Certified that the detailed bill for the month of	-
with all nacessary voucher on 1 d C	· · · · · · · · · · · · · · · · · · ·
Received contents.	Sulta 272114 Principal (SignatureSorva.b)(6) Sediavari(Cabareani)
Frincipal CH. B.L. Govt. W.C	Principa
Counter Signature Technipetent Authority	(Signature Grvb. D'O)
(as per rules)	Statiawin woodeann
To be given by D.D.O in case of countersign	and continuencies
To be given by D.D.O in case of countersign	led contingencies.
	· * *
The second s	N TREASURY OFFICE)
ted:Rupees	No.7 59600000
Е. Р. Б.	Rs. 1 8 10000
	Asit. Treasury Officer
	Tothan
Treasury Clerk)(Sign. in token of check) (As	stt Superintedent Treasury) Treasury Officer
	A.G. OFFICE)
hitted for ' :	
sons of Objections :	
0	÷
	Account Officer
	2 2
	1

(against Pay Order No.0206003618)

ż

For DDO : TREASURY OFFICER HARYANA

	:0923	(against Pay Order No.		5	Issue Date of Pa Validity date Order:10/08/2	of Pa	
8	0525	For DDO : TREASURY OFFI	CER HARYANA				
Sr. No	Token No. Scheme	Payee's Name, (Code), Father's Name	Account No.	IFSC/MICR	Amount (Rs.)		TR Bank mt
1	0205072014000895 2202-03-789-94-51	SANGEETA, 2AOHWT, SUBE SINGH	65174674058	STBP000081	9 8000.00	0	STBP
2	0206072014000895 2202-03-789-94-51	USHA, 2E9SNN, RAJENDER SINGH	55149829532	STEP0000819	8000.00	0	STBP
3	0206072014000895 2202-03-789-94-51	KAVITA, 6D9SF1, MANOHAR	55149824136	STBP0000819	8000.00	0	STRP
4	0206072014000895 2202-03-789-94-51	KAVITA RANI POSTMATRIC B A I,6JOHE7,SH,DHARMBIR SINGH	55149829430	STBP0000819	8000.00	٥	STBP
5	0206072014000895 2202-03-789-94-51	SUSHILÄKUMARI POSTMATRIC B A 1.6KOHE6,SH,ATTAR SINGH	55149829837	STBP0000819	8000.00	Ø	STBP
G	0206072014000895 2202-03-785-94-51	MONIKA POSTMATRIC B A I, GLOHE5, SH, RAMNIWASH	65175505204	STEP0000819	8000.00	0	STBP
7	0206072014000695 2202-03-789-94-51	PONAM POSTMATRIC B A I, 6M0HE4, SH, AJMER SINGH	65175754193	STBP0000819	8000.00	0	STBP
8	0206072014000895 2202-03-789-94-51	SITA POSTMATRIC, GNOHES, SH, JAIPAL	55149824374	STEP0000819	8000.00	0	STBP
9	0206072014000895 2202-03-789-94-51	POOJA POSTMATRIC B A I,600HE2,SH,SATBIR	55147371403	STBP0000819	8000.00	Ø	STBP
10	2202-03-789-84-51	SAVITA POSTMATRIC B A I, 6P0HE1, SH, SUBHASH	65172840881	STBP6000819	8000.00	0	STRP
12	2202-03-789-94-51	MANJEETKUMARI POSTMATRIC B A I,GPOHEA,SH,CHELA RAM	65174207027	STBP0000819	8000.00	D	STBP
13	2202-03-789-94-51	MONIKA POSTMATRIC B A I,600HE9,8H,DHARMBIR SINGH	65174926325	STRP0000819	8000.00	σ	STBP .
13	2202-03-789-94-51	KAVITA POSTMATRIC B A I.GROHEB.SH.PAPPU	65175633203	STBP0000819	8000.00	G	STRP
	2202-03-789-94-51	MANJEET KAUR, BACKSF, MADAN LAL	651747774B4	STBP0000819	8000.00	0.	STHE
15	2202-03-785-94-51	SUMAN KUMARI, BAGHSO, SATYAPAL	65174912936	STHPODODE19	8000.00	0	STBR
10	2202-03-789-94-51	MANJEETA, BAOHSX, RATAN SINGH	65103239154	STBP0000819	8000.00	0	STBP
1	2202-03-789-94-51	SAILJA, BACHT5, ROSHAN LAL	55149824329	SCBP0000819	8000.00	0	STBP
1	2202-03-789-94-51	SUMITHA, EACHTE, RAM SINGH	65173677538	STBF0000819	8000.00	ø	STHP
	2202-03-789-54-51 0 0206072014000895	VIJAY, BAOHTN, BALBIR SINGH	65058171782	STBP0000819	8000.00	0	S7BP
	2202-03-789-94-51 1 0206072014000895	MANITA, BAOHTW, UMED SINGH	65130898251	STBP0000819	8000.00	0	STEP
2	2202-03-789-94-51 2 0206072014000505		65150236532	STBP0000B19	8000.00	0	STHE
2	2202-03-789-94-51 3 0206072014000005	1 41 4 122 221 144	65148117258	STBP0000819	8000.00	0	STBP
ž	2202-03-789-94-51 24 0206072016000000		65149871307	STBPCODO819	8000.00	Ø	STRP
	2202-03-789-94-51 25 0206072014000000	MCHITEA BADING MITTER DE	65056289027	STBP0000819	8000.00	0	STBP
	2202-03-789-94-51 26 0206072014000000	KAVITA BADDUT HARRY	11 11 11 11	STBP0000819	8000.00	D	STBP
	2202-03-789-94-51	Languary RARPAL	65149607025	STBP0000819	8000.00	0	STB1-

i.

/				Issu	e Date of Pay C	order :31/	07/2014
DDO	Code :0923	(against Pay Order No		Val	idity date o er:10/08/201	É Pay	
27	0206072014000895	For DDO : TREASURY OFF.		STBP0000819	8000.00	0	STBP
28	2202-03-789-94-51	MAMTA RANI, BAOHXI, MANGAL RAM	65150235B12	SIBPOODELS			
25	0206072014000895 2202-03-789-94-51	ASHA RANI, BACHXA, BIJENDER SINGH	65152060008	STBP0000819	8000.00	O	STEP
29	0206072014000895 2202-03-789-94-51	BABLU KUMARI, BAGHXJ, PANNA RAM	65149830371	STEP0000819	8000.00	0	STBP
30	0206072014000895 2202-03-789-94-51	MANJU, BAOHXS, SUBASH CHANDER	65124482264	STBP0000819	8000.00	0	STBP
31	0205072014000895 . 2202-03-789-94-51	SUNDARI DEVI, BACHYO, RANDHIR SINGH	65121312078	STBP0000819	B000.00	0	STEP
32	0206072014000895 2202-03-789-94-51	CHANDERMUKHI, BAOHY9, PREMSINGH	65128052394	STBP0000819	8000.00	o	STRP
33	0206072014000895 2202-03-789-94-51	RENU RANI, BACHYI, JAIBIR SINGH	65122383026	STBP0000819	8000.00	0	STBP
34.	0206072014000895 2202-03-789-94-51	NEELAM DEVI, BAOHYR, FAKIR CHAND	65121311971	STBP0000819	8000.00	G	STEP
235	0206072014000895 2202-03-789-94-51	LUXMI DEVI, BEOHSE, OMPARKASH	55149829655	STBP0000819	8000.00	0	STBP
3.6	0206072014000895 2202-03-789-94-51	SAROJ, BSOHSN, SURAJ BHAN	65175489418	STBP0000819	8000.00	Ø	STBP
37	0206072014000895 2202-03-789-94-51	POOJA, BBOHSW, GIAN CHAND	65174889949	STBP0000819	8000.00	0	STRP
38		NEETU, BBOHT4, SAJJAN SINCH	65175438509	STEP0000819	8000.00	G	STEP
39	0206072014000895 2202-03-789-94-51	MINAKSHI, BBOHTD, RAMESH	65174871624	STBP0000819	8000.00	0	STBP
40	0206072014000895 2202-03-789-94-51	MEENAKSHI, BBOHTM, JAIPAL	65175296925	STBP0000619	8000.00	0	STBP
41	0206072014000895 2202-03-789-94-51	MAMTA RANI, BBOHTV, BHAGIRATH	65174672506	STBP0000819	8000.00	0	STBP
42	0206072014000895 2202-03-789-94-51	POONAM, BEDHUS, UDAY BHAN	65149863704	STBP0000819	8000.00	0	STEP
43	0206072014000895 2202-03-789-94-51	SUDESH, BBOHUC, RATTAN LAL	65150332779	STBP0000819	ECOO.00	ŏ	STBP
44	0206072014000895 2202-03-789-94-51	KIFAN, BROHUL, NAFE SINGH	65150235222	STBP0000819	8000.00	0	STEP
45	0206072014000895 2202-03-789-94-51	MONIKA, BEDHUU, DALBIR	65056289094	STBP0000819	5000.00	O	STBP
46	0206072014000895 2202-03-785-94-51	JYOTI RANI, BBOHV2, RADHESHYAN	65149942451	ST5P0000819	8000.00	Ø	STHP
40	0206072014000895 2202-03-789-94-51	RENU, BBOHVB, RAJKUMAR	65121312034	STRP0000819	8000.00	0	STEP
46	0206072014000895 2202-03-789-94-51	KAVITA, BBOHWS, DALBIR	65150670796	STEPODOOS19	8000.00	0	STBP
4 5	0206072014000895 2202-03-789-94-51	KAVITA, BBOHXO, SATBIR SINGH	65150333002	STBP0000819	8000.00	C	STBP
50	0206072014000895 2202-03-789-94-51	KHUEBHU RANI, BBOHX9, DILEAG SINGH	65152216297	STEP0000819	8008.00	D.	STRP
51	0205072014000895 2202-03-789-94-51	BINA DEVI, BBOHXI, RAJENDER SINGH	65148987630	STEP0000819	8000.00	0	STBP
52	0206072014000895 2202-03-789-94-51	MANJU RANI, BBOHXR, MANPHOOL	65122470191	STBP0000819	8000.00	0	STRP
5	3 0206072014000895 2202-03-789-54-51	MILKOR, BEOHYS, CHAJUR RAM	65122471446	STEP0000819	8000.00	Q	STRE

Verified that the above bank account and amount details of various Initials of Treasury Officer payees are correct and invoice no. 0206092314073617 received from treasury office, Tosham is verified online.

Date:

1

Page 2of 0

				16	sue Date of Pay	Order :31	/07/2014
	code :0923	(against Pay Order		View View	ilidity date a rder:10/08/20	of Pay.	
5	0206072014000895 2202-03-789-94-51	For DDO : TREASURY (ANITA, BEOHYH, PARTAP	OFFICER HARYANA 65125601984	STBP0000819	8000.00	0	STRP
5	5 0206072014000895 2202-03-789-94-51	LAKSHMI, BBOHYQ, FAKIR CHAND	65121401515	STBP0000819	8000.00	0	STRP
5	6 0206072014000895 2202-03-789-94-51	FRIYANKA, BCOHSD, RAMESH	65148710282	STEP0000819	8000.00	٥	STBP
5	7 0206072014000895 2202-03-789-94-51	AARTI BAI, BCOHSM, RAJENDER	65158573310	STEP0000819	8000.00	0	STHP
5	9 0206072014000895 2202-03-789-94-51	POONAM KUMARI, BCOHSV, CHAMN LAL	65105872798	STBP0000819	8000.00	o	STBP
59	0206072014000895 2202-03-789-94-51	SAVITA, BCOHT3, SATBIR	65174872628	STBP0000819	6000.00	0	STBP
60	0206072014000895 2202-03-789-94-51	LALITA, BCONTC, KARAN, SINGH	65170939676	STEP0000819	8000.00	ō	STBP
61	0206072014000895 2202-03-789-94-51	SUDESH, BCOHTL, DHARMPAL	65175575556	STEP0000819	8000.00	D	STEP
62	0206072014000895 2202-03-789-94-51	SONTYA, ECONTU, RAJESH	65174673269	STEP0000819	8000.00	0	STBP
63	the second	RENU, SCOHU2, KRISHAN KUMAR	65150458385	STBP0000819	8000.00	0	STRP
64	0206072014000895 2202-03-789-94-51	MANITA DEVI, BCOHUB, ROSHAN LAL	65150746110	STEP0000819	8000.00	e	STBP
65	0206072014000895 2202-03-789-94-51	SUNITA, BCOHUK, HOSHIYAR SINGH	65149732613	ST3P0000819	8000.00	0	STEP
66	0206072014000895 2202-03-789-94-51	SANDHYA, ECOHUT, SATBIR SINCH	65056289174	STBP0000819	8000.00	0	STBP
67	0206072014000895 2202-03-789-94-51	PUSPA DEVI, BCOHVI, RAMPHAL	65150065892	STBP0000819	8000.00	5	STSP
68	0206072014000895	DHOLI, BCOHVA, SADHURAM	55140703403	STBP0000819		1.24	2.135
69	2202-03-729-94-51 0205072014000895	MAMJU, BCCHWR, SATBIR	65150334120		8000.00	ġ	STEP
70	2202-03-789-94-51 0206072014000895	SUDESH RAMI, BCOHX8, SUBE SINGH	11	STEP0000819	8000.00	0	5 <i>T</i> BP
71	2202-03-789-94-51 0206072014000895	PRIYANKA, BCOHXH, RAMDHARI	65151539966	STEP0000819	8000.00	Q	STEP
72	2202-03-785-94-51 0206072014000895		65150332951	STBF0000819	6000.00	0	STBP
73	2202-03-789-94-51 0206072014000895	BANTI KUMARI, BCOHXQ, RAMCHANDER	65127394475	STEP0000819	8000.00	0	STHP
4	2202-03-789-94-51	NISHA, BCOHY7, VIJAY SINGH	65125211893	STBP0000819	8060.00	0	STBP
	0205072014000095 2202-03-789-94-51	ANITA, BCOHYG, JAGDISH PARSAD	65122471718	STBP0000819	8000.00	0	STEP
5	0206072014000895 2202-03-789-94-51	LAKSHWI, BCOHYP, DALIP KUMAR	65121401242	STBP0000819	8000.00	0	STBP
6	0206072014000895 2202-03-789-94-51	VARSHA RANI, BCOHYY, RAJENDER KUMAR	65126555118	STEPOCOCB19	8000.00	0	
7	0206072014000895 2202-03-789-94-51	SUMAN, BDOHSC, RAJROOP	65175488222	STBP0000819	8000.00	201	STBP
B	206072014000895 202-03-789-94-51	PARMILA, BDOHSL, DALBIR	65175616073	STBP0000815		0	STBP
0 0	206072014000695 202-03-789-94-51	MAMTA, BDOHSU, KARAN SINGH	65090565494	STBP0000819	8000.00	.C	STRP «
0 0	206072014000895	SONIA. BDOHT2, MAN SINCH	65093647218		2000.00	0	STBP
4	202-03-789-94-51		02023061518	STEP0000819	8000.00	Ő.	STEP

Verified that the above bank account and amount details of various payees are correct and invoice no. 0206092314073617 receiied from treasury office. Tosham is verified online.

Initials of Treasury Officer

Date:

		lagainst Pay Order No	.0206003618)	Sh Vali	Date of Pay Or dity date of r:10/08/2014	Pay	//2014
	206072014000895	FOR DEG : TREASURY OFF SEEMA RANI, BOORTH, NAND RAM		STRP0000819	8000.00	a	STBP
82	2202-03-789-94-51 0206072014000695	MANJU, BDOHTK, JAIVIR GINGH	65175488404	STBP0000819	8000.00	0	STBP
83	2202-03-769-94-51 0206072014000895 2202-03-789-94-51	NEELAM, BODHTT, VIJENDER	55149824409	STBP0000B19	8000.00	G	STBP
84	0206072014000895 2202-03-789-94-51	PRIYANKA DEVI, BDOHUI, BHARAT SINGH	65150195651	STBP0000819	8000.00	0	STEP
85	0206072014000895 2202-03-789-54-51	REENA DEVI, BDOHUA, PARTAP SINGH	65150075669	STEP0000819	8000.00	0	STRP
86	0206072014000895 2202-03-789-94-51	RINKI, BDOHUJ, OMPARKASH	65150580449	5TBP0000819	8000.00	0	STBP
87	0206072014000895 2202-03-789-94-51	SANGITA DEVI, BDOHUS, RAGHUBIR	65056287417	STEP0000819	8000.00	Ö	STBP
88	0206072014000895 2202-03-789-94-51	MANJU, BEOHVO, SATVEER	65109732806	STBP0000819	8000.00	0	STBP
89	0206072014000895 2202-03-789-94-51	SANJU, BDOHV9, SURAJ BHAN	65148987595	STEP0000819	8000.00	D	STBP
90	0206072014000895 2202-03-789-94-51	SARIKA, BDOHWQ, VIJAY SINGH	65149121105	STBP0000819	8000.00	0	STBP
91	0206072014000895 2202-03-789-94-51	KAMLESH, BDOHX7, KEDARA RAM	65151291356	STBP0000819	8000.00	0	STBP
92	0206072014000895 2202-03-789-94-51	PRIYANKA, BDOHXG, SHAMSHER	65150333104	STBP0000819	8000.00	0	STBP
93	0206072014000895 2202-03-789-94-51	REENA, BDOHXP, SUBE SINGH	65123889122	STBP0000B19	8000.00	0	STBP
94	0206072014000B95 2202-03-789-94-51	NASEEB, BDOHXY, SURAT SINGH	65126339640	STEP0000619	6000.00.	O	STBP
55	0206072014000B95 2202-03-789-94-51	BHATERI, BDOHY6, DALIP SINGH	65121401446	STBP0000819	8000.00	0	STBP
96	0206072014000895 2202-03-789-94-51	NEELAM, BDOHYF, AMAR SINGH	65128697707	STBP0000819	8000.00	- 0	STBP
97	6206072014000895 2202-03-789-94-51	BABLI, BDOHYO, ASHOK KUMAR	65121365938	STBP0000B19	\$000.00	0	STBP
98	0206072014000B95 2202-03-789-94-51	KAVITA, BDOHYX, RAMSINGH	65121365789	STBP0000819	8000.00	0	STBP
99	0206072014000895 2202-03-789-94-51	SNEHLATA, BEOHSE, SURESH	55149825027	STBP0000819	8000.00	Ø	STEP
100	D206072014000895 2202-03-789-94-51	KANTA, BEOHSK, SEWA SINGH	6517560765B	ST8P0000819	8000.00	0	STEP
101	0206072014000895 2202-03-789-94-51	MAUSAM, BECHST, RAJPAL	65174776956	STBPC000819	8000.00	Ö	STBP
102	0206072014000895 2202-03-789-94-51	NEETU RANI,BEOHTI,KALI RAM	55147371979	STBP0000819	8000.00	0	STBP
103	0206072014000895 2202-03-789-94-51	JYOTI RANI, BEOHTA, RAJENDER	55149824216	STBP0000819	8000.00	0	STBP
104	0206072014000895 2202-03-789-94-51	POOJA, BEOHTJ, CHANDERBHAN	65175633316	STBP0000819	8000.00	٥	STBP
105	0206072014000895 2202-03-789-94-51	MONIKA TANWAR, BEOHTS, SATBIR SINGH	55149824089	STBP0000819	8000.00	0	STBP
106	0206072014000895 2202-03-789-94-51	BINDU, BEOHUO, KARAMVIR	65174675619	STBP0000819	8000.00	0	STBP
107	0206072014000895 2202-03-789-94-51	POOJA RANI, BEOHU9, SANȚ LAL	65149863410	STBP0000819	8000.00	0	STEP

Verified that the above bank account and amount details of various payees are correct and invoice no. 0206092314073617 receiied from treasury office. Tosham is verified online.

Initials of Treasury Officer

Date:

Page 4of 0

	E	(against Pay Orde)	NO.0206003618)	•34	validity date of Pay C Validity date o Order:10/08/201	f Fay	1/07/2014
	0923 06072014050895 202-03-789-94-51	For DDO : TREASURY MAMTA, BEOHUI, PRIYTHAVI SINGH		sTarosocs1		0	STBP
	2202-03-789-94-51	NITABO, BEOHUR, RAJBIR	65056287291	STRECCCCB1	9 8000.00	0	STBP
/	110 0206072014000895 2202-03-789-94-51	MONIKA RANI, BECHVE, SURESH KUMAR	65150333998	STBP000081	9 8000.00	0	STRP
1	111 0206072014000895 2202-03-789-94-51	NEETU RANI, BEOHWP, RAMESH CHANDER	65036335411	STBP0000819	8000.00	0	STBP
	12 0206072014000895 2202-03-789-94-51	PARMILA, BEOHNY, JAGE RAM	65149600891	STBP0000819	8000.00	0	STBP
1	13 0206072014000B95 2202-03-789-94-51	MEENU, BEOHX6, SHER SINGH	65148987540	STBP0000819	8000.00	Ū	STEP
1	14 0206072014000895 2202-03-789-94-51	POOJA, BEOHXF, BALBIR	65149684330	STBP0000819	8000.00	0	STBP
	15 0206072014000895 2202-03-789-94-51	KAVITA, BEDHXO, SAMTLAL	65121366034	STBP0000819	8000.00	Ŭ.	STBP
	16 0206072014000895 2202-03-789-94-51	REKHA, BEOHXX, RAMNIWAS	65125898113	STBP0000819	8000.00	0	STBP
	17 0206072014000895 2202-03-789-94-51	MANJU, BEOHYS, RANBIR SINGH	65121366942	STBP0000819	8000.00	0	STBP
-	28 0206072014000895 2202-03-789-94-51	AMITA, BEOHYE, RAMNIWAS	65125603313	STBP0000819	8000.00	0	STBP
	19 0206072014000895 2202-03-789-94-51	REENA, BEOHYN, DEVENDER SINGH	65126336526	STBP0000819	8000.00	۵	STHP
	20 0206072014000895 2202-03-789-94-51	SUMAN, BECHYW, BALBIR SINGH	65129257222	STEP0000819	8000.00	q	STRP
	2202-03-789-94-51	MONIKA, BFOHSA, SATYAWAN	65175236222	STBP0000815	8000.00	0	STHP
12	2 0206072014000895 2202-03-789-94-51	SEEMA, BFOHSJ, AZAD SINGH	55149829372	STBP0000819	8000.00	0	stap
	3 0206072014000895 2202-03-789-94-51	VANDANA, BFOHSS, JAIBHAGWAN	55149824363	ST3P0000819	8000.00	C	STRD
	4 0206072014000895 2202-03-789-94-51	USHA, BFOHTO, BRAHMDASS	55149824307	STBP0000819	8000.00	Ū	SIBP
	5 0206072014000895 2202-03-709-94-51	SONIA, BFOHT9, BHALE RAM	65176423818	STSP0D00819	8000.00	0	STRF
	0206072014000895 2202-03-789-94-51	RAJEALA, BFOHTI, AZAD SINGH	65174815321	ST8P0000819	8000.00	d.	STHI
	0206072014000895 2202-03-789-94-51	SUMITRA, BFOHTR, GIANI RAM	55149815772	STBP0000819	8000.00	D	STBP
	0206072014000895 2202-03+789-94+51	KIRAN, BFOHUS, JAIRAM	65150064560	STBPDD00819	8000.00	ō	STBP
	0206072014000895 2202-03-789-94-51	MANJU RANI, BFOHUH, RACHUBIR	65150237014	STEPODOGRIS	8000.00	0	STOP
	0206072014000895 2202-03-789-54-51	MAMTA, BFOHUQ, BALWAN	65147980680	STBP0000819	5000.00	Q	STHP
	0206072014000895 2202-03-789-94-51	MONU RANI, BFOHV7, MARAVIE SINCH	65150332611	STBP0000819	8000.00	Ó	STEP
	0206072014000895 2202-03-789-94-91	TAMUA INDORA, BEDHWY, RANDIR SINGH	65150898291	STAF0000819	8000.00	0	STRP
	0206072014000595 2202-03-769-94-51	RINA HANI.BPOHXS.SUNIL KUMAR	65150458523	STRF0000819	6000.00	Ŧ	STRP
134	0206072014000895 2202+03-789-94-51	KAUSHALYA, BFOHXE, ROSHAN LAL	65125984761	STBP0000819	8000.00	1	579P

Verified that the above bank account and amount details of various . Initials of Treasury Officer payees are correct and invoice no. 0206092314073617 received from treasury office. Tosham is verified online.

Dates

/

Page 5of 0

	Finner	and the second state and the second	200092314073617		Issue Date of P	ay Order	:31/07/2014
	rode :0923	(against Pay Orde	er No.0206003618	1 57	Validity dat Order:10/08/	e of Pa	Ŷ
6	35 0206072014000895	For DDO : TREASURY	OFFICER HARYAN	A			
	2202-03-789-94-51 36 0206072014000895	HANDO, BFOHXN, ISHWAR SINGH	6512131221		9 8000.00	0	STB
	2202-03-789-94-51	JYOTI, BFOHXW, HOSIHIYAR SINGH	6512238288	14 STBP000081	9 8000.00	G	573
13	2202-03-789-94-51	MUKESH, BFOHY4, RANJEET SINGH	6512679874	1 ` STBP000081	9 8000.00	O	STB
	8 0206072014000895 2202-03-789-94-51	FUSHPA, BFOHYD, RAMCHANDER	6513289143	6 STBP000081	9 6000.00	ō	STBP
13	9 0206072014000895 2202-03-789-94-51	SUNITA, BFOHYM, MUNSHI RAM	6512655573	1 STBP0000819	8000.00	D	STBP
14	0 0206072014000895 2202-03-789-94-51	POONAM, BFOHYV, RAJENDER SINGH	65155151494	1 STBP0000815	8000.00	Ø	STBP
14	0206072014000895 2202-03-789-94-51	NEELAM, BGOHS9, RAJESH	55149824851			-	
14	0206072014000895	MONIKA KUMARI, EGOHSI, BALJEET				0	STBP
14	2202-03-789-94-51 0206072014000895	the second se	65174913203	STBP0000819	8000.00	0	STBP
144	2202-03-789-94-51 0206072014000895	KIRAN, BGOHSR, SATYANARAYAN	65174815376	STBP0000819	8000.00	0	STBP
	2202-03-789-94-51 0206072014000595	SARITA DEVI, BGOHTS, UMED SINGH	65176025158	STBP0000819	8000.00	D	STBP
	2202-03-789-94-51	SANTOSH KUMARI, BGOHTH, BABULAL	55149824158	STBP0000819	8000.00	0	STBP
	0206072014000695 2202-03-789-94-51	ANJU, BGOHTQ, KANWAR SINGH	65098843080	ST8P0000819	8000.00	0	STBF
	0206072014000895 2202-03-789-94-51	SITA DEVI, BGOHU7, ROSHAN LAL	65149863567	STBP0000819	8000.00	ō	STBP
	0206072014000895 2202-03-789-94-51	ANJU RANI, BGOHUG, RAGHUBIR	65150198266	STBP0000819	8000.00	c	STBP
149	0206072014000895 2202-03-789-94-51	MANJEET, BGOHUP, DHARMCHAND,	65150318063	STBP0000819	8000.00	0	STBP
150	0206072014000895 2202-03-789-94-51	MEENA KUMARI, BGOHUY, JAIBIR SINGH	65150876367	STB20000819	8000.00	0	STBP
151	0206072014000895 2202-03-769-94-51	SUSHILA, BGOHVE, RAMBIR SINGH	65128423815	STEP0000819	8000.00	0	
52	0206072014000895 2202-03-789-94-51	MANILA, BGOHWW, RAJENDER SINGH	65149117803	STBP0000819	Carrier Street		STBP
53	0206072014000895 2202-03-789-94-51	PARITI, BGOHX4, SURESH KUMAR	65150786778		8000.00	0	STBP
54	0206072014000895	AARTI, BGOHXD, DALEL SINGH	an i chian a c	STBP0000819	8000.00	0	STRP
55	2202-03-789-94-51 0206072014000895	SUSHMA, BGOHXM, JAGTAR	65150067527	STBP0000819	8000.00	0	STBP
6	2202-03-789-94-51 206072014000895	POONAM, BGOHXV, BALWAN	65125898747	STBP0000819	8000.00	0	STBP
	202-03-789-94-51 206072014000895		65122473726	STBP0000819	8000.00	0	STRP
2	202-03-789-94-51	MANISHA, BGOHY3, MOHAR LAL	65121312056	STBP0000819	8000.00	0	STEP
2	206072014000895 202-03-789-94-51	URMILA, BGOHYC, ABHEY RAM	65127169596	STBP0000819	8000.00	0	STBP
2	206072014000895 202-03-789-94-51	MANJU, EGOHYL, RAMKISHAN	65122470805	STBP0000819	8000.00	0	
0 0 2:	206072014000895 202-03-789-94-51	VARSHA RANI, BGOHYU, KRISHAN LAL	65128054493	STERGOSSES	8000.00		STEP
1 0:		SUSHMA, BHOHS8, DALBIR		CONTRACTOR		0	STBP
					8000.00	0	STHP

Verified that the above bank account and amount details of various payees are correct and invoice no. 0206092314073617 recevied from treasury office. Tosham is verified online.

Initials of Treasury Officer

Date:

lesue Date	of Pay	Or	der:31/07/2014
Validity	date	of	Pay

(against Pay Order No.0206003618) 657 order:10/08/2014

1		(against Pay Order No	0.02060030107	SPI OF			
a summer	Code :0923	For DDO : TREASURY OF	FICER HARYANA 30825433252	STBP0000819	8000.00	0	STBP
162	0206072014000895 2202-03-785-94-51	POOJA, BHOHSH, MAN SINGH		STBP0000819	8000.00	O	STUP
163	6206072014000895 2202-03-789-94-51	MONIKA, BHOHSQ, DHARMPAL	65174677956	STBP0000819	8000.00	Q	STEP
164	0206072014000895 2202-03-789-94-51	KUMARI SUMAN, BHOHT7, KARMVIR SINGH	65089902480		8000.00	0	STBP
165	0206072014000895 2202-03-789-94-51	FARMILA, BHOHTG, RAMDAS	65176352233	STEP0000819		D	STBP
166	0206072014000895 2202-03-789-94-51	BABITA, BHOHTP, DHARAMBIR	55149824250	STBP0000819	8000.00		
167	0206072014000895 2202-03-789-94-51	KAVITA, BHOHTY, RAJKUMAR	55149824125	STBP0000819	8000.00	0	STBP
168	0206072014000895 2202-03-789-94-51	NITU RANI, BHOHU6, RAJESH	65150459865	STBP0000819	8000.00	0	STBP
169	0206072014000895 2202-03-789-94-51	RAVINA, BHCHUF, BALIRAM	65150235006	STBP0000819	8000.00	0	STBP
170	0206072014000895	SAVITA, BHOHUO, JAGDISH	65150786519	STBP0000819	8000.00	D	STBP
171	2202-03-789-94-51 0206072014000895 2202-03-789-94-51	SAVITA, BHOHUO, JAGDISH	65150286519	STBP0000819	8000.00	Ó	STBP
172	0206072014000895 2202-03-789-94-51	SAVITA, BHOHUX, SURESH KUMAR	65056287188	STBP0000819	8000.00	õ	STBP
173	0206072014000895	MANJU KUMARI, BHOHV5, DHAN SINGH	65149606768	STBP0000819	8000.00	ò	STBP
174	0206072014000895 2202-03-789-94-51	BABLI, EHOHWV, RAJENDER SINGH	65149116300	STBP0000819	8000.00	0	STBP
175	0205072014000895 2202-03-789-94-51	MANJU, BHOHX3, WAZEER SINGH	65149732737	STRP0000819	8000.00	0	STBP
176	0206072014000895 2202-03-789-94-51	POOJA, BHOHXC, DALEL SINGH	65150065553	STBP0000819	8000.00	Ũ	STBP
177	0206072014000895 2202-03-789-94-51	MEENA KUMARI, BHOHXL, JANGBIR SINGH	65126338749	ST8P0000819	8000.00	ō	STRP
178	0206072014000895 2202-03-789-94-51	ANITA, BHOHXU, SATEIR	65125898522	STBP0000819	8000.00	0	STHP
179	0206072014000895 2202-03-789-94-51	ANITA DEVI, BHOHY2, PAJENDER SINGH	65121312181	STBP0000819	8000.00	0	S'TEP
180	0206072014000895 2202-03-789-94-51	SONIA, BHOHYE, RAJBIR	65126555390	STBP0000819	8000.00	O	STRP
181	0206072014000895 2202-03-789-94-51	RENU BALA, BHOHYK, SURESH KUMAR	65122275522	STBP0000519	8000.00	6	STRIP
182	D206072014000895 2202-03-789-94-51	MONIKA, BHOHYT, NAPHE SINGH	65125402446	STBP0000819	6000.00	0	STBP
163	0206072014000895	BABAL, BIOHS7, UMED SINGH	65174913032	STBP0000819	8000.00	0	STBP
184	0206072014000895 2202-03-789-94-51	SONIKA O, BIOHSG, CHAJU RAM	65058171760	STBP0000819	8000.00	0	STBP
185	0206072014000895 2202-03-789-94-51	NEELAM, BIOHSP, CHANDER SINGH	55149824873	STB20000819	0000.00	0	STHP
186	0206072014000895 2202-03-785-94-51	SONIA, BIOHSY, BALBIR	65174872527	STBP0000819	8000.00	G)	STEP
187	0206072014000895 2202-03-789-94-51	RENU, BIOHT6, SHYAM LAL	65175481918	STBP0000819	8000.00	0	STRP
188	0206072014000895 2202-03-789-94-51	MONIKA, BIOHTF, JAGAT SINGH	65056288705	STEP0000819	6000.00	C	STBP
				1			and the second second

invoice No. : 0205092314073617

Endorsement from DDO

Verified that the above bank account and amount details of various payees are correct and invoice no. 0206092314073617 receiied from treasury office, Tosham is verified online.

1

Date:

Initials of Treasury Officer

Sultin 1/87/4 signature of DDO/Messenger

Page 7of 0

	/	2	er 1,0	w.			
189	0206072014000895	REKHA, BIONTO, ZILE SINGH	Travers of Editors	1	8000.00	0	STBP
1000	2202-03-789-94-51		55149824114	STBP0000819	8000.00	<u>v</u>	3150
190	0206072014000895 2202-03-789-94-51	MAMTA, BIOHTX, SATBIR	55149829859	STBP0000819	8000.00	0	STBP
191	0206072014000895 2202-03-789-94-51	DINESH KUMARI, BIOHUS, MANOHAR LAL	65150317795	STBP0000819	B000.00	0	STBP
192	0206072014000895 2202-03-789-94-51	ANU, BIOHUE, RAMESH	65150234885	ST8F0000819	8000.00	0	STBP
193	0206072014000895 2202-03-789-94-51	RITU RANI, BIOHUN, BALRAJ	65149864924	STBP0000819	8000.00	0	STBP
194	0206072014000895 2202-03-789-94-51	MANJU, BIOHUW, RAJBIR SINGH	65056288750	STBP0000819	8000.00	0	STHP
195	0206072014000895 2202-03-789-94-51	POOJA, BIOHV4, TILAK RAJ	65150435764	STBP0000819	8000.00	0	STBP
196	0206072014000895 2202-03-789-94-51	SUMAN, BIOHWU, SURAT SINGH	65149118182	STBP0000819	8000.00	0	STBP
197	0206072014000895 2202-03-789-94-51	SANJU RANI, BIOHX2, RAJESH KUMAR	65150876130	STBP0000819	8000.00	0	STBP
198	0206072014000895 2202-03-789-94-51	NILAM, BIOHXB, JAGE RAM	65150333910	STBP0000819	8000.00	0	STBP
199	0206072014000895 2202-03-789-94-51	MUKESH BAI, BIOHXK, ISHWAR SINGH	65124945972	STBP0000819	8000.00	C	STBP
200	0206072014000895 2202-03-789-94-51	PARVEEN, BIOHXT, SUBASH CHANDER	65124482515	STBP0000819	8000.00	0	STBP
201	0206072014000895 2202-03-789-94-51	MAUSAM, BIOHY1, BHOOP SINGH	65126337520	STBP0000819	8000.00	0	STBP
202	0206072014000895 2202-03-789-94-51	CHANDRESH, BIOHYA, ISHWAR SINGH	65122251169	STBP0000819	8000.00	0	STBP
203	0206072014000895 2202-03-789-94-51	SUNITA, BIOHYJ, DHARMPAL	65122275408	STEP0000819	8000.00	- 0	STBP
204	0206072014000895 2202-03-789-94-51	RITU RANI, BIOHYS, SURESH KUMAR	65132891549	STBP0000819	8000.00	0	STBP
205	0206072014000895 2202-03-789-94-51	SOMEE DEVI, CCOHO4, VEDPARKASH	65130340525	STBP0000819	8000.00	0	STRP
206	0206072014000895 2202-03-789-94-51	SHIKHA, CDOH03, RAMESH KUMAR	65174988521	STBP0000819	8000.00	0	STBF
207	0206072014000895 2202-03-789-94-51	RITU, CEOHO2, DHARMBIR	55149823982	STBP0000B19	8000.00	ũ	STBP
208	0206072014000895 2202-03-789-94-51	PRIYANKA, CF0H01, POKHAR SINGH .	65127135657	STBP0000819	8000.00	0	STBP
209	0206072014000895 2202-03-789-94-51	NEELAM, CG0H00, MAHABIR SINGH	65122383139	STBP0000819	8000.00	0	STBP
210	0206072014000895 2202-03-789-94-51	VANDANA, GOOBWP, SATENDER SINGH	65151292587	'STBP0000819	8000.00	0	STBP
211	0206072014000895 2202-03-789-94-51	ANITA, LM21EU, SHAMSHER SINGH	65058171668	ST8P0000819	8000.00	Ō	STBP
212	0206072014000895 2202-03-789-94-51	AMARJEET, LN21ET, JOGINDER SINGH	65058171704	STBP0000819	8000.00	0	STBP
				, Bill Total		0 0	
-		Total EDS Amount.	1686000 00/	Sec.	0		

Total EPS Amount:1696000.00/-

Endorsement from DDO

Verified that the above bank account and amount details of various payees are correct and invoice no. 0206092314073617 recevied from treasury office. Tosham is verified online.

Initials of Treasury Officer

Date:

Page 8of 0

		а 	Annexure	ser 😇 Soo se		
Sr	Name of Claimant/ Particular of Sub Vouche	UCP r	Net Amount	DDO BT. Amount	Sanction - Sanction	Remarks
	1 SAVITA POSTMATRIC B A I-	6P0HE1	8000	Amount	No Date	
	2 POOJA POSTMATRIC B A I-	600HE2				5.1
100	3 SITA POSTMATRIC-	6NOHE3	8000		5.8 S	
	4 PONAM POSTMATRIC B A I-	6M0HE4	8000		ੀ ਮੁੱਖ ਦੇ	(20)
	5 MONIKA POSTMATRIC B A I-	6LOHE5	8000		20 (*)	
1.00	6 SUSHILAKUMARI POSTMATRIC B A	1000	8000			
	7 KAVITA RANI POSTMATRIC B A I-		0008	6		
	B KAVITA POSTMATRIC B A I-	6J0HE7	. 8000		*. i	
	9 MONIKA POSTMATRIC B A I-	6R0HE6	8000	10.8		
		6Q0HE9	8000	(apr. 6)		
	IO MANJEETKUMARI POSTMATRIC B A	I- 6POHEA	80,00			
11-11-11-11-11-11-11-11-11-11-11-11-11-	11 SOMEE DEVI-	CC0H04	8000			
1997 - III	2 BABAL	BIOHS7	8000		pin Mile Internet	a i a gr
1	IS SUSHMA-	BHOHS8	6000			
74 dia	HA NEELAM	BGOHS9	8000		i θ	
	15 MONIKA-	BFOHSA				
	6 SNEHLATA	BEOHSB	0003			
	7 SUMAN	BD0HSC	8000			
90	8 USHA-	2E9SNN	8000			
10 4	9 PRIYANKA	BCOHSD	BOÓO			
13	0 LUXMI DEV.	Transformers and the	8000	÷ 1		40 M
ali 11	1 MANJEET KAUR-	BBOHSE	8000			
비안 문 성	2 SONIKA D	BA0HSF	8000			
- 6 n 11	Constraints and the second	BIOHSG .	8000	а X — Y	fina k 🥬 🤆	~
1.11		BHOHSH	8000		24. Z (1984	
-1.4	4 MONIKA KUMARI-	BGOHSI	8000			1.
- P	5 SEEMA-	BFOHSJ	8000			
	6 KANTA-	BEOHSK	8000	4	ing a s	
1	7 PARMILA-	BOOHSL	8000	2 1 1 I	et . *	
28	AARTI BAI-	BCOHSM	8000			
29	SAROJ-	BBOHSN	8000			28
30	SUMAN KUMARI-	BACHSO	8000		0	31
31	NEELAM-	BIOHSP	8000		22	
32	MONIKA-	BHOHSO	8000		1 d* 4	
33	KIRAN	BGOHSR	8000	×		
34	VANDANA-	BFOHSS	8000		6	
35	MAUSAM-	BECHST				
	MAMTA-	BDOHSU	8000			
- 37	POONAM KUMARI-	BCOHSV	8000	- 81 C		
Contract of the local division of the local	POOJA-	and the second se	6000			
1.000	MANJEETA-	BBOHSW	8000.		•	
	SONIA-11	BAGHSX .	8000	2	t la s	
	USHA-	BIOHSY	8000			
	NEETU RANI-	BFOHTO	8000			N O
E 5.3	SANGEETA-	BEOHT1	8000	€ E	Sucht	
		2A0HWT	8000		257.7/14	
	SONIA- Sector	BD0HT2	8000		Principa	1
- 40		BCOHT3	8000		CH. B.L. Govt. W.C	
in the second	NEETU-	BBOHT4	0000		Tosham (Bhiwani)	
	SAILJA-	BAOHTS	8000		-	
	RENU-	BIOHTG	0000			
	KUMARI SUMAN-	BHOHT7	6000			
50	SARITA NEML	RONHTE			1	- J ^a
		* .	*0no -	<i>e</i>	Rent I	
	1200-011 (15a)		1		1.005	
	4 _ (2)		о _В		- 排列。1 · · ·	
(*)=)	termental chiefe		-		9.344 個計 1.1	

UU

0

-707 KITABO-	BEOHUR		in an
105 SANGITA DEVI-	BDOHUS	<u>8000</u>	
109 SANDHYA-	BCOHUT	8000	
110 MONIKA	ввонии	8000	<u>, 1</u>
111 NIRMLA-	BADHUV	8000 -	
112 MANJU- 113 SAVITA	BIOHUW	8000 .	
	+ BHOHUX	8000	
114 MEENA KUMARI- 115 MANJU-	BG0HUY	8000	
116 PUSPA DEVI-	BDOHVO	8000	
117 JYOTI RANI-	BC0HV1	8000	
118 VANDANA.	BB0HV2	8000	
119 MONIKA	GOOBWP	8000	1
120 POOJA	BA0HV3	8000	· ·
	BIOHV4	8000	
121 MANJU KUMARI-	BH0HV5	a 8000 -	1
122 SUSHILA-	BG0HV6		
123 MONU RANI-	BF0HV7	8000	
124 MONIKA RANI-	BEOHVa	8000	
125 SANJU.	BDOHV9	8000 -	
126 DHOLL-	BCOHVA	8000	
127 RENU-	BBOHVB	8000	
128 NEETU RANI-	BEOHWP	8000	
129 SARIKA	BDOHWO	8000	
130 MANJU=	BCOHWR	8000	
131 KAVITA-	BBDHWS	8000	
132 KAVITA	BAOHWT	8000	
133 SUMAN-	BIOHWU	8000	2
134 BABLE	BHOHWV	8000	
135 MANILA-	BGDHWW	8000	
136 TAMNA INDORA-	BFOHWX	8000	
137 PARMILA	BEOHWY .	8000	
13B KAVITA-	EBOHXO	6000	
139 MAMTA RANI-	BAOHX1	8000	2
140 SANJU RANI-	BI0HX2	8000	
141 MANJU-	ВНОНХЗ	- 6000 ·	
142 SAVITA-	- ВНОНИО	8000	
143 PARITI	BG0HX4	8000	
144 RINA RANI.	BF0HX5	8000	
145 MEENU	BE0HX6	8000 *	
146 KAMLESH-	BD0HX7	8000	
147-SUDESH RANA	BCOHX8 -	0003	
148 KHUSBHU RANI-	BBOHX9	8000	
149 ASHA RANI-	BAOHXA	8000 Suchita	
150 NILAM1 ").	BIOHXB	8000 2577114	
151 POOJA-	- BHOHXC	8000 Principai	
152 AARTIJ	BGOHXD	CH. B.L. Govt. W.C	
153-KAUSHALYA	BFOHXE	Booo Tosham (Bhiwani)	
154 POOJA	BEOHXF	8000	
156 PRIYANKA	BDOHXG	8000	
157 BINA DEVI-	BCOHXH	0003	
158 BABLU KUMARI-	BBOHXI -	8000	
159 MUKESH BAL	BAOHXJ	8000	
server and distance were a made and the server as a server of the server as a server of the server o	BIOHXK	8000	
Tel monte and the second se		BA Final	
and the Western		8 · · · ·	add in
A			

92000923-2014-15-0019

1

A COLORADOR - C

A DESCRIPTION OF A DESCRIPTION

KUANJU.	BF0HXN	8000		1 1	l)
163 KAVITA	BEOHXO	8000 -	ана — 11 м. 11 м. – м.	<u>}</u>	
164 REENA.	BDOHXP	8000	T- A) C-	T.	
165 BANTI KUMARI-	BCOHXQ	8000	5a.)		
165 MANJU RANI- 167 MANJU-	BBOHXR	8000	11	1	
168 PARVEEN	BAOHXS	8000	÷.		
169 ANITA-	BIOHXT	8000		1	
170 POONAM-	BGOHXV	8000		ł	
171 JYOTI-	BF0HXW	8000	2	w.	
172 REI(HA.	BEOHXX	8000 -			
173 NASEEB.	BDOHXY	8000	2 2		
174 SUNDARI DEVI-	BACHYO	8000			
175 MAUSAM-	BIOHY1	8000			
176 ANITA DEVI	вноние	8000	ала <u>вас 2</u> нас		
177 MANISHA-	BGOHY3	8000			
178 MUKESH-	BFOHYA	8000	ч с		
179 MANJU.	BEOHYS	8000 +8000			
180 BHATERI-	BDoHY6	8000			
181 NISHA-	BC0HY7	8000			
182 MILKOR-	ВВонув	8000			
183 CHANDERMUKHI-	BAOHYS	8000	29 17		
184 CHANDRESH-	BIOHYA	8000			
85 SONIA-	-внонув .	8000	0		
86 URMILA-	BGOHYC	8000	2		
67 PUSHPA-	BFOHYD	8000	17.		
88 ANITA	BEOHYE	6000			
39 NEELAM-	BDOHYF	8000	6 B		
D ANITA	BCOHYG	6000		1	
11 ANITA-	BBOHYH	6000			
2 RENU RANI-	BAOHYI	8000	s .	1	
3 SUNITA-	BIOHYJ	8000			
1 RENU BALA-	внонук	8000	•		
i MANJU-	BG0HYL .	8000	കമില്ല് ക്രമ്തി		
i SUNITA-	BFOHYM	8000	19	(r)	
REENA-	BEOHYN	8000	1	i	
BABLI-	BDOHYO	8000	· · · · ·		
LAKSHMI-	BCOHYP	8000			
LAKSHMI-	BBOHYO	8000	e		
NEELAM DEVI-	BAOHYR	8000	×		
RITU RANI-	BIOHYS	8000		ti	
MONIKA- 10	внонут	8000			
VARSHA RANI-	BG0HYU	.00.511	Suchitus		
POONAM-	BFOHYV	8000	Shell		
SUMAN-		8000	Principal 2-77/14		
CAVITA-	BEOHYW	6000			
	BD0HYX	8000	CH BL. Govi. W.C		
ARSHA RANI-	BCOHYY	8000	Tosham (Bhiwani)		
IEELAM.	CGDH00	8000	-62-	4	
RIYANKA.	CF0H01	8000	수 말했다. 고		
110-	CE0H02	8000	1 1 2		
HIKHA-	CD0H03	8000			
	1				
an <u>a</u> the	Total	1696000		4	
			0	1	
podal	scholmon 25 7 tuy	man	800 ¹² 12		
forsepre	Schelminp no Uly	(\bigcirc)	* * * · · ·	X A	
$1 \qquad \tilde{X} \le 1$	[25] [\sim	- ·	P	

V.

54 B.A 1st

67

REENA

Total Sr.Ne Account No. Father,s Name Class Roll No. Name Of Students 14000 65240397600 Sanjay kumar 1 B.A 1st 24 Nisha 14000 55149824114 Jile singh 2 B.A 1st 109 Rekha 14000 34976041547 3 B.A 1st Shair Singh 288 Anita 14000 55155148920 Jang Bahadur 4 B.A 1st 282 Poonam 14000 65235984084 5 BA1st Balbeer singh 247 Neelam 14000 65240758513 Satbir 6 B.A 1st 256 Mamta 14000 55155148997 7 B.A 1st Satayvir 96 Soniya 14000 82201900000011 Rajbir singh 8 B.A 1st 238 Bimla 14000 65241191053 234 Satbir 9 B.A 1st Anu kumari 14000 65240992870 Ram niwas 10 B.A 1st 153 Mukesh kumari 14000 053001700003660 Mahender singh 11 B.A 1st Sudesh kumari 64 14000 65240759118 12 B.A 1st Dalbir 128 Jyoti 14000 65241273005 13 B.A 1st 98 priyanka rani satvir 14000 65241079289 14 B.A 1st ishwer singh 49 laxmi 14000 55155149741 15 B.A 1st 290 MANJU RANI kirshan kumar 14000 65067476922 10 B.A 1st 272 suman rani umed singh 14000 55155149923 subhash chander 17 B.A 1st 281 Jyoti 14000 4758108000511 18 B.A 1st 217 reenu chandi ram 55155149037 14000 19 B.A 1st 39 ramesh kumar neelam 14000 65241338269 20 B.A 1st 237 roshan lal poonam 55155149901 14000 21 B.A 1st 285 satanarayan pooja 55155149912 14000 22 B.A 1st 263 asha rani jianarayan 14000 053001700062370 23 B.A 1st 268 neetu jogi ram 14000 65241080750 24 B.A 1st 204 suresh kumar kavita rani 14000 25 B.A 1st 50 65240993363 vijay luxmi lalman 14000 55155142815 26 B.A 1st 206 RACHNA umed singh 14000 27 B.A 1st 97 KAVITA DEVI ishwer singh 65420998384 14000 KISHMATI jangbir singh 65241055940 28 B.A 1st 43 sultan 55155149560 14000 29 B.A 1st savita 1 30 B.A 1st 209 USHA SUBhash 65194753561 14000 ram kirshan 053001700002620 14000 31 B.A 1st 66 lalita 65234550273 14000 32 B.A 1st 21 sonia desraj 33 B.A 1st 115 man singh 65240514225 14000 rani 34 B.A 1st 222 pinki kirshan kumar 65238626933 14000 35 B.A 1st 141 meenakshi amarnath 65240791572 14000 36 B.A 1st 10 pooja rani omprakash 55149829804 14000 284 37 B.A 1st puspa ramesh 65240514383 14000 126 meenu devi santlal 38 B.A 1st 65175130094 14000 39 B.A 1st 3 ritu omprakash 65237473088 14000 4 monika rani suraj bhan 40 B.A 1st 65240397699 14000 41 B.A 1st 201 umed singh pooja 5786000100042760 14000 42 B.A 1st 80 monika nafe singh 4758108000802 14000 155 43 B.A 1st sanju devi pratap singh 65234323909 14000 44 B.A 1st 13 pooja ramesh kumar 053001700002690 14000 244 45 B.A 1st pooja rani shri bhawan 65173170562 14000 46 B.A 1st 150 Manju devi charan lal 65149865087 14000 47 B.A 1st 208 SUNITA DEVI RAMESH kumar 55155149526 14000 48 B.A 1st 6 HEMLATA sajjan kumar 65219038092 14000 49 B.A 1st 257 ASHA RANI man singh 65240108100 14000 50 B.A 1st 119 ANJU BALA **RAJ KUMAR** 65235524297 14000 51 B.A 1st 113 **POOJA RANI** RAMNIWAS 65341492584 14000 52 B.A 1st 147 AARTI rakesh kumar 65241080433 14000 53 B.A 1st 41 KAAFEE KARAMBIR 55155149945 14000

jagdish

55155149616

14000

Ch. Bansi Lal Govt. College for Women, Tosham (Bhiwani List of SC Students 2015-16

55 B.A 1st 42 PRIYA 56 B.A 1st 11 Rekha r 57 B.A 1st 278 rambha 58 B.A 1st 287 mamta 59 B.A1st 18 Priyanka 61 B.A1st 159 Kausha 62 B.A1st 118 Manju 63 B.A1st 129 Kausha 64 B.A1st 162 Neeru 65 B.A1st 12 Madhu 66 B.A1st 258 Poonan 67 B.A1st 258 Poonan 67 B.A1st 239 Kavita 70 B.A1st 239 Kavita 70 B.A1st 154 Kavita 72 B.A1st 154 Kavita 72 B.A1st 151 Poonan 74 B.A1st 151 Poonan 75 B.A1st 151 Poonan	eri jagdish Jang B rajpal a satish ya balbir dalbir s rajende satyav ishwar n mansir manvir suresh anand kartar rajkum a om pa	singh 80 singh 80 er 1 singh 05 r singh 05 r singh 105	551551490000 65235001822 1 0201700055921 1 65241081142 1 65235840060 1 65234132461 1 65240792178 1 0091700107218 1 65241055178 3001700050610 65240993169 1 65240758251 1	4000 4000 4000 4000 4000 14000 14000 14000 14000 14000
33 B.A 1st 11 Rekha f 56 B.A 1st 278 rambha 58 B.A 1st 287 mamta 59 B.A1st 18 Priti 60 B.A1st 18 Priyanka 61 B.A1st 159 Kausha 62 B.A1st 159 Kausha 62 B.A1st 162 Neeru 63 B.A1st 162 Neeru 65 B.A1st 162 Neeru 65 B.A1st 162 Neeru 66 B.A1st 258 Poonan 67 B.A1st 239 Kavita 69 B.A1st 239 Kavita 70 B.A1st 154 Kavita 72 B.A1st 154 Kavita 73 B.A1st 157 Poashn 74 B.A1st 151 Poonar 75 B.A1st 262 Meena </td <td>ani krishan eri jagdish Jang B rajpal satish ya balbir dalbir s rajende satyav ishwar n mansir manvir suresh anand kartar rajkum a om pa</td> <td>singh 80 singh 80 er 1 singh 05 r singh 05 r singh 105</td> <td>65235001022 0201700055921 1 65241081142 1 65235840060 1 65234132461 1 65240792178 1 0091700107218 1 65241055178 1 3001700050610 1 65240793169 1</td> <td>4000 4000 14000 14000 14000 14000 14000 14000 14000</td>	ani krishan eri jagdish Jang B rajpal satish ya balbir dalbir s rajende satyav ishwar n mansir manvir suresh anand kartar rajkum a om pa	singh 80 singh 80 er 1 singh 05 r singh 05 r singh 105	65235001022 0201700055921 1 65241081142 1 65235840060 1 65234132461 1 65240792178 1 0091700107218 1 65241055178 1 3001700050610 1 65240793169 1	4000 4000 14000 14000 14000 14000 14000 14000 14000
33 B.A 1st 11 Rekha f 56 B.A 1st 278 rambha 58 B.A 1st 287 mamta 59 B.A1st 18 Priti 60 B.A1st 18 Priyanka 61 B.A1st 159 Kausha 62 B.A1st 159 Kausha 62 B.A1st 162 Neeru 63 B.A1st 162 Neeru 65 B.A1st 162 Neeru 65 B.A1st 162 Neeru 66 B.A1st 258 Poonan 67 B.A1st 239 Kavita 69 B.A1st 239 Kavita 70 B.A1st 154 Kavita 72 B.A1st 154 Kavita 73 B.A1st 157 Poashn 74 B.A1st 151 Poonar 75 B.A1st 262 Meena </td <td>ani krishan eri jagdish Jang B rajpal satish ya balbir dalbir s rajende satyav ishwar n mansir manvir suresh anand kartar rajkum a om pa</td> <td>singh 80 singh 80 er 1 singh 05 r singh 05 r singh 105</td> <td>0201700055921 65241081142 1 65235840060 1 65234132461 1 65240792178 0091700107218 65241055178 3001700050610 65240993169 65240758251</td> <td>4000 4000 14000 14000 14000 14000 14000 14000</td>	ani krishan eri jagdish Jang B rajpal satish ya balbir dalbir s rajende satyav ishwar n mansir manvir suresh anand kartar rajkum a om pa	singh 80 singh 80 er 1 singh 05 r singh 05 r singh 105	0201700055921 65241081142 1 65235840060 1 65234132461 1 65240792178 0091700107218 65241055178 3001700050610 65240993169 65240758251	4000 4000 14000 14000 14000 14000 14000 14000
30 B.A 1st 278 rambha 57 B.A 1st 287 mamta 59 B.A1st 287 mamta 59 B.A1st 18 Priyanka 61 B.A1st 159 Kausha 62 B.A1st 159 Kausha 62 B.A1st 12 Madhu 63 B.A1st 162 Neeru 65 B.A1st 12 Madhu 66 B.A1st 258 Poonan 67 B.A1st 239 Kavita 69 B.A1st 239 Kavita 69 B.A1st 154 Kavita 70 B.A1st 154 Kavita 72 B.A1st 157 Rakhee 75 B.A1st 157 Poaran 74 B.A1st 262 Meena 75 B.A1st 262 Meena 75 B.A1st 262 Meona	eri jagdish Jang B rajpal a satish ya balbir dalbir s rajende satyav ishwar n mansir manvir suresh anand kartar rajkum a om pa	ahadur singh 80 er ir singh 05 singh 05 ngh	65241081142 65235840060 1 65234132461 1 65240792178 1 0091700107218 65241055178 3001700050610 65240993169 65240758251 1	14000 14000 14000 14000 14000 14000 14000
57 B.A 1st 287 mamta 59 B.A1st 270 Priti 60 B.A1st 18 Priyanka 61 B.A1st 159 Kausha 62 B.A1st 159 Kausha 62 B.A1st 159 Kausha 62 B.A1st 162 Neeru 63 B.A1st 162 Neeru 65 B.A1st 12 Madhu 66 B.A1st 258 Poonan 67 B.A1st 34 Savina 68 B.A1st 239 Kavita 69 B.A1st 150 Kavita 70 B.A1st 154 Kavita 72 B.A1st 157 Rakhee 73 B.A1st 151 Poonan 74 B.A1st 262 Meena 85 B.A2nd 632 SHALU 87 B.A2nd 632 SHALU	a satish rajpal satish ya balbir dalbir s rajende satyav ishwar n mansir manvir suresh anand kartar rajkum a om pa	singh 80 er 105 singh 105 singh 105 r singh 105	65235840060 65234132461 65240792178 0091700107218 65241055178 3001700050610 65240993169 65240758251	14000 14000 14000 14000 14000 14000
50 B.A1st 270 Priti 60 B.A1st 18 Priyanka 61 B.A1st 159 Kausha 62 B.A1st 118 Manju 63 B.A1st 33 Monika 64 B.A1st 162 Neeru 65 B.A1st 12 Madhu 66 B.A1st 258 Poonan 67 B.A1st 34 Savina 68 B.A1st 239 Kavita 69 B.A1st 81 Urmila 70 B.A1st 154 Kavita 72 B.A1st 154 Kavita 73 B.A1st 157 Rakhee 75 B.A1st 151 Poonar 76 B.A1st 262 Meena 85 B.A2nd 632 SHALL 87 B.A2nd 632 SHALL 89 B.A2nd 632 SHALL	rajpal satish ya balbir dalbir s rajende satyav ishwar n mansir manvir suresh anand kartar rajkum a om pa	singh 80 er 105 singh 105 singh 105 r singh 105	65234132461 65240792178 0091700107218 65241055178 3001700050610 65240993169 65240758251	14000 14000 14000 14000 14000
60 B.A1st 18 Priyanki 61 B.A1st 159 Kausha 62 B.A1st 118 Manju 63 B.A1st 33 Monika 64 B.A1st 162 Neeru 65 B.A1st 12 Madhu 66 B.A1st 258 Poonan 67 B.A1st 34 Savina 68 B.A1st 239 Kavita 69 B.A1st 81 Urmila 70 B.A1st 154 Kavita 72 B.A1st 157 Rakhee 73 B.A1st 151 Poonar 74 B.A1st 151 Poonar 76 B.A1st 262 Meena 85 B.A.2nd 632 SHALU 87 B.A.2nd 632 SHALU 89 B.A.2nd 615 kiran 90 B.A.2nd 615 kiran	a satish ya balbir dalbir s rajende satyav ishwar n mansir manvir suresh anand kartar rajkum a om pa	er ir singh 05 singh ngh r singh	65240792178 0091700107218 65241055178 3001700050610 65240993169 65240758251	14000 14000 14000 14000
61 B.A1st 159 Kausha 62 B.A1st 118 Manju 63 B.A1st 33 Monika 64 B.A1st 162 Neeru 65 B.A1st 12 Madhu 66 B.A1st 258 Poonan 67 B.A1st 34 Savina 68 B.A1st 239 Kavita 69 B.A1st 34 Savina 68 B.A1st 239 Kavita 69 B.A1st 154 Kavita 70 B.A1st 154 Kavita 72 B.A1st 157 Rakhee 73 B.A1st 151 Poonan 74 B.A1st 262 Meena 85 B.A.2nd 632 SHALU 87 B.A.2nd 632 SHALU 89 B.A.2nd 615 kiran 90 B.A.2nd 615 kiran	ya balbir dalbir s rajende satyav ishwar n mansir manvir suresh anand kartar rajkum a om pa	er ir singh 05 singh ngh r singh	0091700107218 65241055178 3001700050610 65240993169 65240758251	14000 14000 14000
62 B.A1st 118 Manju 63 B.A1st 33 Monika 64 B.A1st 162 Neeru 65 B.A1st 12 Madhu 66 B.A1st 258 Poonan 67 B.A1st 239 Kavita 68 B.A1st 239 Kavita 69 B.A1st 81 Urmila 70 B.A1st 154 Kavita 72 B.A1st 154 Kavita 72 B.A1st 157 Rakhee 73 B.A1st 157 Rakhee 75 B.A1st 151 Poonan 76 B.A1st 262 Meena 85 B.A.2nd 632 SHALU 87 B.A.2nd 632 SHALU 89 B.A.2nd 615 kiran 90 B.A.2nd 615 kiran 91 B.A.2nd 742 jyoti	dalbir s rajende satyav ishwar mansir manvir suresh anand kartar rajkum a om pa	er ir singh 05 singh ngh r singh	65241055178 3001700050610 65240993169 65240758251	14000 14000
63 B.A1st 33 Monika 64 B.A1st 162 Neeru 65 B.A1st 12 Madhu 66 B.A1st 258 Poonan 67 B.A1st 34 Savina 68 B.A1st 239 Kavita 69 B.A1st 81 Urmila 70 B.A1st 180 Reenu 71 B.A1st 154 Kavita 72 B.A1st 157 Rakhee 73 B.A1st 151 Poonar 74 B.A1st 151 Poonar 76 B.A1st 262 Meena 85 B.A.2nd 632 SHALL 87 B.A.2nd 632 SHALL 89 B.A.2nd 632 SHALL 89 B.A.2nd 615 kiran 90 B.A.2nd 615 kiran 91 B.A.2nd 742 jyoti	rajende satyav ishwar mansir manvir suresh anand kartar rajkum a om pa	er ir singh 105 singh ngh r singh	3001700050610 65240993169 65240758251	14000
64 B.A1st 162 Neeru 65 B.A1st 12 Madhu 66 B.A1st 258 Poonan 67 B.A1st 34 Savina 68 B.A1st 239 Kavita 69 B.A1st 81 Urmila 70 B.A1st 180 Reenu 71 B.A1st 154 Kavita 72 B.A1st 154 Kavita 73 B.A1st 157 Bakhee 75 B.A1st 151 Poonan 76 B.A1st 262 Meena 85 B.A.2nd 632 SHALU 86 B.A.2nd 632 SHALU 87 B.A.2nd 642 poonan 91 B.A.2nd 692 poonan 92 B.A.2nd 615 kiran 93 B.A.2nd 742 jyoti 93 B.A.2nd 740 pinki <td>satyav ishwar mansir manvir suresh anand kartar rajkum a om pa</td> <td>ir singh 105 singh ngh r singh</td> <td>65240993169 65240758251</td> <td></td>	satyav ishwar mansir manvir suresh anand kartar rajkum a om pa	ir singh 105 singh ngh r singh	65240993169 65240758251	
65 B.A1st 12 Madhu 66 B.A1st 258 Poonam 67 B.A1st 34 Savina 68 B.A1st 239 Kavita 69 B.A1st 239 Kavita 69 B.A1st 180 Reenu 71 B.A1st 154 Kavita 72 B.A1st 154 Kavita 72 B.A1st 154 Kavita 73 B.A1st 157 Darshm 74 B.A1st 151 Poonan 76 B.A1st 262 Meena 85 B.A.2nd 632 SHALU 87 B.A.2nd 632 SHALU 87 B.A.2nd 690 MONIK 89 B.A.2nd 692 poonar 91 B.A.2nd 615 kiran 92 B.A.2nd 742 jyoti 93 B.A.2nd 739 urmila <	ishwar mansir mansir suresh anand kartar rajkum a om pa	singh ngh r singh	65240758251	
66 B.A1st 258 Poonan 67 B.A1st 34 Savina 68 B.A1st 239 Kavita 69 B.A1st 81 Urmila 70 B.A1st 180 Reenu 71 B.A1st 154 Kavita 72 B.A1st 154 Kavita 72 B.A1st 154 Kavita 73 B.A1st 17 Darshn 74 B.A1st 15 Rakhee 75 B.A1st 262 Meena 85 B.A.2nd 632 SHALL 87 B.A.2nd 632 SHALL 87 B.A.2nd 690 MONIK 89 B.A.2nd 692 poonar 91 B.A.2nd 692 poonar 91 B.A.2nd 615 kiran 92 B.A.2nd 742 jyoti 93 B.A.2nd 740 pinki </td <td>n mansii manvir suresh anand kartar rajkum a om pa</td> <td>ngh r singh</td> <td>6524010020</td> <td>14000</td>	n mansii manvir suresh anand kartar rajkum a om pa	ngh r singh	6524010020	14000
67 B.A1st 34 Savina 68 B.A1st 239 Kavita 69 B.A1st 81 Urmila 70 B.A1st 180 Reenu 71 B.A1st 154 Kavita 72 B.A1st 154 Kavita 72 B.A1st 154 Kavita 73 B.A1st 17 Darshm 74 B.A1st 15 Rakhee 75 B.A1st 151 Poonar 76 B.A1st 262 Meena 85 B.A.2nd 632 SHALU 87 B.A.2nd 632 SHAU 89 B.A.2nd 690 MONIK 89 B.A.2nd 671 SANG 92 B.A.2nd 671 SANG 92 B.A.2nd 742 jyoti 93 B.A.2nd 742 jyoti 95 B.A.2nd 740 pinki	manvir suresh anand kartar rajkum a om pa	r singh		14000
68 B.A1st 239 Kavita 69 B.A1st 81 Urmila 70 B.A1st 180 Reenu 71 B.A1st 154 Kavita 72 B.A1st 154 Kavita 72 B.A1st 154 Kavita 73 B.A1st 157 Darshn .74 B.A1st 151 Poonar 76 B.A1st 262 Meena 85 B.A.2nd 580 SUSHI 86 B.A.2nd 632 SHALU 87 B.A.2nd 690 MONIK 89 B.A.2nd 612 poonar 91 B.A.2nd 615 kiran 92 B.A.2nd 511 arty 93 B.A.2nd 742 jyoti 93 B.A.2nd 742 jyoti 95 B.A.2nd 740 pinki 96 B.A.2nd 739 urmila	suresh anand kartar rajkum a om pa		65241000410	14000
69 B.A1st 81 Urmila 70 B.A1st 180 Reenu 71 B.A1st 154 Kavita 72 B.A1st 154 Kavita 72 B.A1st 154 Kavita 73 B.A1st 15 Rakhee 73 B.A1st 151 Poonar 76 B.A1st 262 Meena 85 B.A.2nd 580 SUSHI 86 B.A.2nd 690 MONIK 89 B.A.2nd 692 poonar 91 B.A.2nd 615 kiran 92 B.A.2nd 615 kiran 94 B.A.2nd 742 jyoti 93 B.A.2nd 740 pinki 94 B.A.2nd 740 pinki 95 B.A.2nd 740 pinki 96 B.A.2nd 659 pooja 97 B.A.2nd 659 renu </td <td>anand kartar rajkum a om pa</td> <td></td> <td>05243330000</td> <td>14000</td>	anand kartar rajkum a om pa		05243330000	14000
70 B.A1st 180 Reenu 71 B.A1st 154 Kavita 72 B.A1st 154 Kavita 72 B.A1st 17 Darshm 73 B.A1st 17 Darshm 74 B.A1st 15 Rakhee 75 B.A1st 151 Poonar 76 B.A1st 262 Meena 85 B.A.2nd 580 SUSHI 86 B.A.2nd 690 MONIK 87 B.A.2nd 690 MONIK 89 B.A.2nd 692 poonar 91 B.A.2nd 692 poonar 91 B.A.2nd 615 kiran 92 B.A.2nd 742 jyoti 93 B.A.2nd 742 jyoti 95 B.A.2nd 740 pinki 96 B.A.2nd 739 urmila 97 B.A.2nd 596 pooja	kartar rajkum a om pa	parkash 8	0301/00000220	14000
71 B.A1st 154 Kavita 72 B.A1st 266 Manish 73 B.A1st 17 Darshn 74 B.A1st 15 Rakhee 75 B.A1st 151 Poonar 76 B.A1st 262 Meena 85 B.A.2nd 580 SUSHI 86 B.A.2nd 632 SHALL 87 B.A.2nd 690 MONIK 89 B.A.2nd 692 poonar 91 B.A.2nd 692 poonar 91 B.A.2nd 615 kiran 92 B.A.2nd 615 kiran 93 B.A.2nd 742 jyoti 95 B.A.2nd 742 jyoti 93 B.A.2nd 742 jyoti 95 B.A.2nd 740 pinki 96 B.A.2nd 740 pinki 98 B.A.2nd 596 pooja	rajkum a om pa		05254152210	A CONTRACTOR OF A CONTRACTOR O
72 B.A1st 266 Manish 73 B.A1st 17 Darshn 74 B.A1st 15 Rakhee 75 B.A1st 151 Poonar 76 B.A1st 262 Meena 85 B.A.2nd 580 SUSHI 86 B.A.2nd 632 SHALU 87 B.A.2nd 690 MONIK 89 B.A.2nd 692 poonar 91 B.A.2nd 671 SANGI 92 B.A.2nd 615 kiran 93 B.A.2nd 615 kiran 94 B.A.2nd 742 jyoti 95 B.A.2nd 742 jyoti 95 B.A.2nd 740 pinki 98 B.A.2nd 740 pinki 98 B.A.2nd 659 renu 100 B.A.2nd 659 renu 100 B.A.2nd 659 renu <	a om pa	nar	33143024120	14000
73 B.A1st 17 Darshn .74 B.A1st 15 Rakhee .75 B.A1st 151 Poonar .76 B.A1st 262 Meena .85 B.A.2nd 580 SUSHI .86 B.A.2nd 632 SHALU .87 B.A.2nd 690 MONIK .89 B.A.2nd 692 poonar .90 B.A.2nd 692 poonar .91 B.A.2nd 615 kiran .92 B.A.2nd 511 arty .93 B.A.2nd 742 jyoti .93 B.A.2nd 741 seema .96 B.A.2nd 742 jyoti .95 B.A.2nd 740 pinki .96 B.A.2nd 740 pinki .97 B.A.2nd 659 pooja .99 B.A.2nd 659 pooja .99 B.A.2nd 659 <		rkash 678	0000100020100	14000
74 B.A1st 15 Rakhee 75 B.A1st 151 Poonar 76 B.A1st 262 Meena 85 B.A.2nd 580 SUSHI 86 B.A.2nd 632 SHALU 87 B.A.2nd 690 MONIK 89 B.A.2nd 690 MONIK 89 B.A.2nd 692 poonar 91 B.A.2nd 671 SANGI 92 B.A.2nd 615 kiran 94 B.A.2nd 742 jyoti 95 B.A.2nd 781 seema 96 B.A.2nd 740 pinki 97 B.A.2nd 659 peoja 97 B.A.2nd 659 peoja 97 B.A.2nd 659 penu 100 B.A.2nd 659 renu 100 B.A.2nd 630 sumitra 101 B.A.2nd 727 poona	a rambh	MILLING CONTRACTOR OF THE OWNER OF	3001700002230	14000
75 B.A1st 151 Poonar 76 B.A1st 262 Meena 85 B.A.2nd 580 SUSHI 86 B.A.2nd 632 SHALL 87 B.A.2nd 690 MONIK 89 B.A.2nd 692 poonar 90 B.A.2nd 692 poonar 91 B.A.2nd 671 SANGI 92 B.A.2nd 615 kiran 93 B.A.2nd 742 jyoti 93 B.A.2nd 781 seema 96 B.A.2nd 740 pinki 97 B.A.2nd 740 pinki 98 B.A.2nd 596 pooja 97 B.A.2nd 659 renu 100 B.A.2nd 659 renu 100 B.A.2nd 630 sumitra 101 B.A.2nd 727 poona 102 B.A.2nd 727 poona <td></td> <td>ATC</td> <td>4134004101444</td> <td>14000</td>		ATC	4134004101444	14000
76 B.A1st 262 Meena 85 B.A.2nd 580 SUSHI 86 B.A.2nd 632 SHALL 87 B.A.2nd 690 MONIK 89 B.A.2nd 692 poonar 90 B.A.2nd 692 poonar 91 B.A.2nd 692 poonar 91 B.A.2nd 611 SANGI 92 B.A.2nd 511 arty 93 B.A.2nd 742 jyoti 95 B.A.2nd 742 jyoti 95 B.A.2nd 740 pinki 96 B.A.2nd 740 pinki 97 B.A.2nd 596 pooja 99 B.A.2nd 659 renu 100 B.A.2nd 659 renu 100 B.A.2nd 630 sumitra 101 B.A.2nd 727 poona 102 B.A.2nd 727 poona <td></td> <td>mbir singh</td> <td>0323701101</td> <td>14000</td>		mbir singh	0323701101	14000
85 B.A.2nd 580 SUSHI 86 B.A.2nd 632 SHALU 87 B.A.2nd 690 MONIK 89 B.A.2nd 690 MONIK 89 B.A.2nd 692 poonar 90 B.A.2nd 671 SANGI 91 B.A.2nd 671 SANGI 92 B.A.2nd 615 kiran 93 B.A.2nd 615 kiran 94 B.A.2nd 742 jyoti 95 B.A.2nd 781 seema 96 B.A.2nd 739 urmila 97 B.A.2nd 596 pooja 98 B.A.2nd 659 renu 100 B.A.2nd 659 renu 100 B.A.2nd 658 babita 101 B.A.2nd 630 sumitra 102 B.A.2nd 727 poona 103 B.A.2nd 727 poona	keshu	and the second se	000100	14000
86 B.A.2nd 632 SHALL 87 B.A.2nd 690 MONIK 89 B.A.2nd 719 ashilta 90 B.A.2nd 692 poonar 91 B.A.2nd 671 SANGI 92 B.A.2nd 671 SANGI 92 B.A.2nd 615 kiran 94 B.A.2nd 742 jyoti 95 B.A.2nd 781 seema 96 B.A.2nd 740 pinki 97 B.A.2nd 596 pooja 97 B.A.2nd 659 renu 100 B.A.2nd 659 renu 100 B.A.2nd 659 renu 100 B.A.2nd 630 sumitra 101 B.A.2nd 630 sumitra 102 B.A.2nd 727 poona 103 B.A.2nd 727 poona 104 B.A.2nd 727 po	Contraction of the second second	sh chander	65200337669	14000
87 B.A.2nd 690 MONIK 89 B.A.2nd 719 ashilta 90 B.A.2nd 692 poonar 91 B.A.2nd 671 SANGI 92 B.A.2nd 671 SANGI 92 B.A.2nd 615 kiran 94 B.A.2nd 742 jyoti 95 B.A.2nd 781 seema 96 B.A.2nd 739 urmila 97 B.A.2nd 740 pinki 98 B.A.2nd 659 pooja 99 B.A.2nd 659 renu 100 B.A.2nd 659 renu 100 B.A.2nd 630 sumitra 101 B.A.2nd 732 pinki 103 B.A.2nd 727 poona 104 B.A.2nd 727 poona 105 B.A.2nd 744 manes 107 B.A.2nd 562 as		SH KUMAR	65204122152	14000
89 B.A.2nd 719 ashilta 90 B.A.2nd 692 poonar 91 B.A.2nd 671 SANG 92 B.A.2nd 511 arty 93 B.A.2nd 615 kiran 94 B.A.2nd 742 jyoti 95 B.A.2nd 781 seema 96 B.A.2nd 739 urmila 97 B.A.2nd 740 pinki 98 B.A.2nd 596 pooja 99 B.A.2nd 659 renu 100 B.A.2nd 659 renu 100 B.A.2nd 606 manju 101 B.A.2nd 630 sumitra 102 B.A.2nd 727 poona 103 B.A.2nd 727 poona 104 B.A.2nd 727 poona 105 B.A.2nd 744 manes 107 B.A.2nd 562 ash				14000
90 B.A.2nd 692 poonar 91 B.A.2nd 671 SANGI 92 B.A.2nd 511 arty 93 B.A.2nd 615 kiran 94 B.A.2nd 742 jyoti 95 B.A.2nd 781 seema 96 B.A.2nd 739 urmila 97 B.A.2nd 740 pinki 98 B.A.2nd 596 pooja 99 B.A.2nd 659 renu 100 B.A.2nd 659 renu 100 B.A.2nd 606 manju 101 B.A.2nd 630 sumitra 102 B.A.2nd 727 poona 103 B.A.2nd 727 poona 105 B.A.2nd 727 poona 105 B.A.2nd 744 manes 107 B.A.2nd 562 asha r 108 B.A.2nd 749 na	Contraction of the second s	ant singh	65200922683	14000
91 B.A.2nd 671 SANGI 92 B.A.2nd 511 arty 93 B.A.2nd 615 kiran 94 B.A.2nd 742 jyoti 95 B.A.2nd 781 seema 96 B.A.2nd 739 urmila 97 B.A.2nd 740 pinki 98 B.A.2nd 596 pooja 99 B.A.2nd 659 renu 100 B.A.2nd 659 renu 100 B.A.2nd 659 renu 101 B.A.2nd 606 manju 102 B.A.2nd 630 sumitra 103 B.A.2nd 727 poona 104 B.A.2nd 727 poona 105 B.A.2nd 744 manes 107 B.A.2nd 562 ashar 108 B.A.2nd 748 babli 109 B.A.2nd 749 nath				14000
92 B.A.2nd 511 arty 93 B.A.2nd 615 kiran 94 B.A.2nd 742 jyoti 95 B.A.2nd 781 seema 96 B.A.2nd 739 urmila 97 B.A.2nd 740 pinki 98 B.A.2nd 596 pooja 99 B.A.2nd 659 renu 100 B.A.2nd 658 babita 101 B.A.2nd 606 manju 102 B.A.2nd 630 sumitra 103 B.A.2nd 630 sumitra 104 B.A.2nd 727 poona 105 B.A.2nd 775 manju 106 B.A.2nd 562 asha r 107 B.A.2nd 562 asha r 108 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 100 B.A.2nd 747		DHEER SING	55149828889	14000
93 B.A.2nd 615 kiran 94 B.A.2nd 742 jyoti 95 B.A.2nd 781 seema 96 B.A.2nd 739 urmila 97 B.A.2nd 740 pinki 98 B.A.2nd 596 pooja 99 B.A.2nd 659 renu 100 B.A.2nd 659 renu 100 B.A.2nd 606 manju 101 B.A.2nd 606 manju 102 B.A.2nd 630 sumitra 103 B.A.2nd 727 poona 104 B.A.2nd 727 poona 105 B.A.2nd 744 manes 107 B.A.2nd 562 asha r 108 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 100 B.A.2nd 747 pinki	mada		65206970664	14000
94 B.A.2nd 742 jyoti 95 B.A.2nd 781 seema 96 B.A.2nd 739 urmila 97 B.A.2nd 740 pinki 98 B.A.2nd 596 pooja 99 B.A.2nd 659 renu 100 B.A.2nd 659 renu 100 B.A.2nd 606 manju 101 B.A.2nd 606 manju 102 B.A.2nd 630 sumitra 103 B.A.2nd 727 poona 104 B.A.2nd 727 poona 105 B.A.2nd 775 manju 106 B.A.2nd 544 manes 107 B.A.2nd 542 asha r 108 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 110 B.A.2nd 747 pinki		kumar	55149821849	14000
95 B.A.2nd 781 seema 96 B.A.2nd 739 urmila 97 B.A.2nd 740 pinki 98 B.A.2nd 596 pooja 99 B.A.2nd 659 renu 100 B.A.2nd 659 renu 100 B.A.2nd 606 manju 101 B.A.2nd 606 manju 102 B.A.2nd 630 sumitra 103 B.A.2nd 727 poona 104 B.A.2nd 727 poona 105 B.A.2nd 775 manju 106 B.A.2nd 544 manes 107 B.A.2nd 544 manes 107 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 110 B.A.2nd 747 pinki		singh	65204123553	14000
96 B.A.2nd 739 urmila 97 B.A.2nd 740 pinki 98 B.A.2nd 596 pooja 99 B.A.2nd 659 renu 100 B.A.2nd 658 babita 101 B.A.2nd 606 manju 102 B.A.2nd 630 sumitra 103 B.A.2nd 630 sumitra 104 B.A.2nd 727 poona 105 B.A.2nd 775 manju 106 B.A.2nd 562 asha r 107 B.A.2nd 562 asha r 108 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 110 B.A.2nd 747 pinki	ramki	and the second se	65204450536	14000
97 B.A.2nd 740 pinki 98 B.A.2nd 596 pooja 99 B.A.2nd 659 renu 100 B.A.2nd 658 babita 101 B.A.2nd 606 manju 102 B.A.2nd 630 sumitra 103 B.A.2nd 630 sumitra 104 B.A.2nd 727 poona 105 B.A.2nd 775 manju 106 B.A.2nd 562 asha r 107 B.A.2nd 562 asha r 108 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 110 B.A.2nd 747 pinki	shers	C COULTA SAILON	65156375446	14000
98 B.A.2nd 596 pooja 99 B.A.2nd 659 renu 100 B.A.2nd 658 babita 101 B.A.2nd 606 manju 102 B.A.2nd 732 pinki 103 B.A.2nd 630 sumitra 104 B.A.2nd 727 poona 105 B.A.2nd 775 manju 106 B.A.2nd 544 manes 107 B.A.2nd 562 asha r 108 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 110 B.A.2nd 747 pinki		dgiram	65156375526	14000
99 B.A.2nd 659 renu 100 B.A.2nd 658 babita 101 B.A.2nd 606 manju 102 B.A.2nd 732 pinki 103 B.A.2nd 630 sumitra 104 B.A.2nd 727 poona 105 B.A.2nd 775 manju 106 B.A.2nd 544 manes 107 B.A.2nd 562 asha r 108 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 110 B.A.2nd 747 pinki		p singh	65204420895	14000
100 B.A.2nd 658 babita 101 B.A.2nd 606 manju 102 B.A.2nd 732 pinki 103 B.A.2nd 630 sumitra 104 B.A.2nd 727 poona 105 B.A.2nd 775 manju 106 B.A.2nd 562 asha r 107 B.A.2nd 562 asha r 108 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 110 B.A.2nd 747 pinki	Contraction of the second s		96001500097440	14000
101 B.A.2nd 606 manju 102 B.A.2nd 732 pinki 103 B.A.2nd 630 sumitra 104 B.A.2nd 727 poona 105 B.A.2nd 775 manju 106 B.A.2nd 544 manes 107 B.A.2nd 562 ashar 108 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 110 B.A.2nd 747 pinki	shish		65147552258	14000
102 B.A.2nd 732 pinki 103 B.A.2nd 630 sumitra 104 B.A.2nd 727 poona 105 B.A.2nd 775 manju 106 B.A.2nd 544 manes 107 B.A.2nd 562 asha r 108 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 110 B.A.2nd 747 pinki		singh	65201406590	14000
103 B.A.2nd 630 sumitra 104 B.A.2nd 727 poona 105 B.A.2nd 775 manju 106 B.A.2nd 544 manes 107 B.A.2nd 562 asha r 108 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 110 B.A.2nd 747 pinki	munr		65130832244	14000
104 B.A.2nd 727 poona 105 B.A.2nd 775 manju 106 B.A.2nd 544 manes 107 B.A.2nd 562 asha r 108 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 110 B.A.2nd 747 pinki			65204124647	14000
105 B.A.2nd 775 manju 106 B.A.2nd 544 manes 107 B.A.2nd 562 asha r 108 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 110 B.A.2nd 747 pinki			65204124047	14000
106 B.A.2nd 544 manes 107 B.A.2nd 562 asha r 108 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 110 B.A.2nd 747 pinki		arkash	65204137588	
107B.A.2nd562asha r108B.A.2nd748babli109B.A.2nd749nathia110B.A.2nd747pinki		the second se		14000
108 B.A.2nd 748 babli 109 B.A.2nd 749 nathia 110 B.A.2nd 747 pinki			65203972031	14000
109 B.A.2nd 749 nathia 110 B.A.2nd 747 pinki			65202766201	14000
110 B.A.2nd 747 pinki		h kumar	65203948804	14000
The second se		an kumar	65203957068	14000
11111BA 2nd 568 monik		nder singh	65203954919	14000
		ir singh	65203088187	14000
112 B.A.2nd 733 shobh	ta krich	an kumar	55155147711	14000
113 B.A.2nd 689 kavita	10-21 COMPANY		65207191098	14000
114 B.A.2nd 771 sunita	rajku	umar	65204483517	14000
115 B.A.2nd 780 geeta	rajku	ESH KUMAR	053001700001670	14000
	rajku rajku		55149828556	C. A. A. Z. & Z. U. Z.
117 B.A.2nd 704 sarita	rajku rajku	singh	65202877604	
118 B.A.2nd 764 ritu	rajku rajku SURI (A rani balra	hatyar singh	65207371161	
119 B.A.2nd 635 kavita	rajku rajku SURI A rani balra vijay	lidiyal Siluli	65204420602	ALC: NOT ALC
120 B.A.2nd 685 maha	rajku rajku SURI A rani balra vijay muk			
121 B.A.2nd 684 bindu	rajku rajku SUR SUR SUR balra vijay muk rani pren	n kumar	65208817504	10
122 B.A.2nd 600 rekha	rajku rajku SURI KA rani balra vijay muk rani pren devi balw	n kumar	65208817504 65116055413	14000

	B.A.2nd	555	Ritu	ramphal	00204440	4000
	B.A.2nd	546	dimple	ramesh chander	65207051452	14000
	B.A.2nd	514	renu	rajmal	03203012213	14000
	B.A.2nd	718	sunita	hari kishan	02.04 000000	14000
	B.A.2nd	736	RENU	NIRANJAN	00204000101	14000
_	B.A.2nd	756	mamta	jaivir singh	00200002002	14000
	B.A.2nd	715	poonam rani	jagan nath	0020400200	14000
	B.A.2nd	701	manju rani	asha nand	00201100	14000
	B.A.2nd	731	parul	subhash chander	0020421010	14000
	B.A.2nd	688	manisha	vedpal	002040000	14000
133	B.A.2nd	761	nisha	naresh kumar	0020411002	
134	B.A.2nd	759	pooja rani	suresh kumar	65203930125	14000
135	B.A.2nd	769	kaushalya devi	ramphal	65202213597	14000
136	B.A.2nd	774	naveen kumari	dharmbir	55149821872	14000
137	B.A.2nd	622	priyanka kumari	ram kumar	65204182350	14000
138	B.A.2nd	629	suman	dharampal	65204160482	14000
_	B.A.2nd	661	reena rani	man singh	65203089124	14000
	B.A.2nd	587	monika	dalip singh	65155861175	14000
	B.A.2nd	676	spooja rani	rohtash singh	65146876080	14000
	B.A.2nd	591	anju bala	rajender singh	65146732832	14000
_	B.A.2nd	626	reetu	omparkash	65130743342	14000
	B.A.2nd	746	darshna	dalbir	65203958732	14000
	B.A.2nd	624	jyoti	thandi ram	65130034709	14000
_	B.A.2nd	785	seema	rohtash singh	096001500105110	14000
	B.A.2nd	621	shailja	chhabildas	65204182951	14000
		561	monika rani	man singh	65203800924	14000
	B.A.2nd	517	MANISHA	hawa singh	65203800844	14000
11 100	B.A.2nd			mahipal	65204183896	14000
	B.A.2nd	679	monika		65154624204	14000
	B.A.2nd	598	priyanka	dalip singh roshan lal	65149600733	14000
	B.A.2nd	595	Devika	The second second second second	65204445470	14000
102 amoc	B.A.2nd	767	Suman kumari	rajesh kumar	65204180840	14000
_	B.A.2nd	741	Monika	chelaram	65202765923	14000
155	B.A.2nd	608	Shakuntla	jagdish		14000
	B.A.2nd	559	Sushila	Rajender singh	053001700001460	
157	B.A.2nd	560	Sonia	Karamvir	053001700001510	14000
158	B.A.2nd	677	Manisha	Sube singh	65202014386	14000
159	B.A.2nd	551	Meena	Bansi lal	65203932236	14000
	B.A.2nd	554	Soniya	Suresh kumar	65203930691	14000
1.	B.A 3rd	1069	babal rani	umed singh	65174913032	14000
_	B.A 3rd	1111	pooja	man singh	65175615897	14000
1.11.20	B.A 3rd	1161	sumitra	ram singh	65173677538	14000
-		1206	manjeeta	ratan singh	65103239154	14000
Vie Lin	B.A 3rd			bhale ram	65176423818	
	B.A 3rd	1208	sonia	chela ram	65174207027	NL DI DISSONNESSO
	B.A 3rd	1209	manjeet kumari	Percent Contract Contract Contract	65174777484	
	B.A 3rd	1211	manjeet kaur	madan lal	Association and another and another	all 75 0.5250/831745
168	B.A 3rd	1219	kavita rani	dharmbir singh	55149829430	
169	B.A 3rd	1234	meenakshi	jaipal	65175296925	and a second second
	B.A 3rd	1257	mamta rani	bhagirath	65174672506	
1711	B.A 3rd	1139	priyanka rani	rakesh chander	6514871028	2 14000
	B.A 3rd	1201	neelam	chander singh	5514982487	3 14000
100 million - 100 million	B.A 3rd	1238	monika	dhramveer	6517492632	5 14000
			anita	shamsher singh	6505817166	
	B.A 3rd	1080		dalbir singh	6517561607	
	B.A 3rd	1046	parmila			
	B.A 3rd	1217	snehlata	suresh kumsr	5514982502	1801 Co. 17040418982
177	B.A 3rd	1172	kavita rani	pappu	6517563320	
178	B.A 3rd	1073	parmila	ramdas	6517635223	in the second
179	B.A 3rd	1176	vandna	azad singh	5514982436	3 1400
	B.A 3rd	1175	kiran	azad singh	6517481537	6 1400
1. T. T.	B.A 3rd	1278	sudesh	dharmpal	6517557555	

		65130898251	14000
182 B.A 3rd 1188 manita	umed singh	55149829372	14000
183 B.A 3rd 1137 seema	azad	55149824089	14000
184 B.A 3rd 1186 monika tanwar	satbir singh	65175040972	14000
185 B.A 3rd 1109 mavita	satbir singh	65174776956	14000
186 B.A 3rd 1104 mausam	rajpal singh	65130340525	14000
187 B.A 3rd 1135 somee	vedprakash	65058171704	14000
188 B.A 3rd 1079 amarjeet kaur	joginder singh	65175488404	14000
189 B.A 3rd 1254 manju	jaiveer singh	65093647218	14000
190 B.A 3rd 1129 sonia 191 B.A 3rd 1114 sushma	man singh	65174673394	14000
	dalbir singh	55149829655	14000
100 ***	omprakash	55147371403	14000
193 B.A 3rd 1016 pooja 194 B.A 3rd 1142 sarita devi	satbir singh	65176025158	14000
195 B.A 3rd 1179 savita	umed singh	65172840881	14000
196 B.A 3rd 1212 reena kimari	subhash		14000
197 B.A 3rd 1115 monika	mani ram	55149829510	14000
198 B.A 3rd 1112 savita	ramniwas	65175505204	14000
199 B.A 3rd 1113 anju	satbir	65174872628	the second se
200 B.A 3rd 1118 renu	kanwar singh	65098843080	14000
201 B.A 3rd 1043 monika	shyam lal	65175481918	14000
202 B.A 3rd 1096 sumitra	dharmpal	65174677956	14000
203 B.A 3rd 1022 kumari suman	gyani ram karamvir	55149819772	14000
204 B.A 3rd 1171 poonam kumari	chaman lal	65089902480	14000
205 B.A 3rd 1008 mamta		65105872798	14000
206 B.A 3rd 1177 nitu	karan singh	65090565494	14000
207 B.A 3rd 1282 lalita devi	jagdish chander	55149829666	14000
208 B.A 3rd 1134 neetu rani	karan singh kali ram	65170939676	14000
209 B.A 3rd 1132 suman		55147371979	14000
210 B.A 3rd 1133 neetu	rajroop	65175488222	14000
211 B.A 3rd 1131 aarti bai	sajjan singh	65175438509	14000
212 B.A 3rd 1090 sangeeta	rajender singh	65158573310	14000
213 B.A 3rd 1148 babita	sube singh	65174674058	14000
214 B.A 3rd 1094 kanta	dharampal	55149824250	14000
215 B.A 3rd 1271 pooja	sewa singh	65175607658	14000
216 B.A 3rd 1276 kavita	chander bhan	65175633316	14000
0.00	manohar	55149824136	14000
	babu lal	55149824158	14000
	balbir singh	65174872527	14000
	gian chand	65174889949	14000
220 B.A 3rd 1256 neelam	vijender	55149824409	14000
221 B.A 3rd 1110 manju	omprakash	65175040858	14000
222 B.A 3rd 1196 poonam	ajmer singh	65175754193	14000
223 B.A 3rd 1164 usha rani	braham dass	55149824307	
224 B.A 3rd 1057 monika	baljeet singh	65174913203	14000
225 B.A 3rd 1159 usha	ragender singh		14000
227 B.A 3rd 1270 sailja	roshan lal	55149829532	14000
228 B.A 3rd 1207 Nilam kumari		55149824329	14000
229 B.A 3rd 1277 Minakshi	Mai ram	55149824851	14000
2200	Ramesh	65174871624	14000
221 0	dharmbir singh	65176694517	14000
231 B.com1s 2029 bhagrati	dalbir singh	65240107898	14000
232 B.com1s 2003 kajal	suresh kumar	65240960224	14000
233 B.com1s 2019 monika	shiv kumar		
234 B.com1s 2025 meenu	dharmbir singh	3204261802	14000
235 B.com1s 2027 seema rani		65176694618	14000
236 B.com1s 2058 anu	subhash chander	65240759254	14000
227 0	prahlad	55149828743	14000
228 0	rajender	65241209142	14000
220 0	krishan kumar	65204129317	14000
239 B com2n 2142 asha rani	ramphal	65204444318	1 D. D. D. A. A. S. S. M. L. C.
240 B.com2n 2123 Pooja	bhale singh	65211057863	
241 B.com2n 2117 guddi	surajmal		
	learchild	65203962147	14000

	D	0400			0050451077	14000
	B.com2n	2128	sonam	jaidev	3358451977	14000
243	B.Com 3	2208	ritu	dharambir	55149823982	14000
244	B.Com 3	2257	shikha	ramesh kumar	65174988521	14000
245	B.Com 3	2256	pooja	randhir	55149824534	
246	B.Sc 1st	3024	kavita	satbir singh	65156696663	14000
247	B.Sc 1st	3034	ritu	karambir singh	65182019237	14000
	B.Sc 1st	3017	PUSUM	karambir	053001500061110	14000
27- A.C	and the second second second second		02 D.S. (HOLDEN 40	kartaranand	65240758353	14000
	B.Sc 1st	3008	pooja		65240792350	14000
250		3011	rambhateri	balbir singh	3296116095	14000
251	B.Sc 1st	3020	latesh kumari	dharmbir singh	65114800223	14000
252	B.Sc 1st	3045	aarti	madanpal	55147371196	14000
254	B.Sc 1st	3021	Dinesh	jaibir singh	65181746435	14000
255	B.Sc 1st	3130	kavita	swaraj	65114717776	14000
1000 ALC: 1	B.Sc 1st	3101	manju	bhim singh	65114717776	14000
257			nisha	jaibir singh	65236755825	14000
135,0890			sangeeta	bir singh	053001700002630	14000
1111122208223	B.Sc 1st		mamta	sher singh	82581500009233	14000
1,25-0.254	B.Sc 1st	-	5910 (9122402 (017) 12 (9225)	surender kumar	80041900023959	
260		ALC: CONTRACT AND A	deepika	Rajpal	80470100056148	14000
261	B.Sc 1st	3131	Preeti	Najpai	Total	3500000

Ch. Bansi Lal Govt. College for Women, Tosham (Bhiwani

T

List of SC Students 2016-		ľ	
---------------------------	--	---	--

Sr.No	Class	Roll No.		Father,s Name	Income	Account No.	Total
1	B.A 2nd	1107	Nisha	Sanjay kumar	60,000	65240397600	10000
2	B.A 2nd		Rekha	Jile singh	24,000	55149824114	10000
3	B.A 2nd	1241	Anita	Sher Singh	60,000	34976041547	10000
4	B.A 2nd	1112	Poonam	Jang Bahadur	35,000	55155148920	10000
5	B.A 2nd	1071	Neelam	Balbeer singh	58,000	65235984004	10000
6	B.A 2nd	1202	Mamta	Satbir	60,000	65240758513	10000
7	BLA 2nd	1246	Soniya	Satayvir	80,000	80781700038310	10000
8	B.A 2nd	1222	Bimla	Pawan Kumar	50,000	82201900000011	10000
9	B.A 2nd	1201	Anu kumari	Satbir	36,000	65241191053	10000
10	B.A 2nd	1075	Mukesh kumari	Ram niwas	38,000	65240992870	10000
11	B.A 2nd	1044	Sudesh kumari	Raj singh	36,000	1053001700003666	10000
12	B.A 2nd	1205	Jvoti	Dalbir	50,000	65240759118	10000
13	B.A 2nd	1205	MANJU RANI	kirshan kumar	72,000	551: 51497-11	10000
14	B.A 2nd	1215	suman rani	umed singh	48,000	65067476922	10000
15	B.A 2nd	1213	Jyoti	subhash chander	25,000	55155149923	10000
16	B.A 2nd B.A 2nd	1200	Savita			4758108000511	10000
17	B.A 2nd	1030		chandi ram	40,000	55155149037	10000
18	B.A 2nd B.A 2nd	1204	neelam	ramesh kumar	45,000	65241338269	10000
19		1	poonam	roshan lal	60,000	55155149901	10000
20	B.A 2nd	1142	pooja	satanarayan	48,000		10000
20	B.A 2nd	1007	asha rani	jianarayan	40,000	55155149912	10000
21	B.A 2nd	1237	neetu	jogi ram	72,000	1053001700062370	10000
	B.A 2nd	1113	kavita rani	suresh kumar	36,000	65241080750	10000
23	B.A 2nd	1226	vijay luxmi	lalman	55,000	65240993363	10000
24	B.A 2nd	1070	RACHNA	Vikram Bedi	60,000	55155142815	10000
25	B.A 2nd	1063	KISHMATI	jangbir singh	45,000	65241055940	10000
26	B.A 2nd	1236	savita	sultan	48,000	55155149560	10000
27	B.A 2nd	1135	USHA	SUBhash	40,000	65194753561	10000
28	B.A 2nd	1045	lalita	ram kirshan	36,000	1053001700002620	10000
29	B.A 2nd	1102	sonia	desraj	50,000	65234550273	2327.7.222
30	B.A 2nd	1117	rani	man singh	48,000	65240514225	10000
31	B.A 2nd	1183	pinki	kirshan kumar	45,000	65238626933	10000
32	B.A 2nd	1183	meenakshi	amarnath	80,000	65240791572	10000
33	B.A 2nd	1069	pooja rani	omprakash	35,000	55149829804	10000
34	B.A 2nd	1066	puspa	ramesh	45,000	65240514383	10000
35	B.A 2nd	1199	meenu devi	santlal	28,000	65175130094	10000
36	B.A 2nd	1005	ritu	omprakash	72,000	65237473088	10000
37	B.A 2nd	1092	monika rani	suraj bhan	40,000	65240397699	10000
38	B.A 2nd	1271	pooja	umed singh	50,000	6786000100042763	
39	B.A 2nd	1251	monika	nafe singh	25,000	4758108000802	10000
40	B.A 2nd	1034	sanju devi	Surender Singh	40,000	65234323909	
41	B.A 2nd	1046	pooja	ramesh kumar	40,000	105001700002694	10000
42	B.A 2nd	1265	pooja rani	shri bhawan	80,000	65173170562	10000
43	B.A 2nd	1256	Manju devi	charan lal	80,000	65149865087	10000
44	B,A 2nd	1073	SUNITA DEVI	RAMESH kumar	50,000	55155149526	10000
45	B.A 2nd	1022	HEMLATA	sajjan kumar	50,000	65219038092	10000
46	B.A 2nd	1118	ASHA RANI	man singh	45,000	65240108100	10000
47	B.A 2nd	1247	ANJU BALA	RAJKUMAR	75,000	65235524297	10000
48	B.A 2nd	1216	POOJA	narender	30,000	65241492584	10000
49	B.A 2nd	1027	AARTI	rakesh kumar	80,000	65241080433	10000
50	B.A 2nd	1224	KAAFEE REENA	KARAMBIR jagdish	48,000	55155149945 55155149616	10000

						55155149898	10000
50	100 100 20 TO	1.00000	PRIYA	baljeet singh	60,000	65235001822	10000
52		1099	Rekha rani	krishan lal	60,000	80201700055921	10000
54	ACCESSION - SEALAND	1197	rambhateri	jagdish	40,000	65241081142	10000
55		1245	mainta	Jang Bahadur	50,000	65239840060	10000
56	Contract Contract And	1130	Priti	rajpal	48,000		10000
57		1217	Priyanka	satish	30,000	65234132461	10000
58		1065	Kaushalya	balbir	35.000	65240792178	10000
59		1258	Manju	dalbir singh	36,000	80091700107218	10000
60	B.A 2nd	1098	Monika	rajender	16,963	65241055178	10000
61	B.A 2nd	1223	Neeru	satyavir singh	60,000	1053001700050610	10000
62	B.A 2nd	1101	Madhu	ishwar singh	25,000	65240993169	10000
63	B.A 2nd	1127	Poonam	mansingh	45,000	65240758251	10000
64	B.A 2nd	1097	Savina	manbir singh	40,000	65241055418	
65	B.A 2nd	1017	Kavita	suresh	50,000	65243350681	10000
66	B.A 2nd	1250	Urmila	anand parkash	45,000	80361700058220	10000
67	B.A 2nd	1208	Reenu	kartar singh	60,000	65234132278	10000
68	B.A 2nd	1163	Kavita	rajkumar	60,000	55149824125	10000
69	B.A 2nd	1233	Manisha	om parkash	43,000	6786000100028408	10000
70	B.A 2nd	1042	Darshna	rambhaj	36,000	1053001700002232	10000
71	B.A 2nd	1147	Rakhee	jaiparkash	36,000	4134004101444	10000
72	B.A 2nd	1225	Poonam	dharambir singh	48,000	65237074979	10000
73	B.A 2nd	1100	Meena	keshuram	36,000	33375514028	10000
74	B.A.3rd	1486	DEVIKA	ROSHAN LAL	60,000	65149600733	10000
75	B.A.3rd	1613	SHAKUNTLA	jagdish	1,80,000	65202765923	10000
76	B.A.3rd	1452	SUSHILA	rajender singh	48,000	1053001700001464	10000
77	B.A.3rd	1453	SONIA	karamvir	36,000	1053001700001516	10000
78	B.A.3rd	1484	MANISHA	sube singh	38,000	65202014386	10000
79 80	B.A.3rd		MEENA	bansi lal	40.000	65203932236	10000
81	B.A.3rd	1443	SUSHILA	ramesh chander	90,000	65200337669	10000
81	B.A.3rd	1503	MONIKA	vijay singh	40,000	65205542530	10000
83	B.A.3rd	1638	suman kumari	rajesh kumar	36,000	65204445470	10000
84	B.A.3rd	1558	ashilta rani	balwant singh	60.000	65200922638	10000
85	B.A.3rd	1554	poonam rani	dana ram	40,000	65206600218	10000
86	B.A.3rd	1.107	SANGEETA	krishan kumar	60,000	55149828889	10000
87	B.A.3rd	1405	arty	madan lai	1,31,520	65206970664	10000
88	B.A.3rd	1510	kiran	vijay kumar	50,000	55149821849	10000
	B.A.3rd	1553	jyoti	surat singh	48,000	65204123553	10000
89	B.A.3rd	1656	seema	ramkishan	36,000	65204450536	10000
90	B.A.3rd	1624	urmila	shersingh	36,000	65156375446	10000
91	B.A.3rd	1626	pinki	chandgiram	48,000	65156375526	10000
92	B.A.3rd	1568	pooja	partap singh	48,000	65204420895	10000
93	B.A.3rd	1581	renu bala	dharam chand	60,000	1096001500097440	10000
94	B.A.3rd	1469	manju	vijay singh	45,000	65201406590	10000
	B.A.3rd	1545	pinki	munni lal	36,000	65130832244	10000
10.00	B.A.3rd	1451	sumitra	jagdish	50,000	65204124647	10000
2336 1	B.A.3rd	1527	poonam	sushil	60,000	65204137157	10000
20020	B.A.3rd	1528	manju	omparkash	60,000	65204137588	10000
	B.A.3rd	1578	manesh devi	sant lal	30,000	65203972031	10000
	B.A.3rd	1473	asha rani	rajkumar	42.000	65202766201	10000
	B.A.3rd	1649	babli	satish kumar	45,000	65203948804	10000
102	B.A.3rd	1663	pinki	rajender singh	45,000	65203954919	10000
103	B.A.3rd	1518	monika	ranbir singh	50,000	65203088187	10000
104	B.A.3rd	1531	shobhita	krishan kumar	1,10,268	55155147711	10000
	B.A.3rd		and the second	The second second second second	1.1.1 Man 00	23123147711	10000

106	B.A.3rd	1589	geeta	SURESH KUMAR	50,000	1053001700001670	10000
	B.A.3rd	1521	MONIKA rani	balraj	40,000	55149828856	10000
	B.A.3rd	1534	ritu	mukhatyar singh	40,000	65207371161	10000
	B.A.3rd	1610	kavita rani	prem kumar	50,000	65204420602	10000
	B.A.3rd	1612	maha devi	balwant	48,000	65208817504	10000
	B.A.3rd	1611	bindu	dharampal	35,000	65116055413	10000
	B.A.3rd		rekha rani	Nainpal	28,000	52752191045409	10000
	B.A.3rd	1433	dimple	ramesh chander	315,830	65207051492	10000
114	B.A.3rd	1412	renu	rajmal	50,000	65203812249	10000
5000 S	B.A.3rd	1634	sunita	hari kishan	42,000	82941500000152	10000
	B.A.3rd	1435	mamta	jaivir singh	60,000	65208632602	10000
	B.A.3rd	1644	poonam rani	jagan nath	40,000	65204962351	10000
0.01.552	B.A.3rd	1614	manju rani	asha nand	40,000	65204166632	10000
2332	B.A.3rd	1645	parul	subhash chander	60,000	65204213754	10000
	B.A.3rd	1505	manisha	vedpal	50,000	65204998242	10000
	B.A.3rd	1470	naveen kumari	dharmbir	80,000	55149821872	10000
	B.A.3rd	1450	suman	dharampal	30,000	65204160482	10000
	B.A.3rd	1591	reena rani	man singh	60,000	65203089124	10000
	B.A.3rd	1427	monika	dalip singh	45.000	65155861175	10000
		1427			36,000	65146876080	10000
	B.A.3rd		pooja rani	rohtash singh	36,000	65146732832	10000
	B.A.3rd	1575	anju bala	rajender singh	45,000	65130743342	10000
	B.A.3rd	1458	reetu	omparkash		65203958732	10000
	B.A.3rd	1648	darshna	dalbir	45,000	65130034709	10000
	B.A.3rd	1567	jyoti	thandi ram	45,000	65204182951	10000
	B.A.3rd	1530	shailja	chhabildas	45,000	65203800924	10000
	B.A.3rd	1504	monika rani	man singh	45,000	65203800924	10000
132	B.A.3rd	1411	MANISHA	hawa singh	48,000	65204183896	10000
	B.A.3rd	17 TIM2-	monika	mahipal	50,000	65154624204	10000
	B.A.3rd	1496	priyanka	dalip singh	40,000	65176694517	10000
	B.com2nd	2507	annu rani	dharmbir singh	50,000		10000
136	B.com2nd	2558	bhagrati	dalbir singh	50,000	65240107898	10000
137	B.com2nd	2506	kajal	suresh kumar	45,000	65240960224	10000
138	B.com2nd	2526	monika	shiv kumar	50,000	3204261802	10000
139	B.com2nd	2559	meenu	dharmbir singh	50,000	65176694618	10000
140	B.com2nd	2551	seema rani	subhash chander	45,000	65240759254	10000
141	B.com2nd	2518	priyanka	rajender kumar	45,000	65241209142	10000
142	B.com3rd	2640	priyanka	krishan kumar	36,000	65204129317	25.11.22.40.00
143	B.com3rd	2644	asha rani	ramphal	45,000	65204444318	10000
144	B.com3rd	2606	Pooja	bhale singh	1,30,000	65211057863	10000
145	B.com3rd	2621	guddi	surajmal	40,000	65203962147	10000
146	B.com3rd	2620	sonam	jaidev	3,69,768	3358451977	10000
147	B.Sc 2nd (N	3609	kavita	satbir singh	1,27,680	65156696663	10000
148	B.Sc 2nd (N	3606	ritu	karambir singh	35,000	65182019237	10000
149	B.Sc 2nd (N	3643	PUSUM	karambir	30,000	1053001500061118	10000
150	B.Sc 2nd (N	3639	pooja	kartaranand	45,000	65240758353	10000
151	B.Sc 2nd (N	3605	rambhateri	balbir singh	40,000	65240792350	10000
152	B.Sc 2nd (N	3650	latesh kumari	dharmbir singh	48,000	3296116095	10000
153	B.Sc 2nd (N	3649	Dinesh	jaibir singh	1,25,000	55147371196	10000
154	B.Sc 2nd (N	3521	kavita	swaraj	48,000	65181746435	10000
155	B.Sc 2nd (N	3529	manju	bhim singh	40,000	65114717776	10000
156	B.Sc 2nd (N	3507	nisha	jaibir singh	60,000	65236755825	10000
157	B.Sc 2nd (N	3506	sangeeta	bir singh	2.39.842	1053001700002630	10000
158	B.Sc 2nd (M)	mamta	sher singh	40.000	82581500009233	10000
159	B.Sc 2nd (N	3524	deepika	surender kumar	36,000	6271000100922	10000

	160 B.Sc 2r	id (M)	Preeti	Rajpal	1,80,000	80470100056148	10000
	161 BA-1st		+08 Pooja	Manphool Singh	1.000000000000	55155145248	
	62 B.Com	Ist 9.4E	+08 Kavita	Brahmanand		65210004333	
	63 B.Com		+08 Geeta	Prem Parkash		55155151749	
	64 B.A.1st	9.4E	+08 Pooja Rani	Madan Lal		65215536579	
	65 B.Com	Ist 9.4E-	+08 Priyanka	Krishan Kumar		55155151943	10225004205
	66 B.Com	st 9.4E-	+08 Neetu	Chatter Singh		65216363569	
-	67 B.A 1st	9.4E+	-08 Nisha	Rajbir		55155145985	10020242002
16	is.com i		-07 Pooja	Jaibhagwan		65208030436	
16	0.50 151	NM 1.1E+	09 Pooja	Kashmir		65174683653	10000
17	0.21 151	9.4E+	08 Anita Devi	Dharamvir		55155144743	10000
17	iona 1st	9.4E+	08 Ritu	Mangtu Ram		65212285131	10000
17.	Day 1st		08 Sheela	Jagdish			10000
174	The st		15 Kanta	Prem Singh		55155151647	10000
175	D.C.OH 13	and the second s	08 Seema	Kapur Chander		55155146230	10000
-	10.0000112		08 Meena	Gurusaran		65142643083	0.00000
176	101 101		08 Nitu	Vijay Kumar		55155145792	10000
178	001130	9.4E+()8 Priyanka	Hawa Singh		55155145419	12606-1240 CA
178	- son tot)8 Pooja	Omparkash		55155145703	10000
	0.11130	9.4E+()8 Karishma	Bijender		65115486565	10000
180	B.A 1st		8 Meena	Balwant Singh		55155144732	10000
181	B.A 1st		8 Pritam Rani	Sajjan Kumar		55155152426	10000
182	B.A 1st	9.4E+0	8 Sudesh	Ishwar Singh		65174358872	10000
183	B.A 1st	9.4E+0	8 Parveen Kumari	Omparkash		55155152084	10000
184	B.A 1st		8 Monika	Ashok Kumar		65148643292	10000
185	B.A 1st	9.4E+0	8 Babita	Satyawan		55155152471	10000
186	B.Sc 1st	1.1E+0	9 Pinky	kaliram		55155146036	10000
187	B.Sc 1st	1.1E+09) Babita	Rajkumar		6505000100074310	10000
188	B.A 1st	9.4E+08	8 Priyanka	Satyawan		6786000100049540	10000
189	B.A 1st	9.4E+08		Subhash		55155152200	10000
190	B.A 1st	9.4E+08	Ganga	Lala Ram		65176703215	10000
191	B.A 1st		Rekha Kumari	Roshan Lal		65167648573	10000
92	B.A 1st	9.4E+08		Suresh Kumar		65230260270	10000
	B.A 1st	9.4E+08		Suresh Kumar		55155152108	10000
as a due	B.A 1st		Niket Rani			55155152095	10000
A strengt	B.A 1st	9.4E+08		Jagdish		55155143841	10000
	B.Sc 1st	1.1E+09		Jogender Singh		55155145816	10000
	B.A 1st			Balwant Singh		65625373513	10000
	M.A 1st	9.4E+08		Balwan		55155146335	10000
			Sharmila Kumari	Santlal		55155146229	10000
and the second s	B.A 1st	9.4E+08	and the second sec	Karambir		55155145656	10000
1000	B.A 1st	9.4E+08		Roshanlal		55155145996	10000
1000	B.A 1st	9.4E+08		Dinesh Kumar		55155152663	10000
	B.A 1st	9.4E+08		Sombir		55155146014	10000
	B.A 1st		Mamta Devi	Karan Singh		55155146161	10000
	B.A.1st	9.4E+08		Balbir Singh		65203742825	10000
	B.A 1st B.A 1st		Usha Rani	Vinod Kumar		6505000100074130	10000
207	B.A 1st	9.4E+08	Priyanka	Rajesh Kumar		65202569666	10000
208	B.A 1st	9.4E+08	Indu	Ved Parkash		65218700593	10000
209	B.A.1st	9.4E+08	Priyanka	Narang Singh		1053001700058600	10000
210	M.A.1st	9.4E+08 5029	Sushila Kavita	Abhe Ram		55155152288	10000
211	M.A. Ist	5012	Kavita Lalita Kumari	Satbir		65175040972	10000
212	M.A.1st	- 2013	Vidva	Rajender		3296001500041580	10000
213	B.A 1st	9.4E+08	Monika	Kamal Singh		3296001500040670	10000
				Randhir Singh		55155152299	10000

214	B.A 1st	9.4E+08	Deball		55155152302	10000
215	B.Com 1st		Ram Bhateri	Abhe Ram	65258016253	10000
216	B.A 1st		Anju Rani	Kapoor Singh	55155152506	10000
217	B.A 1st		Sumitra	Sunil Kuamr	55155145952	10000
218	B.A 1st		Pooja Rani	Ram Bhagat	20334716390	10000
219	B.A 1st	9.4E+08		Suraj Bhan	55155152277	10000
220	B.A 1st		Ram Devi	Suresh	55155144709	10000
221	B.A 1st	9.4E+08		Balwan Singh	55155145408	10000
222	B.A 1st	9.4E+08		Ram Nivas	55155149408	10000
223	B.A 1st	and the second second	Parmila Devi	Satbir		10000
224	B.A 1st		Sharmila Kumari	Wajeer Singh	55155146401 55155152517	10000
225	B.A 1st	9.4E+08		Mir Singh	55155132317	10000
226	B.A.1st	9.4E+08		Rughbir	33774301048	10000
227	B.A.1st		Mayavati	Satwyan		10000
228	B.A.1st	9.4E+08		Surender Singh	55155152685	10000
229	B.A 1st			Ramchander	55155144969	10000
230	B.A 1st	9.4E+08		Ramesh Kumar	55155144992	10000
231	B.A Ist	9.4E+08	and a state of the	Ishwar	65181074493	10000
232	B.A 1st	9.4E+08	0.5.557-C72115110	Naresh Kumar	55155152357	10000
233		9.4E+08	The second strength	Dalbir	65202614645	
233	B.A 1st		Puja Bai	Mahander	55155152346	10000
234	B.A 1st		Rakhi Rani	Sanjeev Kumar	55155145351	10000
235	B.A 1st		Pooja Kumari	Subhash Chander	55155145500	10000
230	B.A 1st	9.4E+08		Rati Ram	55155152211	10000
237	B.A.1st		Sonika	Chajuram	65058171760	10000
238	B.Sc 1st		Rasna Meghwal	Rajender Meghwal	65204599054	10000
19 10 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	B.sc. 1st		Priyanka	Nihal Singh	65201311890	10000
240 241	B.A 1st		Komal	Kamal Jeet	55155145044	10000
	B.A 1st	9.4E+08		Shyamlal	55155145022	10000
242	B.sc 1st	1.1E+09		(H.N) Bhagwan Das	55155152051	10000
	M.A 1st	1.1E+09	1.07 W	Subhash	65172840881	10000
244	B.A 1st	9.4E+08	and the second sec	Mangat Ram	55155145963	10000
	B.A 1st		Priyanka Devi	Rampal Singh	55155145599	10000
	B.A 1st	9.4E+08		Mahender Singh	20194604353	10000
	B.sc 1st	1.1E+09	an a financia	Shiv kumar	55155145907	10000
N. 65 S. 1	B.A 1st	9.4E+08		Gyanchand	55155152324	10000
750A.V.	B.A 1st		Seema Devi	Jai Narayan	55155152674	10000
27:00	B.A 1st		Sunita Rani	Sadhu Ram	55155144878	10000
Service of the	B.A 1st	9.4E+08		Krishan Kumar	55155144823	10000
IN STREET	B.A 1st	9.4E+08		Suresh Kumar	65174127334	10000
	B.A 1st	9.4E+08		Mukesh Kumar	55155152607	10000
	B.A 1st	9.4E+08		Rajkumar	55155145678	10000
	B.A 1st	9.4E+08		Dalbir Singh	55155145340	10000
	B,A 1st		Pooja Rani	Omparkash	55155145339	10000
020070	B.A 1st	9.4E+08		Suresh Kumar	55155145226	10000
2000	M.A 1st		Kavita	Harpal	65149607025	10000
1.222 - 2 1	M.A.1st		Sudesh Rani	Sube Singh	65151539966	10000
	B.Sc 1st	1.1E+09		Pop Singh	55155145850	10000
	B.A 1st	9.4E+08		Rajender	65259618350	10000
Concernence of the second s	B.A 1st	9.4E+08		Ramesh Kumar	55155144936	10000
144 C 200	B.Sc 1st	1.1E+09		Ombir	34404733073	10000
	B.A 1st		Jyoti	Balbir Singh	65137347886	10000
3	B.A 1st	9.4E+08	Jyoti	Krishan Kumar		10000
265	1.					
265 266 267	M.A 1st M.A 1st	5031	Meena Kumari Kamlesh	Jangbir Singh	55155145157 65126338749	10000

268 269 270 271 272 273 273 274	M.A.1st	9.4E+0 5038 9.4E+0 2320	08 Sarla neelam 8 Neetu	Satbir Singh Purn Singh		32501000083562	10000
270 271 272 273	B.A 1st B.com 11 BA 3rd	9.4E+0	VICEO STREET FOR				10000
271 272 273	B.com II BA 3rd	2 Providence and the second se	8 Neetu			55155145667	10000
272 273	BA 3rd	52.76	5.0.0	Rajkapoor		652 1307448.1	10000
273		Contact We have a second se	18.114	Billin Ram		65210004208	10000
	113/3 2120	1654	Jaswant Kaur	Bachhan Singh		65242949062	10000
- 1 1	BA 3rd	1144	Nisha	Udaybhan		65150236532	10000
275	BA 1st	9.4E+08	Pooja Kumari	Prem singh Shamlal	10000	55155145577	10000
276	BA 2nd	1025	Poonam	Rajender		65235001888	10000
277	BA 1st	11211-2 547	Jyoti Kumari	Pawan Kumar		55155752630	10000
278	BA 1st	9.4E+08		Ved Parkash		65113738855	10000
279	BA 1st		Sumitra	Mahender		55155145838	10000
280	Bsc 1st NM		Monika	Ramsingh		55155144721	10000
281	B A 1st	9.4E+08		Rajender Singh		55155151829	10000
282	M A 1st	5024	Mukesh kumari	Surender		3296001500040960	10000
283	Bcom 1st	9.4E+08	Sanju Devi	Balwan		55155152652	10000
	B A 1st	9.4E+08	Pinki	Rishal Singh		55155145259	10000
	B A 1st	9.4E+08	Nanki	Dharambir Singh		55155145770	10000
1 2 2 2 1	MA Ist		Savita	Krishan Kumar		3296001500048690	10000
	BA1st	9.4E+08	Pooja	Dalbir Singh		55155145930	10000
	B A 1 st	9.4E+08	Mamta rani	Ravinder singh		55155151965	10000
	B A 1st		Pinky	Balwan		55155152131	10000
Constant 1 /	3 com 1st		Minakshi	Rakesh kumar		55155145861	10000
	3 A 3 rd	1653	Koka Bai	Amar singh		65120005723	10000
	3 A 1 st	and a state of the state of the	Usha	Bhoop Singh	- 14 -	55155151375	10000
-	-	9.4E+08	Rambhateri	Ramniwas		55155151347	10000
		9.4E+08	Neha	Mahender Singh		55155151364	10000
		9.4E+08	Pooja	Mahender		55155151353	10000
	A 1st	9.4E+08	Asha	Dharmbir		55155145271	10000
10507.95		9.4E+08	Deepa rani	Banti Ram		55155146321	10000
1.20	A 1st 9	9.4E+08 I	Poonam Kumari	Ramniwas		55155145883	10000
	A.3rd	1514	Nirmal	Joginder		65211446612	10000
	Se II	3515 S	umer	Mani Ram	200000	6786000100017240	14000
301 BA	\ ist	B	labita	Rajender		4758101000119	12000
302 BA	\ lind	L	axmi	Ishwar Singh		65241079289	12000

5	Sr Sta	THE RE	Full	Gender	Address	Address	Adverte	I'nstri-t			- 2a-l Bank/	IFSC	A count					174. Q.	Acc
1100		and the second se	Name in Recogni zed		Line 1	Line 2	Line 3				Nam¢	Code	Satuber	Number.		Specific	Share Payment Amount		105
ł		1	Official Languag	3°	u	Š	G	5	000	q					$f(\xi_3)$	15	$\mu^{\hat{\mathbb{Q}}}$.	$i\eta$	
]	Manju	Miniju.	F	Dhani mahu				Haryana	India	The Bhiwani Central Co-op Bank Ltd		0041340 0410385 9	2836653 15322	127040	2094620 276	0	6000	
-	2	Anju	Anju	Ē	Dulheri		Teh Tosham		Haryana	India	Canara Bank	CNRB0 004758	4758108 001733	48238		129		6000	
	3	Tannu Kumari	Tannu Kumari	F	VPO Khanak		Teh Tosham	Bhiwani	Haryana	India	Central Bank of India	5	3645566 732	8967013 55614		127	ů	6000	
	4	Рооја	Pooja	F	Kharkad i Sohan		Teh Tosham	Or an and a second second	Haryana	India	Andhra Bank	ANDB0 002966	2966101 0000699 5	8803794 74913	127040	2094620 223	0	6000	
	5	Paya!	Payal	F	Riwasa		Tch Tosham		Haryana	India	State Bank of India	SBIN00 16566	3784665 1378	J	\sim	2094620 201	0	6000	
	Ó	Menika	Monika	F	Dadam		Teh Tosham	Bhiwani	Haryana	India	Sarva Haryana Gramin Bank		8147190 0019330		127040	2094620 005	Ð	6000	
ſ	. 1	Scema Bai	Seema Bai	54	Chapar Rangran		Teh Tosham	Bhiwani	Haryana	India			8147170 0032360	16730		164	1	6000	
	8	Parmila	Parmila	F	VPO Kharkari ; Gliedwa		Teh Tosham	Bhiwani	Haryana	India	Haryana Gramin Bank	1	1	68523		2094620 134		6000	
	9	Kavita	Kavita	F	Jamalpur		Teh Bawani Kliera	Bhiwani	Haryana	India	Haryana Ciramin Bank	HGB001	8017010 0120000	76387		214		5000	
ļ	10	Santosh Rani	Santosh Rani	F	Jamalpur		Teh Bawnni Khera	Bhiwani	Horyans	India	Satva Haryana Gumin	PUNB0 HGB001	8017010 0120019	6428739 24298	27835	2094620	1 0	6090	

	Lasmi	11								Bank			_	T				_
1	4 	(AUVIII)		VPO Duffieri		Teh Tedam	Bhiwani	Haryana	India	State Bask-of	914(5400 146544	0783144 7 7698	398072 17250	27040 2	094620 033	4 (6968	
		a Monik	a F	Chapar Rangran		Tch Tosham	Bhiwani	Haryana	india	India Haryana Gramin	~	8147170 7 0031653	064239 21105	1270-10	2094620 081	0	6000	
13	Anita	Anîta		VPO Ratera		Teh Bawani Khera	Bhiwani	Haryana	India	Bant: Punjab National Bank	~	1053001	25322	127035	2094620 050	0	6000	
14	Seema Rani	Roni		VPO Ratera	1	Teh Bawani Khera	Bhiwani	Haryana	India	Punjab National	~	83 1053001 7000018	2857459 37196	127035	2094620 100	0	6000	-
15	Raní	i Shamm Rani		Nigana Kalon	VPO Dhani Mahu	Teh Tosham	Bhiwani	Haryana	India	Bank of	57BP00 00819	90 6517381 7839	5043487 65034	127040	2094620 097	0	6000	
16	Mamta	Mamta	F	VPO Pinjokhe ra		Teli Tosham	Bhiwani	Haryana	India	Patiala Sarva Haryana Gramin Bank	PUNB0 HGB001	8148170 0023130	8724237 44551	127040	2094620 227	0	6000	
17	Jyoti	Jyoti	F	Tosham	Ward no.01	Teh Tosham	Bhiwani	Haryana	India	111120-011212-024	CBIN02 80410	3902731 649	2390694 66324	127040		0	6000	
18	Shinn	Shinu	F	VPO Sagwan		Teh Tosham	Bhiwani	Haryana	India	State Bank of India	A STATEMENT OF A STAT		7303617 06774	127040	256 2094620 023	0	6000	
19	Ritu	Ritu	F	VPO Chapar Rangran		Teh Tosham	Bhiwani	Haryana	India	Sarva	PUNB0 HGB001	8147170 0032397	6182278 61111	127040	2094620 265	0	6000	
20	Ritu Rani	Ritu Rani	F	VPO Ratern		Teh Bawani Kliera	Bhiwani	Haryana	India	Punjab National Bank	\swarrow	1053001 7000019 05	4959421 76248	127035	5 2094620 021	0	6000	1
21		Monika	F	VPO Jamalpur		Teh Tosham	Bhiwani	Haryana	India	Sarva Haryana Gramin Bank	PUNBC HGB00	8017190 1 0040370	870159- 37194	4 12703	5 2094620 249	0	6000	
22	Rekhn	Rekhn	F,	Tesham		Teh Tosham	Bhiwani	Haryana	Incita	Sarva	HGB00	0 802120 1 000001) 859421 0 46979	1 12704	0 209462	0 0	600	a.

1	23		Monili.	1	Listen		feh sliam	Bhiwani	Haryona	India	H. Alfden Bank	CNRD0 004758	4758108	2887680 30558	127040	20.94620 197	Û.	6000	
-	54	Monika			VP(Pinjož a Ta	1		Bhiwani	Haryana	finilia	Bank	CNR30		6656728	127040	2094628 155	0)	6060	
	25		Sajjana	19	Bohal	lumajpur Ba		Bhiwani	Haryuna	India.	Saiya Harjana Gruotin Bank	PUNB0 HGB001	8017010 0119970	6327399 46918	127035	2094620 175	0	6909	
	26	Asha	Asha	F	Toshani	1	'ch sham	Bhiwani	Haryana	India	Central Bunk of Judia	CBIN02 80410	3516283 232	3297917 91476	127040	2094620 108	0	6000	
	27	Nitu	Nitu	F	Tosham		'en sham	Bhiwani	Haryana	India	The Bhiwani Central Co-op Bank Lnl	1	0041340 0400669 5		127040	2094620 062	0	6000	
	28	Jyoti Devi	Jyoti Devi	Ŀ	Sandwa		sham		Haryana	India	Central Bank of India	CB1N02 80410	3595119 960	7416081 09418	127043	2094620 145	Ű	6000	
	29	Kiran Kumari	Kiran Kumari	F	VPO Pinjokhe ra		munds		Haryana	India	Haryana Gramin Bank	PUNB0 HGB001	8148170 0034242	6684154 75013	127040	2094620 173	0	6000	
L	30	Ritti	Ritu	1.	VPO Chapar Rangran		eh J hanr	Bhiwani	Haryana	India	Haryana Gramin Bank	PUNB0 HGB001	8147150 0007223	2324603 73651	127040	2094620 018	0	6000	
	31	Pobja	Pooja	F	Khanak	Tos	ham		Haryana	India	Canara Bank	CNRB0 004758	4758108 001717	4698952 08087	127040	2094620 085	Ø	6000	linker
	32	Bliateri		F	VPO Ratera	Ti Bay Kh	vani	Bhiwani	Haryana	India	Punjab National Bank	Ý		4058666	127035	2094620 022	0	6000	
	33	2	Manju	F	VPO Ratera	Ta Bay Kh	vani	Shiwani	Haryana	India	Punjab National Bank	V	1	2155108 36811	127035	2094620 137	0	6000	
	34	Pinki	Pinki	F	Mohila	Ti Siw	unî 🗋		Haryana	India	Canara Bank	CNRB0 004750		9721515	127046	2094620	ü	6000	
	35	Minorata	Misinin,	<u>p</u> .	VPO Khanak	Tosl	sh. Banya	Huwani	Horyana	Iudia	Sarva	PUNBO		\$345596	127040	047 2094620 278	Q	6000	

37		Taunu	h.	/hanwari	Teh Tostam	Dhiwaro	Hayana	hudia	Haryana Gramin		8147150	90%6 600	12.200	109/620	0	6400	-
	Anju	Anju	ľ	istrawar	Teh Toshan	Himany	Haryana	1r(dfa	Bank Satya Uacyana Grainin	≥ PUNB0	8021190 0010794	199532.11	127033	2094620 628	0	6000	
38	Sanju	Sanju	F	VPO Khawa	Teh Tosham	Bhiwani	Haryana	Toatia	Dank Sarea Haryana Gramin	PUNII0 HGB001	8009176 0126675	5243264 22976	1271043	2094620 193	0	6000	
39	Kavita	Kavita	F	VPO Mandha n	Teh Tosham	Bhiwami	Haryana	India	Gramm	PUNB0 HGB001	8009170 0070811	6100094 12578	127043	2094620 248	0	6000	-
40	Anju Rani	Anju Rani	F	VPO Kirawar	Teh Tosham	Bhiwani	Haryana	India	Bank State Bank of India	SB1N00 16566	3755164 4682	2927832 13813	127035	2094620 052	0	6000	
41	Sushila Kumari	Sushila Kumari	F	VPO Ratera	Teh Bawani Khera	Bhiwani	Haryana	fodia	Punjab National Bank	\checkmark	1053001 7000019 69	9013052 56224	127035	2094620 141	0	6000	
42	Sweety	Sweety	F	VPØ Hazamp ur	Teh Hansi	Bhiwani	Haryana	India		PUNB03 29000	3290000 1021318 82	6107011 85693	125033	2094620 077	0	6000	
43	Savita	Savita	F	Mandha n	Teh Tosham	Bhiwani	Haryana	India	Sarva	PUNB0 HGB001	8009170 0070626	8506758 95665	127043	2094620 250	Ø	6000	
14	Urmila	Urmila	F	VPO Bhurtana	Tosham		Haryana	India	State Bank of India	SB1N00 16566	3779965 3548	9639071 12426	127035	2094620 017	Û	6000	
5	Mitu	Mitu	F	Kharkad i Sohan	Teh Tosham	Bhiwani	Haryana	India	State Bank of India	SB1N00 16566	3604362 1126	3459484 51931	127040	2094620 274	0	6000	
6	Sonu Devi	Sonu Devi	F	Khanak	Teh Tosham	Bhiwani	Haryana	India	Central Bank of Inctia	CB1N02 80410	3693011 998	5695303 95542	127040	2094620 135	0	6000	
7	Pooja Rum	Pooja Rani	F	Tosham	Teh Fosham	Bhiwani	Haryana	India	Central Bank of Jodia	CB0302 80450	3426250 810	8563392 52608	127040	2094620 026	0	0080	

	1																
1	Munisim	Manisha	Ē	VPO Dulheri		Teh Tosham		Horyans	Initia	Andhra Bank	ANDB0 002966	2966101 0602758	2450703 32510	122040	2094620 139	0	6100
49	Atún Kumari	Anja Kumari	Γ	VPO Isharwal		Teh Tosham	(bhiwani)	Haryana	India	Haryana Gramin Bank		1 3009170 0072341	5831276 45607	127043	2094620 275	0	ülkuə
50	Anju	Anju	F	Nigana Kalan	VPO Dhani Mahu	Teh Tosham		Haryana	India	fDB1 Bank	1BKL00 01996	1996104 0000177 72	6126028 20246	127040	2094620 045	0	6000
51	Priyanka	a Priyanka	é é	Saral		Teh Tosham	Bhiwani	Horyana	India				8098862 28606	(27040	2094620 296	0	6000
52	Annu		Ę	VPO Jamalpur		Teh Bawani Khera		Hüryama	- India		UTIBOB HIW01		5128383	127035	2094620 252	0	6000
53	Kareena	Kareena	F	Tosham		Teh Tosham		Натуана	India			3557901 986	3126047 95852	127040	2094620 187	0	6000
54	Kiran	Kiran	k.	Tosham		Teh Tosham		Haryana	India	Punjab National Bank	PUNB0 HGB001	8021010 0110347	7719498 63670	127040	2094620 174	0	6000
55	Reenu Rani	Reenu Rani	F	VPO Ratera		Teh Bawani Khera	Bhiwani	Haryana	India	Punjab National Bank	PUNB01 05300	1053001 7000017 65	7762948 50243	127035	2094620 236	0	6000
56	Monika	Monika	F	Janialpur		Teh Bawani Khera	Bhiwani	Haryana	India	Sarva Haryana Gramin Bank	HGB001	8017190	3367690 81492	127035	i 2094620 060	0	6000
57	Meenaks hi	Meenaks hi	E	Tosham		Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala		6521998 0103	8452324 93510	127040	2094620 136	0	6000
58	Pooja	Pooja	F	VPO Sipper		Teh Tosham	Bhiwani	Haryana	India	Sarva Haryana Gramin Bank	HGB001				5 2094620 154	0	6000
5.9	Reena Ranî	Reena Rani	F	Paposa		Teh Baward Khera	Bhiwani	Haryana	India		a Husiana				5 (2094620 151	-0	66206

h

0		Section .	F	VPO Ratera		Teh Bawani Khara	Bivixerro	tiaryana	India	Punjab National Bank	V	1053001 7000024 72	22303 57 91794	127035	2094620 146	0	6503	
61	Poonany	Peonain	F	VPO Bhurtana	3.		Bhiwani	Tiaryana	India	The APPART OF A	STDPOO	6520464	22249 39 53462	127035	2094620 233	Ø	6000	
62	Ramita	Romita	F	Nigana Kalan	VPO Dhani Mahu	Teli Tosliam	Bhiwinii	Haryana	India	State Bank of India	SB1500 16566	3407076 6898	9081805 -58410	127040	2094620 072	0	6000	Weil:
63	Darshan a	Darshan a	F	VPO Khanak		Teh Tosham	Bhiwani	Haryana	India	Canara Bank	CNRB0 004758	4758101	6297168 59543	127040	2094620 279	0	6000	
64	Jagat Rani	Jagat Rani	F	VPO Paposa		Teh Bawani Khera	Bhiwani	Haryana	India	Sarva Haryana Gramin Bank		8017010 0119952	7862302	127035		0	6000	
65	Poonam	Poonam	F	VPO Dulheri		Teh Tosham		Haryana	India	Andhra Bank		2966101 0002756 3		127040	2094620 125	0	6000	
66	Diksha	Diksha	F	VPO Dulheri		Teh Tosham		Haryana	India	Central Bank of India		3686739 903	4079486 43469	127040	2094620 202	0	6000	
67	Indu Bala	Indu Bala	F	VPO Bhurtana		Teh Tosham		Haryana	India	State Bank of Patiala	STBP00 00819	6516982 9975	3767115 20579	127035	2094620 268	0	6000	
68	Neelam	Neelam	F	VPØ Dadam		Teh Tosham		i Haryana	India	Haryana Gramin Bank	PUNB0 HGB001	8147150 0007898	6191823 74708	127040	2094620 158	0	6000	
69	Pooja	Pooja	F	Khanak		Teh Tosham		i Haryana	India	Central Bank of India	CBIN02 80410	3693011 932	7558345 94945	127040	2094620 099	0	6000	
70	Saroj	Saroj	F	VPO Kharkari Makhwa n	8. F)	Teh Tosham		i Haryana	India	Canara Bank	CNRB0 004758		Contraction of the second second	127040	2094620 304	0	6000	
71	Prity	Prity	F	Dang Kalan		Teh Tosham		i Haryana	India	State Bank of Parinta	00819	2460 S515513	4347655 55238	127111	2094620 088	0	6000	
72	Poonam	Poonam	Ţ.	Nigana Kalap	VPO Dhanî Mahu	Teh Tosham	CONTRACTOR OF STREET	i Haryana	India	Sarva Haryani Gramia Bank	IIGB00) 8078190 1 003781-		1270-0	2094620 237	Û.	6000	

1	Surbhi	Surbhi	F	Tosham	,	Teh Toshim	Bhwari	Haryana	India	Bank of	CB1N02 80410	016	5133341 15793	127040	2094620 185	ły	fallté)
74	Deepilta	11000	F	Baganw ala		Teh Tosham	Bhiwani	Haryana	India	tudia Canara Bank		475(12)		127040	2094620 168	0 :	6000
15	Neclam	Neeläm	F	Tosham		Teh Toshim	Bhiw ani	Haryana	India	State	the same to be a set of the		6246523 40936	127040	L. Collars ment	TI.	6000
76	Sujara	Sujtita	F	Nigana Kalan		Teh Tosham		Haryana	India		the second second	2045001 5022176 7		124113	2094620 132	0	6000
77	Sapna	Sapna	F	Patodi Khurd	VPO Sandwa	Teh Toshnu	Bhiwani	Haryana	India	Haryana		8079170 0061159		127043	2094620 288	0	. 6000
78	Sangeeta	n =	F	Mandha n	2	Teh Tosham		Haryana	India	Haryana		8009170 0070714		127043	2094620 287	0	6000
79	Sheela Devi	Sheela Devi	F	Kîrawar	Υ	Teh Tosham	Bhiwani	Haryana	India		PUNB01 05300	1053001 7000624 16	8518754 00826	127035	2094620 055	0	6000
80	Manisha Devi	Manisha Devi	F	VPO Pinjokhe ra		Teh Tosham	Bhiwani	Haryana	India	Canara Bank	CNRB0 004758	4758120 000101	4526953 17178	127040	2094620 194	0	6000
81	Manisha	Manisha	F	Tosham		Teh Tosham	Bhiwani	Haryana	India	IDBI Bank		1996104 0000379 25	3861979 20992	127040	2094620 064	0	6000
82	Anju	Anju	F	Alampur		Teh Tosham	Bhiwani	Haryana	India	Andhra Bank	ANDB0 002966	2966101 0002749 3	6695821 91674	127040	2094620 271	0	6000
83	Ritu	Ritu	F	Jamalpur		Bawani Khera	Bhiwani		India	Sarva Haryana Gramin Bank	PUNB0 HGB001	8017190 0040738	6122669 45880	127035	2094620 183	0	6000
84	Naseeb	Naseeb	F	Pichopa Kalan		Teh Tosham	Bhiwani	Haryana	India	Canara Bank	CNRB0 004758	4758101 002743	7524298	127310	2094620 246	0	6000
85	Nisha	Nisha	F	Jamalpur	c ,		Bhiwani	Haryana	India	Andhra Bauk	ANDB0	Contraction of the second second	2111601	127035	246 2094620 112	0	6000
86	Rakhi	Rakhi	E.	Rimwar		Teh Tosham	Bhiwani	Haryana	India	Punjab National	PUNB01 05300		9887722 84182	127035	2094620	0	6000

\$7	Privanke	i Priyanka	E	- Contract	(in 19	1		1/	(Fing		73		1	1.7		T
88	Pooja	Рооја		Janufpur	12	Tosnam	1	i Haryana		Gramin Bank	a HGH001	1 0109132	2 62621		5 2094020 165	ŭ	649
89			F	Kirawar	i -t	– Teh Tostam	Bhiwani	i Haryana	India	Indian Overseas Bank		0 1444010 0000967 6		127035	5 2094620 183	ö	603
		a Anamika		Kirawar		Teh Tosham	Bhiwani	i Haryana	India		PUNE05 96800	5968000 1000057 27) 9924890 7 16229	127021	2094620 242	0	úð
90		Mamta	F	Khannk		Teh Tosham	Bhiwani	i Haryana	India		CBIN02 80410	3683752 407	3442369 90427	127040	2094620 203	0	60
91	Neelam Kumari	Neelam Kumari		Dariyap ur	anta All	Teh Tosliam	L	i Haryana	U WARANA I	man	\checkmark	~	2862590 30667	127040	2094620 184	0	60
92	Rakhi	Rakhi				Teh Tosham		Haryana	India	State Bank of Patiala	STBP00 00819	6527705 0486		127040		.0	60
93	Rachana	Rachana	F	VPO Ratera		Teh Bawani Khera	Bhiwani	Haryana	India	Punjab National		1053001 7000018 44		127035	2094820 010	0	60
94	Asha	Asha	F	Dharan	N _{TSC} (Teh Tosham	Bhiwani	Haryana	India	Central	Contraction of the local division of the loc	3565334 495	2779724 81220	127040	2094820 038	0	60
95	Preeti	Preeti	F	VPO Saral		Teh Tosham	Bhiwani	Haryana	India	IDBI I		1996104 8 0000540 10		127040	2094820 023	Ó	-60
96	Kanchan I Chitra	Kanchan Chitra	F	Kirawar		Teh I Tosham	Bhiwani I	Haryana	India			6505000 2		127035	2094820 043	0	60
97	Priti	Priti	F	Dhani Bhalwan a		Teh Tosham	Bhiwani I	Haryana	India			6786001 6	6193672 36533	127040	2203820 015	0	60
98		Meena	F	Tosham		Tosham	Bhiwani I	laryana				6505001 6	6738179 19462	127040	2203820 020	0	60
99	Ritu	Ritu	F	VPO Bhurtana	1	Teh B Tosham	Bhiwani F	faryana	and the second sec		STBP00 6 01123	6520406 7	7851779 53347	127035	2003820 006	0	60

×	Isha	Isha	F	1 condace (<u>in an /u>	Teh	Bhiwani	Haryana	India	Central	CH1N02	3381551	4754993	122010	22(**820)	0	6000
101	Priyanka	a Priyanka	F	Int.		Toslum				Bank of India	80410	076	08221		010		
102	Kavita			· · · · · · · · · · · · · · · · · · ·				Haryana		Sinte Baak of Patiala	00819	2613	74917		2203820 002	11	6000
120		Kavita	F	Katwar		Teh Tosham	Bhiwani	Haryana	India	Sarva Haryatia Gramin Bank		8009170 0072606	2071040 71346	127043	2203820 028	0.	6000
103	Himani	2 Production of the second	F	Dulheri	14) 21	Teh Tosham	Bhiwani	Haryana	India	Andhra Bank	ANDB0 002966	2966101 0000317 4	2651911 65247	127040	2203820 025	0	6000
104	Seema Rani	Seema Rani	F	VPO Sagwan	-	Teh Tosham		Haryana	India	Canara Bank	CNRH0 004758	4758108 001373		127040	2203820 009	0	6000
105	Reena	Reena	, Fill	VPO Ratera		Teh Bawani Khera	Bhiwani	Haryana	India	1	~	~	7377090 76931	127035	1800102-5	0	:6000
106	Meena Kumari	Moena Kumari	F	VPO Khawa	35.00	Teh Tosham		Haryana	India			6505000 1000827 22		127043	1353620 312	0	6000
107	Jyoti	Jyoti	F	VPO Bhurtana	- 25.	Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala	CBIN00 50819	6505817 1759	5723425 11542	127035	1353620 066	0	6000
108	Laxmi	Laxmi	₽ [×]	Jhanwari		Teh Tosham	Bhiwani	Haryana	India	Central Bank of India	CBIN02 80410	3602931 945	2434793 66249	127040	1353620 210	0	6000
109	Kavita	Kavita	F	Alampur		Tosham	Bhiwani			The Bhiwani Central Co-op Bank Ltd	UTIBOB HIW01	0038340 0100104 2	8218128 91109	127040	1353620 144	0	6000
110	Pushpa	Pushpa	F	VPO Khawa	1	Teh Tosham	Bhiwani	Haryana	India			6505000 1000825 91		127043	1353620 248	0	6000
111	Monika	Monika	F.	VPO Kharkari Makhwa n		Teh I Tosham	Bhiwani	Haryana	India	Haryana Gramîn I Bank		8147170 0032607		127040	1353620 325	0	6000

× .	Ritu	Ritu	17	Paposa	1.5.2	Teh	Bhiwan	Haryana	India	State	SRING	13700600					
113	Manju	Manju	- F	1.1		Bawan Khera				Ennicol India	50819	2351	4537599 67838	127035	1353620 166	Ð	6000
114	Anita	Anita	рЪ,	Chapar Rangran		Teh Toshan	Bhiwani	Haryana	lindia	Sarva	PUNB0 HGB00	8078170 0046212	8657758 73624	127040	1353620 328	0	6000
115	Pooja			Paposn		Teh Bawani Khera	Bhiwani	Haryana	India	Sarva	HGB001	8017190 0025562	8251050 18837	127035	1353620 155	0	600
116		Pooja Mukesh	F	Miran		Teh Toshan	Bhiwani	Haryana	India	Haryana	PUNB0 HGB001	8036170 0053401	8780694 63486	127046	1353620 286	0	600
117	Soni	areje L	F	Devraia		Teh Tosham		Haryana	India	Sarva Haryana Gramin Bank	PUNB0 HGB001	8258150 0006254	8243338 74513	127029	1353620 114	0	600
_	Rani	Soni Rani	h s	VPO Kirawar		Teh Tosham	Bhiwani	Haryana	India	Sarva Haryana Gramin Bank	PUNB0 HGB001	7847010 0003105	5011283 09536	127035	1353620 004	0	600
18	Jyoti	Jyoti	F	Baganw ala	SANI.	Teh Tosham	Bhiwani	Haryana	India	Sarva	PUNB0 HGB001	8147150 0010032	7722267 27735	127040	1353620 261	0	600
19	Jyoti	Jyoti	F	Riwasa		Teh Tosham	Bhiwani		India	Central Bank of India	CBIN02 80410	3571176 8492	8359087 06091	127040	1353620 193	0	600
20	Manisha		F	Kairu		Teh Tosham	Bhiwani		India	Punjab National Bank	PUNB06 78600	6786000 1000502 12	2702974 27175	127029	1353620 131	0	600
21	Varsha	Varsha	F	Kirawar		Tosham	Bhiwani		India	Bank of Patiala	STBP00 00819	6521242 6468	8569852 88525	127035	1353620 061	0	60
22		Sangita	F	Tosham		Tosham	Bhiwanî		India	Central Bank of India	CBIN02 80410	3564749 014	9479001 28965	127040	1353620 285	0	60
23	Birmati .	Binnsti	F	Dulehri	*." 	Teh Tosham	Bhiwnni	Heryana	India	State Bank of India	SB1N00 16566	3145541 8124		127040	1353620 294	0	- 60

•	Hemant	Heman	1 F	1 Walter			0.55									1
25	Kumari	Kuumri		Kainu	Teh Tosham	Bhîwuni	Haryaan	India		PUNB06 78600		7552016 15753	1.270.09	1353620	0	6000
	Charanje et Kaur	Charanje et Kaur	R.	Janualpur	Teh Bawani	Bhiwani	Heryana	India	Bank Haryana	PUNBO	95 8017170	5087992	127035		0	6000
26	Sohni	Solmi	F		Khera				Bank	HGB001	099505	32597		254		traits o
127	Monika	Monika	i na t	Nigunn Khurd	Teh Tosham	Bhiwani	Huryana	fadia	Sarva Haryana Gramin Bank	PUNB0 HGB001	8078170 0044904	2961253 94473	127040	1353620 212	0	6000
Verti		WOITING	F	Nigana Kalan	Teh Tosham	Bhiwani	Haryana			SBIN00 50819	3716865 5385	9906674 90242	127040	and the second sec	0	6000
128	Suman Rani	Suman Rani	F	Tosham	Teh Tosham	Bhiwani	Haryana	India	India State	SBIN00	2044642	2665138	127040	136 1353620	0	6000
129	Monu	Monu	F	Kirawar					Bank of India	16566	9319	79318		111	172	31.17.72 =
	Rani	Rani	- 150 11 - 24	Kiliwai	Teh Tosham	Bhiwani	Haryana	India	Bank of	SB1N00 50819	6517850 1749	3598534 28249	1.001.01.01.01	1353620 003	0	6000
130	Sangita	Sangita	F	Thilor	Teh Tosham	Bhiwani	Haryana	India	Patiala The Bhiwani Central	UTIB0B HIW01	0100045	7937199 23318	127040	1353620 326	0	6000
131	Nomento	Namrata		- 55	-	Đ.	5en 1	HEON	Co-op Bank Ltd		4 .			÷		
				Tosham	Teh Tosham	Bhiwani	Haryana	India	Canara	CNRB0	4758101		127040	1353620	0	6000
132	Rambhat eri	Rambhat eri	F	Tosham		Bhiwani	Haryana	India	Canara	CNRB0	004464 4758108	77102 8560465		301 1353620	0	
133		Manisha	F	Jamalpur		Bhiwani	Harvana	India	Bank	004758	001581	16195		101	U.	6000
				Į.	Tosham	In NOCEN OR SALE		- And Int		PUNB0 HGB001	8017150 0001401	2368118 43734	127035	1353620 058	0	6000
134	Ritu	Ritu	F	VPO Isharwal	Teh Tosham	Bhiwani	Haryana	India		SBIN00 02486	3700486 0708	3049461 18353	127040	1353620 262	0	.6000
135	Nisha	Nisha	F	VPO Bhurtana	Teh Toshuni	Bhiwani	Haryana	India	Canara	CNRB0 004753	4758108	3798478 20799	127035	1353620	0	6906
136	Rakho Doettanî	Rekha Dochani	F	VPO Sipper	Teh Tosham	Buiwani	Haryana	India		SB1N00 50819		La seconda de la composición de la comp	127035	053 1353620 122	0	666K

138	Rani	Ranî		VPO Elhurtana		Teh Tosham	Bhivan	ti Haryena	India	Bank of		0 6505517 1635	2324911 64168	127935	1353620 029	0	6000
	Ritu	Rim	- P	Jamalpur		Teh Bawani Khera	El C.	i Hatyana	India	Gramin	PUNBC HGE00) 8017190 1 0030941	6519056 11700	127035	117204	0	6000
139	Rajesh Kumari		Ga.	VPO Ratera		Teh Bawani Khera	Bhiwan	i Haryann	fraction	Bank State Bank of India	SBIN00 50819	3709770 0552	7365038 15205	127035	1353620 141	0	6000
	Neha	Neha	F	Kirawar		Teh Tosham	Bhiwani	i Haryana	India	Punjab National	PUNB01 05300	1053001 7000618		127035	1353620 266	0	6000
141	Rani	Manisha Rani	F	Nigana Khurd	VPO Dhanî Mahu	Teh Tosham	Bhiwani	Haryana		Bank Central Bank of India	CBIN02 80410	24 3616730 36	7670865 19123	127040	1353620 044	0	6000
142	Rinki	Rinki	F	Nigana Kalan	3 * *	Teh Tosham	Sec. 2.	Haryana		Sarva Haryana Gramin Bank	PUNB0 HGB001	8078170 049529	9427084 33248	127040	1353620 317	0	6000
143	Seema	Seema	F	VPO Hazamp ur		Teh Hansi	Bhiwani	Haryana	India	1	SBIN00 00647	3444794 8783	8372792 00392	125033	1353620 332	0	6000
144	Usha	Usha	F	Nigana Khurd		Tosham	Bhiwani		India		PUNB0 HGB001	8078190 0024421	5469106 04796	127040	1353620 086	0.	6000
		Rinku Kumari	F	Bhera		Teh I Tosham	Bhiwani	Haryana	India		SB1N00 16566	3708968 4846	4177355 75721	127043	1353620 106	0	6000
		Sushila	F	Dang Kalan	1	Teh H Tosham	Bhîwanî	Haryana	India		PUNB0 IGB001	8294190 8 0035432	3877821 55934	127111	1353620 160	0	6000
	Mamta M	Marnta	F	Tosham	7	Teh E Fosham	3hiwani I	laryana	India	State Bank of Patiala 2	~	6511219 1529	7228390 75008	127040	1353620 120	0	6000
18	Construction of the	Sonia		Tosham		the state of the state	Shiwani F	Taryana	India	Central C Bank of Indin	BINGS		206359 90237	127040	1353620 015	6	téét

£49	P-gat	eriya	- F	Dang Kalan		Teh Tosham	Emiwani	Haryana	India	State Bank of	SB1(S00) 16566	3495889 7684	6494296) 58022	127111	1353620	0	6800
150	Suvitu	Savha,	F	VPO Bhurtana	25	Teli Tosham	Elhisconi	Naryana	India	India State Bank of	SELN00 50819	2	5705583	127035	1353620	0	6000
151	Nisha	Nisha	F	Thilor		Teh	Bhiwani	Haryana	India	India		0038340	55183		107		
152	Kawalje	Pare P				Tosham	4 3			Bhiwani Central Co-op Bank Ltd	Va	0100053	28656	127040	1353620 316	0	6000
153	et Kaur Meena	et Kaur	JF A Straight	VPO Jamalpur		Teh Bawani Khera		Haryana	India	State Bank of India	SBIN00 50819	3709119 0319	6313373 38127	127035	1353620 105	0	6000
154	E	Meena	F	Jhully	т. 1913 г. 1914 г.	Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala	STBP00 00819	5515514 5792	6126451 38786	127043	1353620 016	0	6000
	Jyoti	Jyoti	jang Cruliger C	Bhera	1998 (1994) 	Teh Tosham	Bhiwani	Haryana	India	Punjab	PUNB0 HGB001	8082170 0024967	6568152 21503	127043	1353620 149	0	6000
155	Krishma	Krishma	F	Paposa		Teh. Tosham	Bhiwani	Haryana	India	State Bank of India	SBIN00 50819	3707877 8534	9267839 35988	127035	1353620 059	0	6000
156	Sapna	Sapna	F	Tosham	-1	Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala	STBP00 00819	5514982 4198	4575912 78273	127040	1353620 027	0	6000
157	Sonia	Sonia	F	VPO Dhani mahu		Teh Tosham		Haryana	India	Sarva	PUNB0 HGB001	8078170 067862	5681057 26232	127040	1353620 180	0	6000
158	Ashu	Ashu	F	Tosham	ţ)	Teh Tosham	Bhiwani	Haryana	India	State Bank of India	SBIN00 50819	3709608 5650	3858597 93476	127040	1353620 020	0	6000
159	Monika	Monika	F	Sandwa	11-783	Teh Tosham		Haryana	India	State Bank of India	STBP00 00819	1	9740541 71301	127043	1353620 319	0	600
160	Priyanka	Priyanka	F	Rain:		Teh Tosham	Bhiwani	Haryana	India	Punjab National Bank	PUNB06 78600	6786001 5000030 71	5240413 46662	127029	1353620 277	0	600

F (Peonam	Peumm	F	Rodhan		T mar	1	1	7.00		Lensinger	THURSDAY AND AND A	a name	there are	19-5-50-89/10		C. 27 A. 26
	Devi	Devi			1	Tosham	Einwann	Haryono	India	Bank of India	02486	L	71440		017	0	0000
162	Despe	Deepa	F	Bushan	з 5 Д	Teh Tosham		Haryana	India	Harvana	PUNBO RGB902	8609170 6118852	7107315 00960	127043	1353620 204	Ŭ	190490
63	Bala	Bala		Tosham	1	Tosham		Haryana	India	Central Bank of India		3564095 253	9026091 56362	127040	1353620 284	0	6000
-	Bharti	Bhani	F	Kairu	15	Teh Toshain		Haryana	India			6786001 5000071 83		127029	1353620 113	0	6000
		i Priyanka	I.	Tosham		Teh Tosbam		Haryana	India		50500	6505000 1000812 28	71610		056	0	6000
166	Seema	Seema	Ē	VPO Riwasa	- eller 1940au 1940au	Teh Tosham		Haryana	India	Sarva Haryana Gramin Bank	PUNB0 HGB001	8024010 0131775		127040	1353620 014	Ö.	6000
167	Babita	Babita	F	Jui Khurd		Teh Bhiwani	1	Haryana		Punjab	PUNB06 78600			127029	1353620 272	Ö	6000
168	Sanju	Sənju	f	Indiwali	2. V 4 S	Teh Tosham		Haryanu	India	Sarva Haryana Gramin Bank	HGB001		53808		323	0	6000
169	Pooja Rani	Pooja Rani	F	Dulchri		Teh Tosham		Haryana	India	State Bank of Patiala	STBP00 00819	5514982 1918	8456773 96184	127040	1353620 024	0	6000
170	Neclam	Neelam	F	Jamalpur		Teh Bawani Khera	Bhiwani	Haryana	India	Sarva Haryana Gramin Bank	PUNB0 HGB001	8017170 0108957		127035	1353620 110	Ö	6000
171	Sonika	Sonika	F	Paposa		Teh Tosham	1 Second Second	Haryana	India	Sarva Haryana Gramin Bank	PUNB0 HGB001	8017190 0040127	9683818 89867	127035	1353620 249	0	6000
172	Preeti Rani	Preeti Rani	F	Tosham		Tosham		Haryanu		Catining Bank	004758	003232	28992		1353620	0	6000
173	Neeru	Neeru	F	(tajaoan) r		Teh Hansi	Bhiwani	Hurynaa	molia	State Bank of	STBP00 00819	5514982 8721	9245461 30805	125033	1353620	Ŭ.	6000

Arrest		1			1 12	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	- 1	T		185.0	1	IFC P	1	<u></u>			
1921	Pooja	Pooja	F	Bhero		Teh				Patiali	the second secon	1 Course and					
172			,	C. ST. F.		Tosham	10 111 11 11 11 11 11	i Haryana	n India	Ratyona Gramin	ajraniout	0029139	9084597 31794	127040	1353620 136	0	64800
175	Preeti	and		VPO Bhurtana		Teh Tosham	100,000,000,000,000	i Haryana	a India	Eank Sarva Haryana Gramin Bank	a HGB001	8021190 0034846	7011494 60987	127035	1353620 171	0 -	5000
176		Ritu	F	Jamalpur	r	Teh	1. S. 1. 1	i Haryana	t India	Sarva	HGB001	8017190 0040862	2885475 8586	127035	1353620 100	0	6000
177	Pushpa		-	Kosli Rewari	Al an A	Kosli	Bhiwani	Haryana	India	State Bank of India	SB1N00 16566	3695670 6783	5970142 57142	123302	1353620 132	0	6000
178	Diksha Rani	Rani			· 举: 一道	Teh Tosham	1 6-9-7		t ang saing The state ang saing br>saing saing	State Bank of	SB1N00 50819	6517843 2435	64740	11. th	1353620 002	0	6000
179	Reema Kumari	Kumari	·F	VPO Bhurtana		Teh Tosham	Bhiwani	Haryana	1.1	State Bank of India	50819	6514764 3599	9646979 82805	127035	1353620 054	0	6000
180		Nirmala	F	Bhera	-	Teh Tosham	Bhiwani I	Haryana -		Haryana Gramin I Bank	PUNB0 HGB001	8082170 0029315	9904138 74165	127043	1353562 0152	0	6000
181	Preeti	Preeti	F	VPO Kirawar		Teh Tosham	Bhiwani	Haryana		The local sector of the	SBIN00 50819	3698276 2385	6477465 12732	127035	1353620 005	0	6000
182	Mohini	Mohini	F	VPO Bhurtana		Tosham	Bhiwani I		India	Canara	CNRB0 004758	4758108	4214399 07657	127035	1353820 058	0	6000
		Mamta		Tosham		Tosham	Bhiwani F	-		State Bank of Patiala	STBP00 00819	5515515 1954	7670814 49285		1353820 069	0	6000
184 1	Poonam F		F	Jhully	-	Tosham		Sieral I	India 1	Sarva Haryana H Gramin Bank	PUNB0 : HGB001 (8036010 (0064345	6097029 17352	127043	1353820 038	0	6000
185	Seema 1	Seema	$= E \circ F$	VPO Janualpur		Teh B Bawani Khera	Bhiwani H		India 4	The U Bhiwani Central	UTIB0B (HIW01	0019340 0400120 1	2616611		1353820 007	0	6000

186	Poonam	Poonam								Co-op Bank Ltd	- 43 5					1	
		roomm	i Fi Inijalo	Tosham		Teh Tosham	Bhiwan;	Haryana		Control frank of	CBIN02 30410	3571766 358	5115985 50581	127040	1353820	U	6000
187	Renu :	Renu	en ker	Jannalpur	1	Teh Bawani	Bhiwani	Haryana	India.	India Sarva		8017170		127035	13538201	0	6000
	<u> 2</u>					Khera		=	- 	Haryana Gramin Bank	HGB001	0109044	05886	1.4	067		
183	Neha Barwar	Neha Barwar	F	Jamalpur		11 K.M.	Bhiwani	Haryana	India	Canara Bank	CNRH0 004758	4758101 003419	4930730 54101	127035	1353820 064	0	6000
189	Pushpa	500 Arti- 4 48 A	F State	Jhanwari	i VPQ Kharkari Makhwa n	Teh Tosham	Bhiwani	Haryana	India	State Bank of India	SB1N09 16566	3708428 2926	4580707 06434	127040	1466120 020	0	6000
190.4 (1/58/)	Rekha Rani	Rekha -Rani	-0 F 11-24-0.11 -0 11-24-0.11	Kirawar		Teh Tosham		Haryana 	India	Central Bank of India		3291654 517	3268174 32322	127035	1466120 024 -	0	6000
191	Parveen Kumari	2012 ST \$1 1 S S S S S S S S S S S S S S S S S	F	Nigana Kalan		Teh Tosham		Haryana	India	-	STBP00 00819	6520252 1272	8064159 60981	127040	1466120 049	0	6000
192	Annu Bala	Annu Bala	F	Tosham	_	Teh Tosham	Bhiweni	Haryana	India	- ALTER CONCELL		6505001 5000010 52		127040	1466420 020	0	6000
193	Arti	Arti	F	Khanak		Teh Tosham	Bhiwani	Haryana	India	Central Bank of India		3477600 470	5897898 58019	127040	1466120 079	0	6000
194	Komal	Komal	F	Tosham		Teh Tosham	Bhiwani	Haryana	India	State Bank of India	SB1N00 50819	3710818 4051	2790623 02464	127040	1466120 033	0	6000
195	Mukesh	Mukesh	F	Khanak		Teh Tosham	Bhiwani	Haryana	India	State Bank of India	SB1N00 50819	3709118 6518	8381712 07320	127040	1466120 044	0	600
196	Savina	Savina	F			Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala	STBP00 00819	6517969 4626	8719339 52945	127040	1464200 06	0	600
197	Ritu	Ritu	F	Sahlewal		Teh Tosham	Bhiwani	Haryson	India	Sarva		8009150		127043	1466420 045	0	600

1				17									-200					n n
198	Privanla									Ciramin Bank			1		l la			1
198	11	a Priyanka	È.	Janalpur		Teh Bawani Khera	韩	i Haryana	India	Haryana	PUNB0 HGB001	8017170 1 0104331	6487581 81812	127035	i466120 077	0	6000	
200		i Deepika		Tosham		Teh	Bhiwani	i Haryana	lodia			2 3481922 436	2 7684419 28469	127640)466120 015	0	6000	
1050	Punit	Punit	F	Mangali Mohbat		Tch Tosham	Bhiwani	i Haryana	India	Haryana		8147150 0000176		125001	1466420 056	e 0	6000	Ť
201	Pooja	Pooja	F	Dulchri		Teh Tosham	Bhiwani	i Haryana	India			2 3481535 232	5 8232162 01693	127040	1466120 017	0	6000	
202	1 1 . 23	1 Deepika	51. 1	Kirawar	Stat.	Tosham		i Haryana		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		2 3291655 022	5 9712977 12940	127035	1466120 014	0	6000	
03 	11 - THURS		- F 	Kirawar		Teh Tosham	i – Persp	i Haryana	India	-		6517850 3383	Provide Street R			0 (1) (1)	6000	
.04	Kiran	Kiran	E	Dadam		Toshani		Haryana	1	10.05 0.001	SBIN00	0 3707245 0453	5 2821681 87979	127040	1466120 010	0	6000	
05	Rītu	Ritu	17	Tosham		Tosham		Haryana			CB1N02 80410	3490222 080	2 7327071 58360	1 127040	1466420 008	0	6000	T
06	Kavita	Kavita	Ŧ	Dhani mahu		Tosham			India		STBP00 00819) 5515514 5408	3474127 57104	127040	9434103 29	0	6000	
07		Seema			Dariyap ur	Tosham			India	and the second second	STBP00 00819) 6525961 8350	3914478 36617	127040	9434101 87	0	6000	
08	Neha	Neha		Jamalpur		Bawani Khera	Bhiwani I			State Bank of Patiala	STBP00 00819) 5515515 4364	3 2108215 94445	127035	5 9434100 04	0	6000	
	Sharmila S		р 2495 Цес	Thilor		Tusham	Bhiwani I		India	Bank of Patiala	00819) 5515515 2517	28038) 9434102 32	0	6000	
210	Randolusi R eri	Ramblint wi	P ≥ J	Jamalpur		Teh 1 Bawani	Buisvani	Haryana	India	State Bank of	STBP00 00819) 5515545 1342	06376288 06526	127035	5 9434100 49	0	6000	

11	Usha	Ushn	-	100 B		Khera			h	Patiala		1.3.68						
			F	Jamalpur		Teh Bawani Khera	Bhiweni	Harvana	India	State Bank of Patiala	STBP00 00819	5515515 1375	6418526 77986	127035	9434100 10	0	6000	
12	Peoja	Paoja	F	Kairu		Teh Toshum	Bhiwani	Duryana	India	State Bank of Patiala	STBP00 00819	5515514 5248	6206467 84784	127029	9434101 18	0	6000	
213	Prianka	Prianka	Ť	Babarwa s	PO Chanda was	Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala		6520256 9666	9632598 33395	127029	9434102 83	Q	6000	
214	Pooja	Pooja	F	Tosham		Teh Tosham	Bhiwani	Haryana	1ndia	State Bank of Patiala		5515514 5022	6839915 20909	127040	9434102 75	0	6000	
215	Komal	Komal	P	Tosham		Teh Tosham	Sec.	Haryana	India	State Bank of Patiala		5515514 5044	4142715 66669	127040	9434102 76	0	6000	
216	Reena	Reena	F	Jamalpur			it in the		India	State Bank of Patiala	STBP00 00819	5515515 2108	6202191 75699	127035	9434100 15	0	6000	
217	Meena Kumari	Meena Kumari	F	Nigana Kalan	VPO Dhani Mahu	Tosham		Haryana	India -	State Bank of Patiala	STBP00 00819	5515515 2222	4460643 52570	127040	9434101 67	0	6000	
218	Komal	Komal	F	Kairu		Teh Tosham		Haryana	India	State Bank of Patiala	STBP00 00819	5515515 1829	9589130 98578	127029	9434100 25	Θ.	6000	
219	Jyoti	Jyoti	F	Dang Khurd		Teh Tosham		Haryana	India	State Bank of Patiala	STBP00 00819	5515514 5157	9176007 72919	127111	9434101 68	0	6000	
220	Babli	Babli	F	VPO Dadam		Toshanı		Haryana	India	State Bank of Patiala	STBP00 00819	5515575 2302	7340512 63685	127040	9434100 75	0	6000	
221	Monika	Monika	F	Dadam :		Tosham			India	State Bank of Patiala	STBP00 00819	5515515 2299	6939913 56911	127040	9434102 07	0	6000	
222	Kiran	Kiran	F	VPO Jamalpur		Bawani, Khera	31. e	Haryana	India	State Bank of Patiala	STBP00 00819	5515515 2095	2290278 33101	127035	9434100 07	0	6000	
223	Shedtai	Sheetal	F	Tosham		Teh Tusham		Haryana	India	State Bank of Patials	STHP00 00819	5515515 2277	9585424 05623	127040	9434102 73	0	6000	101

			_															
		Morrika	μ	Khanak	V.	Lob Toshuu	Brisseni	Həgyana	India	State Bank of India	SB1N(ij) 50819	\$515515 2474	6158301 34700	127040	9434100 20	0	60181	
225	Peoja Bai	Pooja Bai	F	Nigana Khurd	VPO Dhani Mahu	Teh Tashtai	Bhiwaal	Haryana	India		STRP00 00819	3813313 2346	7773416 74272	127040	9434101 13	Û	6000	
226	Neisy:	Prity	F	Hajampu r		Teh Hansi	Bhiwaai	Haryana	India		STBP00 00819	5515514 5577	5664699 77022	125033	9434102 84	Ð	6000	
227	Sumitra	Sumitra	F	Sungarp ur		Teh Tosham	Bhiwani	Haryson	India	State Bank of Patiala	STBP00 00819	5515514 5838	3950863 27867	(27040	9434103 34	0	6000	
228	Pooja	Pooja	E	.lamalpur		Teh Bawani Khera		Haryona	India	State Bank of Patiala	STBP00 00819	5515515 1353	5807228 82490	127035	9434100 06	0	6000	
229	Sudesh	Sudesh	F	VPO Jamalpur	1.4	Teh Bawani Khera	CONTRACTOR DECKARDER	Haryana	India	State Bank of Patiala	STBP00 00819	5515515 2084	6188573 09790	127035	9434100 16	0	6000	
230)	Parveen Kumari	Parveen- Kumari	-P -	Add	Ó	Teh Tosham		Haryana	India	State Bank of India	SB1N00 50819	6514864 3292	2233205 63991		9434100 26	0	6000	
231	Sumitra	Sumitra	F	Tosham		Teh Tosham		Haryana	India	State Bank of Patiala		5515514 5952	2859565 66604	127040	9434102 56	0	6000	
232	Nanki	Nanki	F	Jamatpur		Teh Bawani Khera		Haryana	India	State Bank of Patiala	STBP00 00819	5515514 5770	6902992 32811	127035	9434103 62	0	6000	
233	Pooja Rani	Pooja Rani	F	Sipper		Teh Tosham		Haryana	India	State Bank of Patiala		5515514 5339	8633456 07348	127035	9434103 45	Ø	6000	
234	Poonam Kumari	1.2.2.2.2.2.2.2.2.2.1	F	Dharwan bas		Teh Tosham		Haryana	India	State Bank of Patiala	00819	5883	42263		9434103 55	0	6000	
235	Versha	Versha	F	VPO Bhurtana		Teh Tosham		Haryana	India	State Bank of Patiala	00819	8855	83730		9434101 84	0	6000	
236	Ganga	Ganga	F	VPO Kirawar		Teh Tosham		Haryana	India	Disficult	00819	8573	13585		9434102 54	1	6000	
237	Aarti	Aarti	F	Babarwa	VPO	Teh	Bhiwani	Haryana	India	Stole	STHPO	6518107	2132228	12702	o (1444)	1 (F	6000	

	.		× - 1	S	Chanda was	Fostung	Sec. 1	in the		Bank of Patials	00135	4693	02288		- 53			
233	Peryanka		F	Sahlewal a		Teh Tosham	Bhiwani	Haryana	India			5515514 5703	3524438 89840	127043	9434101 98	0	6000	
239	Ram Devi	Ram Devi	F	Kirawar		Teh Tashini	Bhiwani	Haryana	Indía		STBP00 00819	5515514 4709	8860407 01287	127035	9434102 06	0	6000	
240	Pooja Kumari	Pooja Kumari	F	Dang_ Khurd		Tch Tosham	Bhiwani	Haryana	India	State Bank of Patiala	STBP00 00819	5515514 5500	5234130 18866	127111	94341()2 63	0	6000	ł
241	Kavita	Kavita	F	Nigana Khurd	4.1	Teh Tosham	Bhiwani	Haryana	India		STBP00 00819	5515514 4823	5676485 88617	127040	9434102 58	0	6000	
242	Asha	Ashn	F	Nigana Khurd	VPO Dhani Mahu	Tch Tosham	Bhiwani	Haryana	India	State Bank of Patiala		5515514 5271	7917221 68247	127040	9434101 39	0	6000	5
243 2 (1)	Mayavat i	Mayavat i	F	VPO Kharkari Makhwa n		Teh Tosham	Bhiwani		India	State Bank of Patialn	STBP00 00819	5515515 2685	9632362 95106	127040	9434102 59	0	6000	
244	Sushma	Sushma	F	VPO Paposa		Teh Bawanî Khera	Bhiwani	Haryana	India	State Bank of Patiala	STBP00 00819	5515514 5656	6214478 75247	127035	9434100 72	0	6000	
245	Suman	Suman	F	Tosham		Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala	STBP00 00819	5515518 2324	9114064 84536	127040	9434100 83	0	6000	
246	Karishm a	Karishm a	F	Kharkad i Sohan		Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala	STBP00 00819	5515514 4732	7560444 77913	127040	9434102 08	0	6000	
247	Rakhi	Rakhi	F	Tosham	ñ	Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala	STBP00 00819	5515514 5351	3622974 48500	127040	\bigcirc	0	6000	
248	Pinki	Pinki	F	Kharkari Sohan		Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala	STBP00 00819	5515514 6014	6968627 31065	127040	9434103 49	0	6000	
249	Neefu	Nectu	F	Migana Khird	VPO Dhani Mahu	Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala	STBP00 00819	5515514 5667	5460830 58902	127046	44	0	6000	
250	Nisha	Nisha	F	Nigana	VPO	Teh	Bhiwani	Haryana	India	State	STBP00	5515514	7346771	127040	10124407	0	6000	-

251	Direct			Khund	Dhhiti Mahu	Tasham				Bunk St Patiala	动脉神	5985	13348		33		
	Pooja	Pooja	F	V#G Dulteri		Teh Tosham	Bhiwani	Haynna	India	Sane Bunk of	STBP00 00819	5515514 5930	2708793 64235	127040	9434162 20	0	6000
252	Jyoti	Jyoti	-1 F	Sahfewal 2	VPO Sandwa	Teh Tosham	Bhiwani	Haryana	India		STBP00 00819	5515515 2630	2376727 79705	127043	9434101 92	0	6000
253	Deepa	Deepa	F	Tasham		Tch Toshum	Bhiwani	Haryana	India	Patiola State Bank of Patiola	STBP00 00819	5515514 6321	4942882 33223	127040	9434103 51	0	6000
254	Arti	Arti	F	VPO Khanak		Teh Toshun	Bhiwani	Haryana	India	State Bank of India	SBIN00 16565	3377430 1048	3908149 26106	127040	9434101 96	0	6000
255	Poeja	Pooja	F	Jamalpur	а 1, ⁶	Teh Bawani Khem	Bhiwani	Haryana	India	State Bank of Patrafa	STBP00 00819	5515515 1386	3846262 10694	127035	9434100 03	0	6000
256 11-11-0	Meena	Meena	F Action	Nigana Khurd		Teh Toshum	Bhiwani	Haryana	India	State Bank of Patiala	STBP00 00819	5515515 2426	3056698 88179	127040	9434100 23	0	6000
257	Soniya	Soniya	F	VPO Sipper	1991 M T	Teh Bawani Khem	Bhiwani	Haryana	India	State Bank of Patiala		5515514 5816	6609578 46612	127035	9434103 65	0	6000
258	Sudesh	Sudesh		Katwar		Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala		5515514 6127	6326125 03166	127043	9434102 85	0	6000
259	Parmila	Parmila	F	Dulehri		Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala		6520374 2825	9056015 96969	127040	9434101 05	0	6000
260	Meenu	Meenu	F	Nigana Kalan		Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala		6520261 4645	7176462 26931	127040	9434101 30	0	6000
261	Dinki	Dinki	F	Tosham	s	Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala		5515515 2607	5334056 66587	127040	9434100 59	0	600
262	Laxmi	Laxmi	P	Nigana Khurd		Tosham	Bhiwani		India	State Bank of Patiala	00819	2357	46368		9434101 56	0	-600
263	Veena	Veena	(F)	Tosham	1	Teh Foslam	Bhiwani	Haryani	india	State Bank of		6517670 3215	599238) 33717	127640	9434101 60	0	600

264	Renu	Renu	P	-		1.000			1	Patiala	E.		20		1		1
210			E	Bidolu	- CE	Teh Toshan	Bhiwan	i Haryana	India	State Bank of	STBP00 00819	2663	9747367 23705	127040	9334103 34	0	6000
265	Niket Rani	Niket Ranj	- F	Pajtusa	1	Teh Bawani	Bhiwani	i Haryana	India	Patiala State Bank of) 551551- 3841		127035	9434103 00	0	6000
266	Precti	Preeti	F	Dulehri		Khera	Bhiwani	Haryana	India	Patiala State	STBPOO	5515514	6907076	127040	9434103	0	6000
267	Sarla	Sarla	F	Tosham		Tosham			ł	Patiala	00819	5996	18581	ų.	61	A. 8.	
-				10shahi	ist. Nda it	Teh Tosham	Bhiwani	Haryana	India .		SBIN00 16566	2036464 3993	8654578 50191	127040	9434100 68	0	600
268	1000000	Pritam Rani	F	Nigana Khurd		Teh Tosham		Haryana	India	and the stars at		6517435 8872	9861597 52104	127040	9434100 63	0	600
269	Mamta	Mamta	F.	Bushan		Teh Tosham		Haryana	India 24 to		STBP00 00819	5515514 4936	3818738 40523	127043	9434101 22	0	600
270	Pinky	Pinky	F	VPO Jamalpur		Teh Bawani Khera		Haryana	India	State Bank of Patiala	STBP00 00819	5515514 5259	6147965 03945	127035	9434101 91	0	600
271	Mamta	Mamta		VPO Jamalpur		Teh Bawani Khera	Bhiwani	Haryana	India	State Bank of Patiala	STBP00 00819	5515515 1965	2577219 83144	127035	9434101 42	0	600
272	Anita Devi	Anita Devi	F	Sahlewal a		Tosham		Haryana	India	State Bank of Patiala	STBP00 00819	5515514 4743	7248128 45348	127043	9434100 97	0	600
273	Rekha	Rekha	F	Nigana Khurd		Tosham	Bhiwani		India	State Bank of Patiala	STBP00 00819	5515515 2211	7010669 88210	127040	9434101 57	0	600
274	Sonam	Sonam	F	Dhani mahu	ł.	Tosham	Bhiwani		India	State Bank of Patiala	STBP00 00819	5515514 9854	3304424 96161	127040	9434103 27	0	600
275	Pinky	Pinky	F	VPO amalpur		Bawani Khera	Bhiwani I	123	India	Bank of Patiala	00819	2131	92055		9434102 90	0	600
276	Anita	Aníta	Ĕ	VPO Sandwa		Teh Tosham	Shiwami I	inggana	India		STBP00 00819	5515514 4960	4262310 90030	27043	9434100 12	0	600

	Périole Devi	Devi	F	VPO Sandwa		Ten Tosham		Haryana	India	Stute Bank of Patiala	THEFT	6401	9268806 26955	127043	9434103 16	0	0000	
	Priyanka	Priyanka	F	Kirawar	5 1	Teh Tosham		Haryana	India	Paulaio	PUNBO	1 105300 7000580 08	6928790 37760	127035	9434101 78 -	0	6000	
279	Kavita	Kavita	F	Sahlewal a		Teh Tosham	Bhiwani	Haryana	India	State Bank of Patiala	STEP60 00819	551551-	3350254 77100	127042	9434101 00	Û	6000	
280	Santosh	Santosh	F	VPO Ratera		Teh Bawani Khera		Haryana	India	1		1	5900745 64629	127035	9434100 80	0	6000	
281	Ritu	Ritu	F	Alampur		Teh Tosham		Haryana	India	State Bank of Patiala		6521228 5131	76991 79 88081	127040	9434101 26	0	6000	
282	Pooja	Pooja	F	VPO Bhurtana		Teh Tosham		Haryana	India	State Bank of India		6511548 6565	6914265 96750	127035	9434101 28	0	6000	
283	Jyotî	Jyəti	F	Tosham	121	Teh Tosham	111000 CONTRACTOR 112-05	Haryana	India	State Bank of Patiala		6513734 7886	6524426 12388	127040	9434103 64	0	6000	
284	Usha Ranî	Usha Rani	F	Khanak		Teh Tosham		Haryana	India		PUNB06 50500	6505000 1000741 30		127040	9434102 77	0	6000	
285	Rekha kumari	Rekha kumari	F	Khanak		Teh Tosham	Sec. 0702267243	Haryana	India	Bank of Patiala	00819	270	77707		9434102 47	0	-6000	
286	Indu	Indu	F	VPO Kirawar		Teh Tosham		Haryana	India	State Bank of Patiala	STBP00 00819	6521870 0593	4538750 94188	127035	9434101 40	Ø	6000	
`87 	Priyank	a Priyanka	F	Khanak		Teh Tosham		Haryana	India	State Bank of Patiala	00819	5515514 5340	02391		9434102 29	0	6000	
288	Pooja Rani	Pooja Ranî	F	Kirawar	b)	Teh Tosham		Haryana	India	Bank of Patiala	00819	6521553 6579	71629		12	0	6000	
289	Sunita Rani	Sunita Rani	F	Bohal	VPO Jamalpur	Tructa		Haryana	India	State Bank of Patiala	00819	5515514 4878	49877		9434100 66	0	6000	
290	Mamta	Mamta	F	Bhatol		Teh	Bhiwani	Haryana	India	Sinte	STBP00	5515514	6252808	125033	9434102	0	6000	ŀ

17		Rani	Ranî		Rangran		Hansi					PTester (5161	00942		4.4	1	
_			Sushila	P.	Dadam		Teh Tosham	Bhiwani	Haryana	India	Patiala Sene Bank of Patiala	STBP00 00819	5515515 2288	2976893 28438	127040	9434101 80	a	6000
	92	Asha	Asha	F	Sahlewai a		Teh Tosham		Haryana	India		STBP00 00819	5515514 5678	9553667 17550	127043	9434300 40	0	6000
2'	293	Nectu	Neetu	F	Tosham		Teb Tosham		Haryana	India		STHP00 00819	6521636 3569	9785421 16115	127040	9436100 28	-0	6000
	294	Geeta	Geeta	F	Tosham	vien Vien	Teh Toshain		i Haryana	India		STBP00 00819	55)5515 749	9862247 64719	127040	9436100 81	0	6000
9	295	Pooja ~	Pooja	F	Kharkari Sohan		Teh Tosham		i Haryana	India	State Bank of Patiala	00819	0436	90913		07	0	6000
	296	Seema	Seema	F	VPO Bhurtana	1	Teh Tosham		i Haryana	India	Bank of Patiala	01123	3083	73526		9436100 18	0	-6000
200	297	Priyank	a Priyanka	·F	Tosham	45.0	Teh Tosham	1 - <u>-</u>	i Haryana	0	Bank of Patiala	00819	15515515 1943	76971		9436100 17	-0	6000
-	298	Kavita	Kavita	F	Tosham		Teh Tosham	1	i Haryana		Bank of Patiala	00819	4333	86672		9436100 06	0	6008
-	299	Minaksl i	ılı Minaksh i	F	VPO Bhurtana	1	Teh Tosham		i Haryana	India	Bank of Patiala	00819	5861	12711		9436100 84	0	600
ł	300		i Rasna va Meghwa	F	Tosham		Teh Tosham	1	i Haryana		Bank of Patiala	00819		336396	5	003	0	600
I	301	Pinky	/ Pinky	F	Tosham		Teh Tosham	a	i Haryana		Punjab National Bank	1 50500	1000743 16	84326		0 1058610 036	0	600
ł	302	2 Rajita	a Rajita	F	Dharan		Teh Tosham	n	u Haryana	B g	State Bank of Patiala	f 00819		63683	1	024	0	600
	303	3 Babit	ta Babita	F	Indiwali	1.4	Teh Tosham	U DE CASA MENTE	ii Haryana	India	Punjab Nationa	PUNB06 1 78600	6 6786000 1000495	3732628	120020	1058610 024	0	600

and the second	D			1			(T 7			Bank	4	44					
104	Pooja	Pooja	£.,	Dulatei		Teh osham		Haryama	India		In the second s second second seco	6517468 3653	8565132 23540	127040	058510	t)	6000
05	Sumitra		F	Khariya bəss	1 2 2 3 C	Tch `osham		Haryana	India	State Bank of India	SBIN00	3440473 3073	6436725 35712	1270012	1058910 048	0	6000
06	Priyanka	Priyanka	F	Dang Kalan		Teh 'osham		Haryana	India	State Bank of Patiala	00819	6520131 1890	2975369 60908	127111	1058610 014	0	6000
107	Preeti	Preeti	F	-VPO Dulheri	2	Tch 'oshafn		Haryana	India	State Bank of Patiala	STBP00 00819	5515514 5850	7118550 89098	127040	1058610 065	Û	6000
308	Bindu	Bindu	F	VPO Bhurtana		Teh Ìosham		Haryana	India	State Bank of Patiala	STBP00 00819	6511605 6413	71070		009	0	6000
309	Pooja	Pooja	F	Hansi	E 1237	Teh Hansi	Bhiwani	i Haryana	India		PUNE00 1 19700	1023139	25921	-	2219820 020	ō	6000
310	Naveen Kumari	ST 232	F	Garanpu ra kalan	3 E9.14	'Teh Tosham		i Haryana	India	State Bank of Patiala	f 00819	5514982 1872	2 6654256 85247	127040	1483320 003	0	6000
311	Mausam	Mausam	F	Nigana Kalan	I	Teh osham		i Haryana	India	State Bank of Patiala	STBP00 f 00819	6517477 6956	84019		012	0	6000
312	Monika	Monika	F	Dulehri		Teli 'osham	The second se	i Haryana	India	State Bank of Patiala	SB1N00 50819	0 6515586 1175	38236		014	0	600
313	Renu	Renu	F	Kharkari Sohan		Teh osham	and the second se	i Haryana	India	State Bank of Patiala	f STBP00 f 00819		08027		0 2219820 019	0	600
314	Priyanka	i Priyanka	F	Kirawar		Teh osham	the second se	i Haryana	India	State Bank of Patiala	f 00819		08771		5 2219820 017		600
315	Ponam	Ponam	F	Bhiwani		Teh hiwani	1. mark 1.	i Haryana	India	Punjab Nationa Bank	al 05300	97	6 44380		034		60
316	Pushpa Devi	Pushpa Devi	F	Tosham		Teh ʻosham	C	i Faryana	India	State Bank of Patiala	of 00819		6 601233: 78556	127040	0 1483320 004	0	60

5			1				Bhiwam	Harvers	India	T							
51	Nisha	Nisha						Haryana				1					
0		Priyanka	ф. 1	Paposa	: =	Teh Bawani Khora	Bhiwani	Haryman		Sarva Haryana Gramin Bank	PUNB9 HGB001	8017190 0035709	823655? 74511	127035	÷ 157		
21		- 1	1	Sungarp ur		Tch Tosham	Bhiwani	Haryana	India		PUNE05 78600	6736001 5000128 71	997\$587 06964	127029	2094620 290	0	600a
	Rohish Berwal	Rohish Berwal	F	Dang Kalan		Teh Tosham	Bhiwani	Haryana	India	State Bank of	SBIN00 16566	3694535 8411	6074366 13012	127111	2094620 082	.0	6000
22	Anita	Anîta	F	Jamalpur		Teh Bawani Khera	Bhiwani	Haryana	India	India State Bank of Patiala	STBP00 01123	6526433 9981	7396102 46712	127035	2203520 028	0	6000
23			F	Dariyap ur				Haryana	India	and the second second second	STBP00 00819	5515515 2200	4420680 81918	127040	9434101 24	0	6000
24	Poonam	Poonam	F.	Nigana Khurd		Teh Tosham	Bhiwani	Haryana	India		STBP00 00819	551551 43193	2002193 85110	127040	1058910 020		6000

2018-19

	of Print: 04092019 3:10:50 PM	和外国	UNA NEW D	IIII BUID	AMARAIA					11111	11 11			1
010			Annexuro	LA TREF REA VISE IN	A DIN CANTAN	18	-	10000	the second s	Incom	1			
1	Name of Claimant/ Particular of Sub Voucher	UCP	Not Amount	DDO BT Amount	Sanction		Sauction Date	lean	PULK <i>U</i>	Tai	GS			
-	MANJU1 2094620278-	PLOHISM	2000			1+		-		+	0	0		
110	ANJU11-	PKOHSN	2000					1		+	10	0		
-	TANNU JSY2018-	OPOHM2	2000			-		1			D	0		
_	POOJA1-	PJ01150	2000	>			-				0	D.		
5	PAYAL1-	PROHSP	2000		-			1			0	0		
6	MONIKA-	LCAHSK	2000			-					0	0		
7	SEEMA SC BTH-	4KOHOY	200			+			-		U.	0		
8	PARMILA-	GEOF55	200	-	-		-				q	0		
9	KAVITA-	PQ0H5Q	200		-	-					0			
10	SANTOSHRANI-	PPOHSR	200		4	1				5	0	· · · · · · · · · · · · · · · · · · ·		
11	LAXMI-	VDATB5	200	0		•1					0		3	
12	MONIKA SC 10TH-	4M0HON	200			•					.9		0	
13	ANITA GGMS RATERA 9THSC-	AB0GD4	200					1			Q		¢.	
	SEEMARANI GGMS RATERA 9THSC-	AI0GDO	200			5					0		6	
-	SHAMMIRANI-	PO0H5S	20		-						9		0	
-	MAMTA-	HBAHCW	20							-	0		0	
17	JYOTI-	GGAHYO	20	_		-setta					0	1	0	
1	SHINU1-	PNOHST	20		2						0		8	
-	RITU SC 8TH-	4Q0HP0		000							Ţ	2	0	
	RITURANI GGMS RATERA 9THSC-	ADOGCU	1-	000	-							1	Ē.	
	MONIKA-	1FAH8C		000								0	10	
_	REKHA-	HBAKIS		000		_						0	Č.	
-	MONIKA 12CSC-	GB0HR1		000								0	0	
24	MONIKA-	PMOHSU		000								0	Q.	
22	SAJJANA-	PL0H5V		000					1			0	C	
	ASHA RANI-	VEAS16	1	000								D	0	
27	NITU11-	PKOHSW		2000		-						0	2	
28	JYOTIDEVI-	PJ0H5X		2000		_		LATING BUILD				01	0	
25	KIRANKUMARI-	PROHSY		2000							-	0	0	
30	RITU SC STH-	4JOHP7		2000				0,775			+			
31	POQJA-	CCATVW		2000		-					+	0		
32	BHATRI GGMS RATERA BTHS	C- ACOGCV		2000				-	-		-			
33	MANJU-	4F0GEN		2000		-			1		4	- 0	0	
34	PINKI1-	PO0H60		2000		_	-					D.	0	
35	MAMTA1-	PN0H61		2000								0	Q	
36	TANU BALA-	5D0HB8		2000		_						0	. 0	
-	ANJU-	NBAUBW		2000		-		-	1	1.1 C	-	0	0	
	I SANJU-	RAAHHS		2000	_							0	2	
-	KAVITA SC X-	2B0FH0		2000						44 B 15		0	Ģ	
22	ANJURANI-	PM0H62		2000					-			5	0	
	SUSHILA GGMS RATERA	AD0GD2		2000					1			0		
	9THSC-	PLOH63		2000	=							0	2	
	SAVITA SC 10TH-	210FHB		2000							1	10	0	
	URMILA KANVAL-	UDASTE	,	2000			-					1	0	
				2000							-	0	ō	
	5 MITU-	CEATUN											0	
4	SONUDEVI-	PKOHEA		2000					-			3	0	

Ch. Bansi Lat G.C.W. Tosham

	48 MANISHA.	12,30405		Mantif Manual and Albana	
	19 ANJU SC STH	SACTIO			
٢.	19 ANJU 30 CONT	PROTES	\$26520		
	SO ANJUTT-	P120407	2000		α
	51 PRIVANKA- 52 ANNU11-	P1201167 PP01160	2,000		4
	52 ANNUTI-	POSH69	2000		0
	54 KIRANKUMARI-	FROMSY	2000		0
1.20	5 REENURANI GGMS RATERA	AFROMSY	2000		0
-	PTHSC-				0
	6 MONIKA-	1EA) (0)	2000		0
-	7 MEENAKSHI-	PNORA	2000		5
-	s POOJAI-	FM0H6B	2000		0
-	9 REENARANI-	PLOHEC	2000		0
-	SEEMA DEVI-	HACCES	2000		Ô.
	1 FOONAM-	PKOH6D	2000		0
	RAMITA1-	PJOH6E	2000		0
	DARSHANA	FROHOF	2000		0
	JAGATRANI-	FOOHEG	2000		0
_	POONAM-	PK0H5D	2000		9
	DIKSHA-	PP0H6H	2000		8
	INDUBALA-	PO2HGI	2000		0
-	NEELAM IX SC-	7E0HTW	2008		0
	POOJA1-	PMOHSE	2000		Q
-	SAROJ1-	PNOHEJ	2000		0
-	PRJTY1-	PMOHEK	2000		U
72	POONAM-	PLOH6L	2000		D
73	RAMTA DEVI-	200HEH	2000		0
74	DEEPIKA-	PKOHEM	2000		0
75	NEELAM-	PJOHEN	2000		0
78	SUJATA-	6A4WWF	2050		0
77	SAPNA1.	PROHEO	2000		0
78	SANGITA SC X-	2G0FGW	2009		0
	SHEELADEVI-	PQ0H5P	2000		
80	MANISHADEVI-	PPOHEQ	2000		0
-	MANISHA.	POOHER	2000		0
2	-10ULAA	PNOHES	2000		0
-	UTU11-	PMOHET	2000		0
-	ASEEB.	PLOHEU	2000		0
-	ISHA1-	PLOHOU	2000		0
	AKHI1-				3
1	RIYANKA.	PJ0H6W	2000		0
+		AIA251	2000		0
+	ALOC	UDA42M	2000		0
1	IAMIKA-	PROHEX	- 2000		0
-	WTA1-	PODHEY	2000		
NE	ELAM 10 SC-	BOOFOH	2000		
RA	КНЛ-	PN0H70	2000	_	8
RA	CHNA GGMS RATERA 9THSC	AAOGCX	2000		
ASI		CCAG4I	2000		2
	ETI.	PMOH71	2000		0
					(I
	CHANCHITRA	PLOH72	2000		0
2811		9D0HGH	2000		0
IEE	NA-	TEAHHT 30	2000	A STREET	C
ITU	11-	PK0H73	2000	A TRACK AND A DESCRIPTION OF A DESCRIPTI	0





LeHA-	HHARIOP I		
PRIVANKA-	P30474	2000	
NAVITA-	6.510/103		
HIMANI	UTATON	2006	
SEEMA RANI-	UNASTO	2000	
REENAI-	PROHITS	2000	
MEENA KUMARI-	N00174,	2000	
NOTI-	GROHAK	2000	0
LAXMI-	10(30)402	2000	0
KAVITA	MGORY 1	2000	
PUSHPA-	NDOH4X	2000	4
MONIKA-	GIOHIVO	2000	
RITU RANI-	NAOH6P	2000	
MANJU X A-	2N0HUI	2000	
ANITA KUMARI-	NC0H6W	2000	9
FOOJA-	DH9SNR	2000	0
MUKESH-	6B0HDG	2000	0
SONI RANI-	IFOHLJ	2000	
JYOTI-	JE0HV9	2000	2
TYOTI-	MBOHA3	2000	5
MANISHA-	NI0H59	2000	0
VARSHA-	EBA4E1	2000	0
SANGITA-	MG0H8R	2000	0
BIRMATI-	NB0H5G	2000	0
HEMANT KUMAP	4A0H50	2000	0
CHARANJEET K	AUR- 3HOGVN	2000	0
SOHANI XI A RA	NI- 200HVY	2000	
MONIKA-	NC0H74	2000	
SUMAN-	NHOHER	2000	0
MONURANI-	NNOHAQ	2000	0
SANGITA-	DG0H80	2000	
NAMRATA-	PQ0H76	2000	
RAMBHATERI-	NGOHAO	2000	0
MANISHA-	EGA8D2	2000	0
REETU RANI-	ND0H7U	2000	0
NISHA-	GIOHKK	2000	0
REKHA RANI-	NE0H7T	2000	
REKHA PANI-	NFOH6T	2000	0
RITU RANI-	7CA9NT	2000	0
RAJESH KUMAR	I- NB0H57	2000	
NEHA11-	PP0H77	2000	
MANISHARANI-	P00H78	2000	
RINKI-	IAA93D	2000	
SEEMA DEVI-	NAOH58	2000	
	NH0H5J	2000	0
USHA RANI-	NG0H7R	2000	
RINKU KUMARI-	NH0H7Q	2000	
SUSHILA-		2000	
MAMTA RANI-	NIOH5I	2000	
SONIA-	NE0H4W		
PRIYA-	2G0HM6	2000	
SAVITA-	NICHEQ	2000	and the second se
NISHA-	DF0HB1	2000	

5

Sumila Principal Ch. Bansi Let G.C.W.

時代にいたのためのなどのなどのなどのないない

KAWALJEET.	мнон7н		1:01	i na mana a	mar marine	al 0
VEENA 10TH SD.	BDOH2T	2000				0 0
NOTI-	160776	2000				0 0
KRISHMA-	NEOH5C	5060.				Q G
SAPNA-		2009				0 0
SONIA	NOGHAP	2000				0 0
ASHU RANI-	1HA428	2000				0 0
MONIKA-	NDOHEV	2000				0 0
PRIVANKA	INA0H7X	2000				0 0
1 POONAM DEVI-	3F0HY3	2000				0 0
2 DEEPA.	NGOHSB	2000				
	4C0H4H	2000				
BALA RANI-	NB0H75	2000	-			
4 BHATERI-	4D0H4P	2000				0 0
85 PRIYANKA-	NBOHEX	2000				0 0
66 SEEMA RANI-	NF0H7S	2000				0 0
67 BABITA-	3IDHXJ	2000				0 0
ISB SANJU-	6A0H5Y	2000	5 S S S S S S			0 0
169 POOJA RANI-	NE0H6U	2000				0 0
170 NEELAM-	AFA0C7 BLOGE4	2000				0 0
171 SONIKA-	NG0H70	2000				0 0
172 PREETI RANI-	GOCH90	2000			-	0 0
173 NEERU-	1C0FXT	2000				0 0
174 POOJA-	NA3H5H	2000				0 0
175 PREETI-	NGOH71	2000				0 0
176 RITU-	NGDH5K	2000				0 0
178 DEEKSHA	NCOHSE	2009	-			0 0
179 REEMA KUMARI-	NGOHES	2000				0 0
180 NIRMLA-	1G0FVR	2000			1	0 0
181 PREETI-	NDJHSE	2000			1	0 0
182 MOHINI-	PN0H79	2000			1	0 0
183 MAMTA-	NEOH7J	2000				0 0
154 POONAM-	AAAZHE	2000			a li den esterne sectori. I	0 0
185 SEEMA-	860G1V	2000			-	0
186 PODNAM-	DBOHOP	2000				0
187 RENU-	PGA2HT	2000				0
108 NEHA-	NICH7G	2000				
189 PUSHPA	NF0H7A	2000				0
190 REKHA RANI	EAASIL	2000				0
191 PARVEEN-	NOOH9X	2000				0
192 ANNU BALA	HEA87G	2000				0
193 AARTII-	NC0H7D	2000				0
	NACH7F	• 2000				Ū
194 KOMAL-	ND0H7C	2000				0
195 MUKESH	NMOHA0	2000			(100) (100) (100)	0
196 SAVINA-		2000				0
197 REETUELEVENSC-	JHOEDG	2000				G
198 PRIYANKA-	682SUF					the second s
199 DEEPIKA-	EBABFW	2000				0
200 PUNIT SC IX-	4KOHTB	2000			and have	
DI POOLAA-	NB2H7E	2000				0
02 DEEPIKA-	EEABIH	2000				0
03 ANU 11050-	1HOHYM	2000				Ó

Bansi Lal G.C.W.

þ

Tr. Bill No. 52000823-20.00 to bios

			TT. MILINE D2000823-2010 to 0105
KIRAN-	NEOH7B		THE REPORT OF THE PARTY OF THE REPORT OF THE PARTY OF T
5 RITU LANGYAN-	204909	2000	
S KAVITA-	LOPHAN	2000	
7 SEEMA-	LEOHUP	2000	
S NEHA-	MEDHOR	2000	
9 SHARMILA KUMARI-	LBOHWO	2000	
RAMBHATERI-	MG0H9Q	2000	0 6
USHA-	мнонар	2000	
2 Peeja-	L101-087	2000	
3 PRIYANKA RANI-	LHOHVM	2000	
POOJA1-	PK0H7L	2000	
F KOMAL-	LIOHWB	2000	
REENA-	LCOHV9	2000	
MEENA KUMARI-	ME0HY3	2000	the second se
KOMAL-	MH0H9G	2000	the second
JYOTI-	LIOHUM	2000	0 0
BABALI-	LEOHVP	2000	0 1
MONIKA-	LF0HVO	2000	0 0
KIRAN-	LBOHVA	2000	0 0
SHEETAL-	LIOHVU	2000	0 0
MONIKA-	LB0HV1	2000	0 0
PUJA BAI-	LD0HW7	2000	0 0
PREETI-	MEOH9A	2000	0 0
SUMITRA-	PJ0H7M	2000	0 0
POOJA-	MD0H9T	2000	0 0
SUDESH-	LCOHVO	2000	
PARVEEN KUMARI-	ICOHDU	2000	
SUMITRA-	LBOHVS	2000	
NANKI-	ME0H9J	2000	
OOJARANI-	PROH7N	2000	the second s
POONAM-	PP0H7P	2000	
ARSA-	MB0H9D	2000	0 0
SANGA-	EHA436	2000	
ARTI-	LF0HW5	2000	
RIYANKA-	LGOHUG	2000	0 0
AM DEVI-	LHOHVV	2000	
DOJA KUMARI-	LB0HW9	2000	0 0
AVITA-	LGOHXC		0 0
SHA-		2000	0 0
AYAVATI-	MC0H9U	2000	0 0
	LI0HW2	2000	0 0
SHMA-	LEOHVG	2000	0 0
MAN-	LF0HX4	2000	0 0
245	. Grand Total	490000	0

= Su G Prine Val